Cliffs

G R

=

Preparation Guide

Graduate Record Examination—General Test

Jerry Bobrow, Ph.D. * Peter Z Orton, M.Ed.
William A. Covino, Ph.D.

Analysis of all sections

* Verbal Ability
¢ Quantitative Ability
¢ Analytical Ability

Three full-length practice tests
In-depth answer explanations and solutions

Scoring and analysis charts



CLIFFS

Graduate Record
Examination
General Test

PREPARATION GUIDE

by
Jerry Bobrow, Ph.D.
Peter Z Orton, M.Ed.
William A. Covino, Ph.D.

Contributing Authors
Bernard V. Zandy, M.A.
David A. Kay, M.S.
Howard Horwitz, M.A.

JciﬁSKNﬁtﬁ;

llllllllllll

LINCOLN, NEBRASKA 68501



ACKNOWLEDGMENTS

We would like to thank Cliffs Notes editor Michele Spence for her
meticulous editing of the manuscript and her relentless determination in
working all the problems.

We would also like to extend our sincere appreciation to the following
authors and publications for permission to use excerpts from their
writings:

Dr. Albert Upton for the use of excerpts from his outstanding book
Design for Thinking.

“Sharks” by Sy Montgomery, Los Angeles Times, February 23, 1991,
p. B-3.

“Opinions and Social Pressure,” Scientific American, New York,
November 1955.

The Cliffs Notes logo, the names “Cliffs” and “Cliffs Notes,” and the black and
yellow diagonal-stripe cover design are all registered trademarks belonging to Cliffs
Notes, Inc., and may not be used in whole or in part without written permission.

ISBN 0-8220-2064-5
FOURTH EDITION
© Copyright 1992 by Cliffs Notes, Inc.
Previous editions © Copyright 1986, 1982, 1980 by Cliffs Notes, Inc.

All Rights Reserved
Printed in U.S.A.



CONTENTS

PIEfACE . ...iiceiectieeceereneeeraere ettt ettt s eab e e et e e et vi
| |
Study Guide Checklist ......cceveevieiroeiieiireenirieeereerereeesenteseeceens vil |
| y

PART I: INTRODUCTION

[ FORMAT OF A RECENT GRE GENERAL TEST .....covenerrrenreenneen. 3]
[ GENERAL DESCRIPTION .....covecveeevereeeeeceereecesrceereseessnseseens 5]
[ QuEsTIONS COMMONLY ASKED ABOUT THE GRE.........cco........ 6|

[ TAKING THE GRE: TWO SUCCESSFUL OVERALL APPROACHES .. 9|

PART IlI: ANALYSIS OF EXAM AREAS

[ INTRODUCTION TO VERBAL ABILITY ........ovveererenrrenrrreerrsrceaeen. 13|
Ability Tested « Basic Skills Necessary
Directions ¢ Analysis
Suggested Approach with Samples

eading COmMPrenensIon ......ccovviuieecniincniiniiininrinciiisiecnaacnens 6
Common Prefixes, Suffixes, and ROOtS........cccevevreerveerrvrrinnenne 33
[ INTRODUCTION TO QUANTITATIVE ABILITY ....coorvrrereenrsenrenreneens 35|

Ability Tested e+ Basic Skills Necessary
Directions < Analysis
Suggested Approach with Samples

Quantitative COMPATISOM ........cc.eeeereereerrveeerereeeresseraeseosenses 35

Math ADIIEY ..occiiiiiceiiceisiccesssirseseassresssssssscnsisssssnsssnssssssnnes 42

Important Symbols, Terminology, Formulas, and General
Mathematical Information........c.eoveseivsuiinnrisecesniransisnesaacsane 56




iv CONTENTS

Common Math Symbols and Terms .........o.oooooieiieiiininnnns 56
Math FOrmulas.....cooeeeereriiiieniinriieieinineeiineninieniienceeeneniiinnne 56
[Important EQUIVAIENTS ..........c..coooeereresieissesmsssnsnessissssesssssse: 57
MEASUTES ..cvieieiiniceeniiiiirinee ettt eesr et raeneas 58
Problem-Solving Words and Phrases.........c.ccuvereeeenen........ 59
Geometry Terms and Basic Information ............ccucu.n........... 59

[ INTRODUCTION TO ANALYTICAL ABILITY ......oonrevrmneesrenoresenencnene 63 |

Ability Tested » Basic Skills Necessary
Directions ¢ Analysis
Suggested Approach with Samples
Analytical REaSONING ........ceeereeererrererreeeeeccrarrerseeeceressseeeens 63
Logical Reasoning...........ooecevevvivviiceniicniiiiiieneenecnniinenns 71

PART lll: PRACTICE-REVIEW-ANALYZE-PRACTICE
THREE FULL-LENGTH PRACTICE TESTS

PRrACTICE TEST 1

Answer Sheet for Practice Test 1 .........cceevveeenveeeeeveeeannnenne. 81
Section I: Verbal ABIHEY ......ooiiiiieeiieeiieieieeeesireeieneesneeesseesans 85
Section II: Quantitative ADILLY ....cocvereeercereeruraeerseecreessinasenes 95
Section III: Analytical Ability.......cooveveevveveeereeicrvrreeenieeneene 102
Section IV: Quantitative Ability...........cccoereeevorreroenvecvervrneens. 113
Section V: Verbal Ability.........ccccevreverircerniiccnrecerscneeseenerenns 120
Section VI: Analytical ADIlity........ccccovvevuirevremirreosreorerseeonsens 130

ection VII: Quantitative ABIlIY .....cco.ooooovverirerei e, 140
Scoring Practice Test 1........ccoocvviereiiinesseeiseecaisnsessessssssasasnases 148

COMPLETE ANSWERS AND EXPLANATIONS FOR PRACTICE TEST 1
Section I: Verbal AbIIY ......cooeveiiieiiniieiiieiineiierisseesssnsesssaeas 157
Section II: Quantitative Aty ....eorveerereeareenuersnereeresessanerense 161
Section I11: Analytical ABIlity......c.ccoooooveevereveneeersnerseeeeees 168]
Section IV: Quantitative AbIlity.........ocoverevvveevcveicnnnrininans 174
Section V: Verbal Ability.........c.ccceceveecinvinrinsirecrccnvensunecnnsinne 181
Section VI: Analytical Ability.......ccoceereevveereacrrereeerereneceennens 185
Section VII: Quantitative ADIILY ........cccocereveerereecrverernrerneneene 192
PRACTICE TEST 2

Answer Sheet for Practice Test 2 ........ccceeeeecrvverinirerceernennres 201
Section I: Quantitative Ability...........ccceeveeveveereeeeevererrerennnes 205
Section I1: Verbal Ability......cccoueecieiiieieieereeicineisnrersneessannanns 214




CONTENTS v
Section III: Analytical Ability........cccccecvevvrervenceeviereecracvecennen 225
Section IV: Verbal Ability .........oveeeeenveeveeeeeevveereeenee, 235
Section V: Quantitative ABIIty .............ccoooereveveerererererennnns
Section VI: Analytical ABIitY......cocoveeiereeeiecveireecccnee 252
Section VII: Quantitative Ability .........ccoceeeecivvvvvvmnvereencrncnnne 261
Scoring Practice Test 2......cvvvueeireeereeeeeeeierieeeerenereesvenranencenns 269
COMPLETE ANSWERS AND EXPLANATIONS FOR PRACTICE TEST 2
Section I: Quantitative Ability......c.cccvccereeveerrerrvvrccrenenncne 279
Section II: Verbal Ability..........cccoiiveierirceniiiicinniriccrcnine 286
Section II1: Analytical Ability.......cccevvevreevevreevereereereanranene. 290
Section IV: Verbal Ability ......cccccoveeorvvrricnverveoineererireanesseeanas 293
Section V: Quantitative Ability .........ccccveeroeeiniecerriicerrennnnnne. 297
Section VI: Analytical AbIILY.........ccoceeeuereereerrreesereeeenrervenanne 304
Section VII: Quantitative Ability ..........ccecueeeeveerecrenvenancen.. 309
PRACTICE TEST 3
Answer Sheet for Practice Test 3 ........cccoeveeeveecrevererceccennennee. 317
Section I: Verbal Ability ...........ccovrevevvmniiirnncncnciieniiinnens 321
Section II: Analytical ADIILY ......ceeceveevvecrveeerireeetieaenannee. 332
Section III: Quantitative AbIHtY......cocvevveeeeeeviereeesrrrcrenneereanne 342
Section IV: Quantitative Ability..........cccccvvueereecrrveererrannnnnee.. 349
Section V: Verbal Ability........coovoeevevoeeveeererreeaeerrecneneeaeraenne 357
Section VI: Analytical ADIlity..........c.cceeuveevurerereerrveereverseveenns 367
Section VII: Quantitative ADIItY ........ccoveeeeveervreerrvrervrerienenns 377
Scoring Practice Test 3.....c..cccereeericiniiiiesceieiineecsenoeninecacanen 386
COMPLETE ANSWERS AND EXPLANATIONS FOR PRACTICE TEST 3
Section I: Verbal ABility ........cccoovrieenvrveeinironeniceecnrierenesnanens 395
Section II: Analytical ADIlILY ..........eceuveeeveeicreeesrreereerurrenveens 399
Section HI: Quantitative Ability......cc.occeevevvvvveveneicennnne... 404
Section IV: Quantitative Ability.......cccoeoevveenrveeieeoneereenecnrenene 410
Section V: Verbal Ability.......cccccvceevueeiimrueieeerncereeennicroneneecnnee 420
Section VI: Analytical Ability..........cccoeereuieieeiscncciccecersancenee. 424
Section VII: Quantitative ADIltY .......cccoeceuvereerreerssrennsesesssens 431
[ Final Preparation: “The Final Touches”...............o.u........... 440|




PREFACE

YoUR GRE SCORES MAKE THE DIFFERENCE! And better scores
result from thorough preparation. Therefore, your study time must
be used most effectively. You need the most comprehensive test
preparation guide that you can realistically complete in a reason-
able time. It must be thorough, direct, precise, and easy to use,
giving you all the information you need to do your best on the GRE.

In keeping with the fine tradition of Cliffs Notes, this guide was
developed by leading experts in the field of test preparation as part
of a series to specifically meet these standards. The testing strate-
gies, techniques, and materials have been researched, tested, and
evaluated, and are presently used at GRE preparation programs at
many leading colleges and universities. This guide features the
PATTERNED PLAN OF ATTACK for each section and focuses on six
major areas:

. The Ability Tested

The Basic Skills Necessary
Understanding Directions

Analysis of Directions

Suggested Approaches with Samples
Practice-Review-Analyze-Practice

S A WN

These major areas include important mathematical symbols, termi-
nology, and formulas, and a helpful list of prefixes, suffixes, and
roots. Three complete practice exams follow with answers and
in-depth explanations.

This guide was written to give you the edge in doing your best by
maximizing your effort in the minimum amount of time. If you take
the time to follow the Study Guide Checklist in this book, you will
get the best preparation possible.

vi
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STUDY GUIDE CHECKLIST

. Read the GRE Information Bulletin.
. Become familiar with the Test Format, page 3.
. Familiarize yourself with the answers to Questions Com-

monly Asked about the GRE, page 6.

. Learn the techniques of Two Successful Overall Ap-

proaches, page 9.

. Carefully read Part II, Analysis of Exam Areas, beginning

on page 13.

. Review math Symbols, Terminology, Formulas, and Gen-

eral Information, page 56.

. Strictly observing time allotments, take Practice Test 1,

section by section (review answers after each section),
page 81.

. Check your answers and analyze your results, page 148.
. Fill out the Tally Sheet for Problems Missed to pinpoint

your mistakes, page 154.
While referring to each item of Practice Test 1, study ALL
the Answers and Explanations that begin on page 157.

. Review as necessary Basic Skills, Symbols, Terminology,

Formulas, and General Information given in Part II of this
book.

Strictly observing time allotments, take Practice Test 2,
page 201.

. Check your answers and analyze your results, page 269.
. Fill out the Tally Sheet for Problems Missed to pinpoint

your mistakes, page 275.

. While referring to each item of Practice Test 2, study ALL

the Answers and Explanations that begin on page 279.

. Again, selectively review materials as needed.
. Carefully reread Part II, Analysis of Exam Areas, begin-

ning on page 13.

vii



viii STUDY GUIDE CHECKLIST

— 18. Strictly observing time allotments, take Practice Test 3,
page 317.

—— 19. Check your answers and analyze your results, page 386.

—_ 20. Fill out the Tally Sheet for Problems Missed to pinpoint
your mistakes, page 392.

— . 21. While referring to each item of Practice Test 3, study ALL
the Answers and Explanations that begin on page 395.

___ 22. Again, selectively review materials as needed.

___ 23. Goover “FINAL PREPARATION” on page 440.
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FORMAT OF A RECENT GRE GENERAL TEST

Section I Verbal Ability 3540 Questions
30 Minutes Sentence Completion 6-8 Questions
Analogies 8-10 Questions
Reading Comprehension
(2 passages) 10-12 Questions
Antonyms 10-12 Questions
Section II Quantitative Ability Approximately 30 Questions
30 Minutes Quantitative Comparison 15 Questions
Math Ability (with graphs) 15 Questions
Section HI Analytical Ability Approximately 25 Questions
30 Minutes Analytical Reasoning 19 Questions
Logical Reasoning 6 Questions
Section IV Verbal Ability 35-40 Questions
30 Minutes Sentence Completion 6-8 Questions
Analogies 8-10 Questions
Reading Comprehension
(2 passages) 10-12 Questions
Antonyms 10-12 Questions
Section V Quantitative Ability Approximately 30 Questions
30 Minutes Quantitative Comparison 15 Questions
Math Ability (with graphs) 15 Questions
Section VI Analytical Ability Approximately 25 Questions
30 Minutes Analytical Reasoning 19 Questions
Logical Reasoning 6 Questions
Section VII Either Verbal, Quantitative, Approximately
30 Minutes Analytical, or Experimental 30 Questions

NOTE: The order in which the sections appear and the number of questions in
each section may vary because there are several forms of the GRE. The actual
test will contain a seventh section of experimental questions; this section may ap-
pear at any point in the test.



4 INTRODUCTION
THE EXPERIMENTAL OR “PRETEST” SECTION

You should be aware that one of the seven sections on your GRE
will be experimental. Your performance on this entire section will
have no effect on your score. Your answers are being used by the
testing company to pretest possible questions for future exams.

Typically the experimental section on a GRE will be a third
section of either quantitative, verbal, or analytical ability. You know
that two sections of each of these will be totaled to provide you with
three scores, from 200 to 800. If you encounter, say, three verbal
sections, then you can be sure that one of those sections is
experimental and does not count in figuring your 200-800 score.
However, you will not know whether it is the first, second, or third
verbal. The experimental section could be any of the three.

On occasion, the testing company develops a new problem type,
unlike any of the questions appearing on the three typical test
sections. Recently, the new, experimental question types consisted
of number patterns or “analysis of explanations” question types
explained in the directions but otherwise completely unfamiliar to
the test taker.

Should you encounter a GRE section with question types that
appear unusual or unlike any you have encountered in your
preparation or mentioned in the official GRE Bulletin, chances are
that that complete section is experimental. However, you should
still try your best and keep your momentum going so you won’t have
to gear back up for the next section that will count toward your
score.



GENERAL DESCRIPTION

The GRE General Test is used along with other information
about your college achievements in order to assess your potential
for success in graduate school. The test lasts approximately three
and a half hours and consists entirely of multiple-choice questions.

The verbal section tests your reading comprehension and the
breadth of your vocabulary. The quantitative section presents
problems in arithmetic, algebra, and geometry. The analytical
section tests your ability to read closely and reason logically from
given information. All questions have the same point value.
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QUESTIONS COMMONLY ASKED
ABOUT THE GRE

: WHO ADMINISTERS THE GRE?

The GRE is administered by Educational Testing Service
(ETS), which is located in Princeton, New Jersey. If you wish
any information not covered in this book, write to ETS at Box
1502 Berkeley, California 94701 or at Box 955, Princeton, New
Jersey 08540.

: CAN 1 TAKE THE GRE MORE THAN ONCE?
: Yes. But be aware that your scores from each testing will appear

on your score report. Therefore, even when you take the test for
“practice,” the results can have a real impact on your record.

: WHAT MATERIALS MAY 1 BRING TO THE GRE?

Bring your registration form, positive identification, a watch,
three or four sharpened Number 2 pencils, and a good eraser.
You may not bring scratch paper, calculators, or books. You
may do your figuring in the space provided in the test booklet.

. IF NECESSARY, MAY 1 CANCEL MY SCORE?
: Yes. You may cancel your score on the day of the test by telling

the test center supervisor, or you may write or telegraph ETS;
your cancellation request must reach ETS within four days of
the test date. Your GRE score report will note that you have
canceled a score.

: SHOULD 1 GUESS ON THE GRE?
: Yes! There is no penalty for guessing on the GRE. Before

taking a wild guess, remember that eliminating one or more of
the choices increases your chances of choosing the right answer.

: How SHOULD I PREPARE FOR THE GRE?
: Understanding and practicing test-taking strategies will help a

great deal, especially on the verbal and analytical sections.
Subject-matter review is particularly useful for the math section.
Both subject matter and strategies are fully covered in this book.
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INTRODUCTION 7

: WHEN IS THE GRE ADMINISTERED?
: The GRE is administered nationwide five times during the

school year, in October, December, February, April, and June,
on Saturdays. The General Test is given in the morning, and the
Advanced Tests are given in the afternoon There are special
summer administrations, given in limited locations, in July,
August, and September. Check with your regional testing office
for other special administrations.

: WHERE IS THE GRE ADMINISTERED?
: The GRE is administered at hundreds of schools and colleges in

and out of the United States. A list of testing centers is included
in the GRE information bulletin published by ETS. The testing
or placement office at your college or university should have
information about local administrations.

: How AND WHEN SHOULD 1 REGISTER?
: A registration packet, complete with return envelope, is at-

tached to the GRE information bulletin published by ETS.
Mailing in the forms provided, plus the appropriate fees,
completes the registration process. You should register about
six weeks prior to the exam date.

: IS WALK-IN REGISTRATION PROVIDED?
: Yes, on a limited basis. If you are unable to meet regular

registration deadlines, you may attempt to register on the day of
the test (an additional fee is required). You will be admitted
only if space remains after preregistered students have been
seated.

: WHAT IS THE DIFFERENCE BETWEEN THE GENERAL TEST AND THE

ADVANCED TEST?

A: Your general scholastic ability is measured by the General Test;

the questions on this section presume a broad, general college
background. The Advanced Test deals with specific subject
matter corresponding to your specific graduate study; the
questions measure your undergraduate knowledge of the disci-
pline you wish to pursue in graduate school.
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SHOULD I PREPARE DIFFERENTLY FOR THE ADVANCED TEST THAN
FOR THE GENERAL TEST?

The test-taking strategies which help on the General Test will
also help on the Advanced Test because it too consists entirely
of multiple-choice questions. A short sample Advanced Test is
sent to Advanced Test registrants by ETS; its questions are the
most reliable indication of the level and range of questions you
can expect. A general review of the material covered by the
courses in your undergraduate major will be helpful insofar as it
refreshes your memory of key facts, concepts, and personalities.
Constructing multiple-choice questions of your own, based on
what you have learned, is an ideal way to prepare.

: WHAT ARE THE SECTIONS OF THE GRE?

The GRE is composed of seven sections, each 30 minutes in
length: two sections of Verbal Ability (35-40 questions each
section), two sections of Quantitative Ability (Quantitative
Comparison/Math Ability, 30 questions each section), two
sections of Analytical Ability (Analytical Reasoning/Logical
Reasoning, 25 questions each section), and one section that is
experimental.

Q: HOw WILL COLLEGES USE MY SCORE ON THE ANALYTICAL SEC-

TION?

A: The use of this section varies from college to college. Many

colleges still discount the analytical score and emphasize the
verbal and quantitative scores, simply because the analytical
section is relatively new. For some schools, the analytical score
is considered quite seriously; for others, it is used to substitute
for possible weaknesses in your verbal or quantitative scores.
Consult the graduate school to which you are applying to find
out precisely how they consider your analytical score.



TAKING THE GRE
TWO SUCCESSFUL OVERALL APPROACHES

The “Plus-Minus” System

Many who take the GRE don’t get their best possible score
because they spend too much time on difficult questions, leaving
insufficient time to answer the easy questions. Don’t let this happen
to you. Since every question within each section is worth the same
amount, use the following system.

1. Answer easy questions immediately.

2. When you come to a question that seems “impossible” to
answer, mark a large minus sign (“—") next to it on your test
booklet.

3. Then mark a “guess” answer on your answer sheet and move on
to the next question.

4. When you come to a question that seems solvable but appears
too time consuming, mark a large plus sign (“+’) next to that
question in your test booklet and register a guess answer on
your answer sheet. Then move on to the next question.

Since your time allotment is just over one minute per question, a
“time-consuming’ question is a question that you estimate will take
you more than several minutes to answer. But don’t waste time
deciding whether a question is a “+” or a “—.” Act quickly, as the
intent of this strategy is, in fact, to save you valuable time.

After you work all the easy questions, your booklet should look
something like this:

1.
+ 2.
3.
-4,
+ 5.
etc.
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5. After working all the problems you can do immediately in that
section (the easy ones), go back and work your “+” problems.
Change your “guess” on your answer sheet, if necessary, for
those problems you are able to work.

6. If you finish working your *“+” problems and still have time left,
you can either

(A) Attempt those “—" questions—the ones that you consid-
ered “impossible.” Sometimes a problem later in that
section will “trigger” your memory and you’ll be able to go
back and answer one of the earlier “impossible” problems.

or

(B) Don’t bother with those “impossible” questions. Rather,
spend your time reviewing your work to be sure you didn’t
make any careless mistakes on the questions you thought
were easy to answer.

REMEMBER: You do not have to erase the pluses and minuses you
made on your question booklet. And be sure to fill in all your answer
spaces—if necessary, with a guess. As there is no penalty for wrong
answers, it makes no sense to leave an answer space blank. And, of
course, remember that you may work only in one section of the test
at a time.

The Elimination Strategy

Take advantage of being allowed to mark in your testing booklet.
Asyou eliminate an answer choice from consideration, make sure to
mark it out in your question booklet as follows:

(AT
(B)
P

e24]
2(E)

Notice that some choices are marked with question marks,
signifying that they may be possible answers. This technique will
help you avoid reconsidering those choices you have already
eliminated. It will also help you narrow down your possible answers.

Again, these marks you make on your question booklet do not
need to be erased.



Part lI: Analysis of Exam Areas

This section is designed to introduce you to each GRE area by
carefully reveiwing the

1. Ability Tested

2. Basic Skills Necessary

3. Directions

4. Analysis of Directions

5. Suggested Approach with Samples

This section features the PATTERNED PLAN OF ATTACK for each
subject area and emphasizes important test-taking techniques and
strategies and how to apply them to a variety of problem types. It
also includes valuable symbols, terminology, formulas, basic math
information, and a compact list of prefixes, suffixes, and roots to
assist you in the verbal section.






INTRODUCTION TO VERBAL ABILITY

There are two Verbal Ability sections on the GRE, each 30
minutes in length. The two sections contain a total of about 80
questions (3540 questions each). Each Verbal Ability section
consists of four types of questions: Antonyms, Analogies, Sentence
Completion, and Reading Comprehension. The total of the two
sections is scaled from 200 to 800, with an average score of about
480.

A CAREFUL ANALYSIS OF EACH TYPE OF VERBAL ABILITY QUESTION
FOLLOWS.

ANTONYMS

Ability Tested

The Antonym section tests your vocabulary—your ability to
understand the meanings of words and to distinguish between fine
shades of meaning.

Basic Skills Necessary

This section requires a strong college- or graduate-level vocabu-
lary. A strong vocabulary cannot be developed instantly; it grows
over a long period of time spent reading widely and learning new
words. Knowing the meanings of prefixes, suffixes, and roots will
help you to derive word meanings on the test.

Directions

Each word in CAPITAL LETTERS is followed by five words or
phrases. The correct choice is the word or phrase whose meaning is
most nearly opposite to the meaning of the word in capitals. You

may be required to distinguish fine shades of meaning. Look at all
choices before marking your answer.

13



14 ANALYSIS OF EXAM AREAS

Analysis

Although your choice may not be a “perfect” opposite, it must be
the most nearly opposite of the five choices provided.

You should consider all the choices, keeping in mind that in most
cases three of the five choices can be quickly eliminated as not at all
opposite to the original word.

Suggested Approach with Samples

¢ The prefix, root, and (sometimes) suffix of the original word may
help you locate its opposite. Sample:

1. PROFUSION
(A) deficiency (D) largeness
(B) certainty (E) maximum
(C) proliferation

The prefix pro- has several meanings, and all of them have
“positive” connotations; here it means forward. Of the five choices,
the prefix most opposite to the meaning of pro- is de-. The
connotations of de- are usually “negative”; most often, it means
away from, off;, or down.

Profusion means abundance, and deficiency refers to an inade-
quacy or incompleteness. Given these definitions, we see that these
two terms are the most nearly opposite of those given. However,
even without your knowing the definitions, the prefixes, in this case,
provide strong clues.

¢ Without considering the parts of the original word, you may be
able to detect whether it is positive or negative in meaning. If the
original word is positive, your choice must be negative, and vice
versa. Sample:

2. GHASTLY
(A) stupendous (D) acceptable
(B) infectious (E) standard
(C) lovely

Ghastly is a strongly negative word. Although acceptable is a
positive word, and therefore opposite to ghastly, lovely is a better
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choice. Lovely is more strongly positive than acceptable and there-
fore suits the strongly negative meaning of ghastly.

* Working from the answer choices and looking for a single choice
that “stands out” can be a useful strategy. Sample:

3. DILAPIDATED
(A) ruined (D) bizarre
(B) unconscionable (E) hasty
(C) renovated

Assessing the choices for positive or negative meaning, notice that
only renovated is not clearly a negative word; thus, it “stands out”
among the other choices. In this case, renovated (made good as new)
is the opposite of dilapidated, which means falling apart.

¢ Don’t choose an antonym that is too broad or too limited to be an
opposite. Sample:

4. GARRULOUS
(A) edited (D) narrow minded
(B) speechless (E) unyielding
(C) censored

Garrulous means talking much. Although choices (A), (C), (D),
and (E) are all partial opposites because they contain the idea of
restricting language, only (B) specifically refers to speech.

» Try using the given word in a short clear sentence; try to think of
how you’ve heard the word used before. You may discover a
context for it that will help you make a choice. Sample:

5. PATHOLOGICAL
(A) unsteady (D) stubborn
(B) cured (E) selective
(C) predictable

Sentence: “One of my friends is a pathological liar.” Since
pathological here refers to a negative characteristic, the correct
choice is positive, (B).
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¢ Occasionally, you may be uncertain as to the particular part of
speech of a word. You can identify the part of speech of the root
word by looking at the answer choices. For example:

Suppose the word in question is MINUTE. Is this the noun
meaning a unit of time equaling sixty seconds (pronounced min-
ut)? Or is it the adjective meaning extremely small (pronounced
my-noot)? If the answer choices are all nouns, then the root word
must also be a noun (indicating the former meaning of minute). If
the answer choices are all adjectives, the root word is an adjective.
All the answer choices in a particular question will represent the
same part of speech. By scanning the answer choices, you can help
identify the part of speech of the root word.

A PATTERNED PLAN OF ATTACK

Antonyms

Read the word, remembering you are
looking for the most nearly opposite.

If the word is unfamiliar to you, try to put it

into a sentence, or break the word up using knowi-
edge of prefixes, roots, and suffixes for assis-
tance, or check for a positive or negative conno-
tation associated with the word.

Remember, if the word has a positive connota-
tion, its antonym is negative, and vice versa.

Your answer should not be too broad
or too limited to be an opposite.
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ANALOGIES

Ability Tested

The Analogy section tests your ability to understand logical
relationships between pairs of words. Your vocabulary—your ability
to understand the meanings of words—is also tested.

Basic Skills Necessary

The basic skills necessary for this section are, once again, a strong
college- or graduate-level vocabulary and the ability to distinguish
similarities and differences between words or ideas.

Directions
In each following sample, you are given a related pair or words or

phrases. Select the lettered pair that best expresses a relationship
similar to that in the original pair of words.

Analysis

It is important that you focus on understanding the relationship
between the original pair because this is really what you are trying to
parallel.

Notice that you are to select the best answer or most similar
relationship; therefore, the correct answer may not be directly
parallel. The use of the word best also implies that there may be
more than one good answer.

Categories of Relationship
* Opposites and Synonyms

Although a pair of analogies may not be exact opposites or exact
synonyms, a number of pairs may have a roughly opposite or
synonymous relationship.

ERASE : RECORD :: RELINQUISH : ACQUIRE

PRESENT : INTRODUCE :: SUCCEED : ACCOMPLISH
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s Action/Activity

Relationship between action and its meaning:
YAWN : FATIGUE :: SOB : SORROW

Relationship between action and its performer:
ORATORY : CANDIDATE :: SOLILOQUY : ACTOR

Relationship between action and its object:
HATE: VILLAINY :: WORSHIP : DEITY

Relationship between action and its recipient:
DRAMA : AUDIENCE :: WRITING : READER

Characteristic/ Condition

Relationship between a characteristic and a related action:
OPPRESSED : LIBERATE :: MELLANCHOLY : CHEER

Relationship between a characteristic and a related person:
CRAFTSMANSHIP : ARTISAN :: STATESMANSHIP : GOV-
ERNOR

Relationship between a characteristic and a related result:
DISSATISFACTION.: COMPLAINT :: CURIOSITY : QUES-

TIONING
¢ Effect

Relationship between an effect and its cause:

VERDICT : DELIBERATION :: DEFICIT : OVERSPEND-
ING

Relationship between an effect and its object
OXIDATION : PAINT :: PHOTOSYNTHESIS : PLANT

* Time and Space

Relationship between specific and general:
SONNET : LITERATURE :: FOOTBALL : SPORT
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Relationship between larger and smaller:
SKYLIGHT : PORTHOLE :: TOME : PAMPHLET

Relationship between younger and older:
SAPLING : TREE :: NEW STAR : NOVA

Relationship between container and contained:
PHOTOGRAPH : IMAGES :: LIBRARY : BOOKS

Relationship between part and whole:
MOVEMENT : SYMPHONY :: CHAPTER : NOVEL

Relationship between concrete and abstract:
STORY : HEIGHT :: DEGREE : TEMPERATURE

NotE: Many of these relationships can be presented in a negative
rather than a positive sequence. For instance, instead of a pair of
words denoting an effect and its cause, you might encounter the
negation of this relationship, an effect coupled with something that
cannot be its cause. For example:

HAPPINESS : INJURY :: PEACEFULNESS : STRESS

“Happiness is not the effect of injury in the same way as peacefulness
is not the effect of stress. ” The relationship here may be represented
as EFFECT : (—)CAUSE, using the minus sign to indicate the
negative element in the pair.

¢ As with Antonym questions, here, too, the parts of speech in the
answer choices will exactly duplicate those in the root words. For
example:

Suppose the root words are AMUSE : LAUGHTER :: The first
word, amuse, is a verb; the second word, laughter, is a noun. All
the choices will duplicate that structure—verb : noun :: There-
fore, if you are in doubt about a choice, you can use this structure
to clarify the word. Suppose choice (A) is damage : destruction.
You now know that damage is a verb, meaning to harm or cause
destruction to, rather than its meaning as a noun. And you may
help yourself determine the parts of speech of the root words by
examining the words in the answer choices.
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Suggested Approach with Samples

¢ To determine the relationship between the original pair of words,
try to construct a sentence with words that link the pair. Sample:

1. ORATORY : COMMUNICATION ::
(A) key: ignition (D) stalling : conversation
(B) concept : paragraph (E) cursing : crime
(C) dancing : recreation

In this case, you might say to yourself, “Oratory is a specific kind
of communication” and thus recognize that the relationship here is
between specific and general.

* Narrow your choice to a pair of words that demonstrates most
precisely the same relationship as the original pair.

Test the precision of the relationship by applying the sentence “A
is to B in the same way as C is to D.” In the example above, you
would say to yourself, “Oratory is a specific kind of communication in
the same way as . . . (A) a key is a specific kind of ignition?, (B) a
concept is a specific kind of paragraph?, (C) dancing is a specific kind
of recreation?, (D) stalling is a specific kind of conversation?, (E)
cursing is a specific kind of crime?” After following this procedure,
the best choices, those that demonstrate the relationship of the
original pair, are (C) and (E.

To make your final choice, decide which pair of words expresses a
“specific to general” relationship that is either necessary or typical.
For instance, cursing is not necessarily or typically a specific kind of
crime; however dancing is necessarily and typically a specific kind of
recreation. Therefore, (C) is the best choice.

* Often you will need to consider not only the primary relationship
between the original words, but alse a secondary relationship.
Sample:

2. PERJURY : TRUTH ::
(A) attorney : client (D) sorcery : witchcraft
(B) treason : loyalty (E) patience : indecision
(C) courage : cowardice

“Perjury is the opposite of #ruth. This sentence tells us that the
primary relationship between the original words is one of opposites.



INTRODUCTION TO VERBAL ABILITY 21

Beyond this primary relationship, there are secondary relationships
to consider. First, notice that perjury is an unlawful act. Second,
notice that, considering more specifically the relationship of perjury
to truth, we may conclude that perjury is a violation of truth. Scanning
the answer choices, you see that treason is the opposite of loyalty and
that courage is the opposite of cowardice. However, only choice (B)
presents a relationship in which the first term is an unlawful act and
in which the first term is a violation of the second. Thus, taking the
secondary relationships of the original pair fully into account, you
should conclude that (B) is the best choice.

To sum up this effective approach to analogies: (1) Determine the
relationship between the original pair or words by using them in a
sentence. (2) Narrow your choices to pairs that typically or
necessarily express a similar relationship. (3) Choose the pair that
expresses the original relationship most precisely by taking into
account the secondary relationship(s) between the words in the
original pair.

A PATTERNED PLAN OF ATTACK
Analogies

Read the two given words, concentrating
on the relationship between them.

!

Classifying the words and/or relation-
ship can be useful.

:

Note the order of the relationship. It
is of great importance.

!

Watch for the poasitive or negative connota-
tion that the original words may have.

!

If the words are unfamiliar to you, try
putting them into a sentence, or break-
ing them into parts, prefixes, suffixes, and
roots.

To check your answer, read it
as a complete analogy.
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SENTENCE COMPLETION

Ability Tested

This section tests your ability to complete sentences with a word
or words that retain the meaning of the sentence and are structur-
ally and stylistically correct.

Basic Skills Necessary

Good reading comprehension skills help in this section, as does a
good college- or graduate-level vocabulary.

Directions

Each blank in the following sentences indicates that something
has been omitted. Considering the lettered words beneath the
sentence, choose the word or set of words that best fits the whole
sentence.

Analysis

Note that you must choose the best word or words. In cases where
several choices might fit, prefer the one that fits the meaning of the
sentence most precisely. If the sentence contains two blanks,
remember that both of the words corresponding to your choice must
fit.

Suggested Approach with Samples

* After reading the sentence and before looking at the answer
choices, think of words you would insert and look for synonyms to
them. Sample:

1. Money _________ to a political campaign should be used for
political purposes and nothing else.

How would you fill in the blank? Maybe with the word given or
donated?
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¢ Now look at the choices and find a synonym for given or donated:

(A) used (D) spent
(B) forwarded (E) channeled
(C) contributed

The best choice is (C), contributed; it is the nearest synonym to
given or donated and makes good sense in the sentence.

¢ Look for signal words. Some signal words are however, although,
on the other hand, and but. Sample:

2. Most candidates spend _______ they can raise on their
campaigns, but others wind up on election day with a
(A) so...bankroll
(B) time ... vacation
(C) everything . . . surplus
(D) every cent. . . deficit
(E) nothing. .. war chest

But signals that the first half of the sentence contrasts with the
second half. The fact that most candidates spend everything (and
end up with nothing) contrasts with those who end up with a surplus.
(C) is the correct answer.

* Watch for contrasts between positive and negative words. Look for
words like not, never, and no. Sample:

3. Avirtuous person willnotshout ________ in public; he or she
willrespectthe ___ of other people.

The first blank is obviously a negative word, something a good
person would not shout; the second blank is a positive word,
something that a good person would respect. Here are the choices:

(A) obscenities . . . feelings
(B) loudly. .. comfort
(C) anywhere . .. presence
(D) blessings . . . cynicism
(E) insults ... threat
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Choice (B) is neutral-positive; (C) is neutral-neutral; (D) is
positive-negative; (E) is negative-negative. Only choice (A) offers a
negative- positive pair of words; (A) is the best choice.

¢ Sometimes it is more efficient to work from the second blank first.
Sample:

4. The merger will eliminate __________ and provide more
_____ cross-training of staff.
(A) profit. .. and more
(B) paperwork. .. or less
(C) duplication . . . effective
(D) bosses. .. wasteful
(E) competitors . . . aggressive

The second blank is something that is provided. Chances are that
something provided is a positive word, and effective seems like a
good choice. Reading choice (C) into the sentence, we find that it
makes good sense and is stylistically and structurally correct.

* What “sounds wrong” should be eliminated. Sample:

5. High school students should not be ____ as being
immature or naive.
(A) helped (D) categorized
(B) shoved (E) taught

(C) directed

The only word that sounds right with as is categorized; (D) is the
best choice.
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A PATTERNED PLAN OF ATTACK

Sentence Completion

After reading the sentence, think
of the words you would fill in.

Look for synonyms for your words in
the answers.

Underline signal words that show a similar
or contrasting relationship between the two
choices.

if two blanks are given, oftentimes it is
easier to work from the second word first.

Words that sound wrong shouid be eliminated.

Check your choice or choices by reading them
into the complete sentence. This also is a
good last resort if no other method works.
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READING COMPREHENSION

Ability Tested

This section tests your ability to understand, interpret, and
analyze reading passages on a variety of topics.

Each verbal section typically contains two passages, one of
approximately 200 words and one of approximately 600 words. The
longer passage is followed by six to eight questions, the shorter
usually by three to four questions. Passages are generally taken
from each of the following categories:

Narrative passages from novels, short stories, essays, and biogra-
phies

Argumentative passages presenting different points of view
Biological Science passages about botany, medicine, or zoology
Physical Science passages about chemistry, physics, or astronomy
Humanities passages about art, literature, music, folklore, or
philosophy

Social Studies passages about history, government, economics, or
sociology

The common types of questions are those that ask you

—about the main idea, main point, or possible title of the passage
—about information that is directly stated in the passage

—about information that is implied, suggested, or can be inferred
—to recognize applications of the author’s opinions or ideas

—to evaluate how the author develops and presents the passage
—to recognize the style or tone of the passage

Basic Skills Necessary

Students who have read widely and know how to read and mark a
passage actively and efficiently tend to do well on this section.
Directions

Each passage in this group is followed by questions based on its
content. After reading a passage, choose the best answer to each
question and blacken the corresponding space on the answer sheet.
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Answer all questions following a passage on the basis of what is
stated or implied in that passage. You may refer back to the passage.

Analysis

Answer all the questions for one passage before moving on to the
next one. If you don’t know the answer, take an educated guess.

Use only the information given or implied in a passage. Do not
consider outside information, even if it seems more accurate than
the given information.

Suggested Approach with Sample Passages

* Skim the questions first, marking words which give you a clue
about what to look for when you read the passage.

Read the passage actively, marking main points and other items
you feel are important such as conclusions, names, definitions,
places, and/or numbers. Make only a few marks per paragraph.
Remember, these marks are to help you understand the passage.

Short Passage

*By the time a child starts school, he has mastered the major
part of the rules of his grammar. He has managed to accom-
plish this remarkable feat in such a short time by experimenting
with and generalizing the rules all by himself. Each child, in
effect, rediscovers language in the first few years of his life.

*When it comes to vocabulary growth, it is a different story.
Unlike grammar, the chief means through which vocabulary is
learned is memorization.* And some people have a hard time
learning and remembering new words.

(The * indicates portions of the passage which refer directly to a
question you’'ve skimmed. Also marked are main points and key
terms.)
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1. A child has mastered many rules of grammar by about the age
of

(A) 3 (D) 10
(B) 5 (E) 18
(C) 8

The first sentence of the passage contains several words from this
question, so it is likely to contain the correct answer. By the time a
child starts school tells us that the answer is 5. Before choosing (B),
you should look at all the answers and cross out those which seem
incorrect.

2. Although vocabulary growth involves memorization and gram-
mar-learning doesn’t, we may conclude that both vocabulary
and grammar make use of

(A) memorization (D) children
(B) study skills (E) teachers
(C) words

The question asks you to simply use your common sense. Choice
(A) is incorrect; it contradicts both the passage and the question
itself. (D) and (E) make no sense. (B) is a possibility, but (C) is
better because grammar-learning in young children does not
necessarily involve study skills but does involve words.

3. The last sentence in the passage implies that
(A) some people have little difficulty learning and remember-
ing new words
(B) some people have a hard time remembering new words
(C) grammar does not involve remembering words
(D) old words are not often remembered
(E) learning and remembering are kinds of growth

Implies tells us that the answer is something suggested but not
explicitly stated in the passage. Choice (B) is explicitly stated in the
passage, so it may be eliminated. But (B) implies the opposite: If
some people have a hard time, then it must be true that some people
don’t. (A) is therefore the correct choice. Choices (C), (D), and (E)
are altogether apart from the meaning of the last sentence.
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Long Passage

Woodrow Wilson is usually ranked among the country’s
great presidents in spite of his failures to win Senate approval
of the League of Nations. Wilson had yearned for a political
career all his life; he won his first office in 1910 when he was
elected governor of New Jersey. Two years later he was elected
president in one of the most rapid political rises in our history.
For a while Wilson had practiced law but found it both boring
and unprofitable; then he became a political scientist of great
renown and finally president of Princeton University. He did
an outstanding job at Princeton but lost out in a battle with
Dean Andrew West for control of the graduate school. When
he was asked by the Democratic boss of New Jersey, Jim Smith,
to run for governor, Wilson readily accepted because his
position at Princeton was becoming untenable.

Until 1910 Wilson seemed to be a conservative Democrat in
the Grover Cleveland tradition. He had denounced Bryan in
1896 and had voted for the National Democratic candidate
who supported gold. In fact, when the Democratic machine
first pushed Wilson’s nomination in 1912, the young New
Jersey progressives wanted no part of him. Wilson later assured
them that he would champion the progressive cause, and so
they decided to work for his election. It is easy to accuse Wilson
of political expediency, but it is entirely possible that by 1912 he
had changed his views as had countless other Americans.
While governor of New Jersey, he carried out his election
pledges by enacting an impressive list of reforms.

Wilson secured the Democratic nomination on the forty-
sixth ballot after a fierce battle with Champ Clark of Missouri
and Oscar W. Underwood of Alabama. Clark actually had a
majority of votes but was unable to attract the necessary
two-thirds. In the campaign, Wilson emerged as the middle-of-
the-road candidate—between the conservative William H. Taft
and the more radical Theodore Roosevelt. Wilson called his
program the New Freedom, which he said was the restoration
of free competition as it had existed before the growth of the
trusts. In contrast, Theodore Roosevelt was advocating a New
Nationalism, which seemed to call for massive federal interven-
tion in the economic life of the nation. Wilson felt that the



30 ANALYSIS OF EXAM AREAS

trusts should be destroyed, but he made a distinction between a
trust and a legitimately successful big business. Theodore
Roosevelt, on the other hand, accepted the trusts as inevitable
but said that the government should regulate them by establish-
ing a new regulatory agency. The former president also felt that
a distinction should be made between the “good” trusts and
the “bad” trusts.

Questions

4. The author’s main purpose in writing this passage is to
(A) argue that Wilson is one of the great U.S. presidents
(B) survey the differences between Wilson, Taft, and Roosevelt
(C) explain Wilson’s concept of the New Freedom
(D) discuss some major events of Wilson's career
(E) suggest reasons that Wilson’s presidency may have started
World War I

5. The author implies which of the following about the New Jersey

progressives?

(A) They did not support Wilson after he was governor.

(B) They were not conservative Democrats.

(C) They were more interested in political expediency than in
political causes or reforms.

(D) Along with Wilson, they were supporters of Bryan in 1896.

(E) They particularly admired Wilson’s experience as presi-
dent of Princeton University.

6. The passage supports which of the following conclusions about

the progress of Wilson’s political career?

(A) Few politicians have progressed so rapidly toward the
attainment of higher office.

(B) Failures late in his career caused him to be regarded as a
president who regressed instead of progressed.

(C) Wilson encountered little opposition once he determined
to seek the presidency.

(D) The League of Nations marked the end of Wilson’s
reputation as a strong leader.

(E) Wilson’s political progress was aided by Champ Clark and
Oscar Underwood.



INTRODUCTION TO VERBAL ABILITY 31

7. In the statement “Wilson readily accepted because his position
at Princeton was becoming untenable,” the meaning of
“untenable” is probably which of the following?

(A) unlikely to last for ten years

(B) filled with considerably less tension

(C) difficult to maintain or continue

(D) filled with achievements that would appeal to voters

(E) something he did not have a tenacious desire to continue

8. According to the passage, which of the following was probably

true about the presidential campaign of 1912?

(A) Woodrow Wilson won the election by an overwhelming
majority.

(B) The inexperience of Theodore Roosevelt accounted for his
radical position.

(C) Wilson was unable to attract two-thirds of the votes but
won anyway.

(D) There were three nominated candidates for the presi-
dency.

(E) Wilson’'s New Freedom did not represent Democratic
interests.

Answers and Explanations

4. (D) Choices (A) and (E) are irrelevant to the information in the
passage, and choices (B) and (C) mention secondary purposes
rather than the primary one.

5. (B) In the second paragraph, Wilson’s decision to champion the
progressive cause after 1912 is contrasted with his earlier career,
when he seemed to be a conservative Democrat. Thus, we may
conclude that the progressives, whom Wilson finally joined,
were not conservative Democrats, as was Wilson earlier in his
career. Choices (A) and (D) contradict information in the
paragraph, while choices (C) and (E) are not suggested by any
information given in the passage.

6. (A) This choice is explicitly supported by the third sentence in
paragraph one in which we are told that Wilson was elected
president in one of the most rapid political rises in our history.
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(C) On any reading comprehension test, it is best to be alert to
the positive and negative connotations of words and phrases in
each passage as well as in the questions themselves. In the case
of untenable, the prefix un- suggests that the word has a negative
connotation. The context in which the word occurs does so as
well. Wilson left his position at Princeton; therefore, we may
conclude that the position was somehow unappealing. Only two
of the answer choices, (C) and (E), provide a negative defini-
tion. Although choice (E) may attract your attention because
tenacious looks similar to tenable, the correct choice is (C),
which is the conventional definition of untenable.

. (D) Choices (A), (B), and (C) contain information that is not

addressed in the passage. We may eliminate them as irrelevant.
Choice (E) contradicts the fact that Wilson was a Democratic
candidate. The discussion of Taft and Roosevelt as the candi-
dates who finally ran against Wilson for the presidency supports
choice (D).

A PATTERNED PLAN OF ATTACK

Reading Comprehension

s the questions first, marking important nouns and verbs.

sxim the passage quickly, reading only the first sentence of
each paragraph. (optional)

READ the passage ACTVELY, marking main points,
names, definitions, important conclusions, places, and
numbers.

ANSWER the questions, without spending excess time on any one
question.
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COMMON PREFIXES, SUFFIXES, AND ROOTS

The following list should help you to arrive at definitions of
unfamiliar words on the Verbal Section of the GRE. These prefixes,
suffixes, and roots apply to thousands of words.

Prefixes

Prefix Meaning Example
pre- before precede

de- away, from deter

inter- between interstate
ob- against objection
in- into instruct
mono- alone, one monolith
epi- upon epilogue
mis- wrong mistake
sub- under submarine
trans- across, beyond transcend
over- above overbearing
ad- to, toward advance
non- not nonentity
com- together, with composite
re- back, again regress

ex- out of expel

in- not insufficient
pro- forward propel

anti- against antidote
omni- all, everywhere omniscient
equi- equal, equally equivalent
homo- same, equal, like homogenized
semi- half, partly semicircle
un- not unneeded
bi- two bicycle
poly- many polymorphous
retro- backward retrograde
mal- bad malfunction
hyper- over, too much hyperactive
hypo- under, too little hypodermic
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Suffixes
Suffix

-able, -ible
-er, -or
-ism

-ist

-less

-ship

-fy

-ness
-tude
-logue

Roots
Root

arch
belli
bene
chron
dic

fac
graph
mort
port
vid, vis

Meaning

able to

one who does

the practice of

one who is occupied with
without, lacking
the art or skill of

to make

the quality of

the state of

a particular kind of
speaking or writing

Meaning

torule

war, warlike
good

time -

to say

to make, to do
writing

to die

to carry

to see

Example

usable
competitor
rationalism
feminist
meaningless
statesmanship
dignify
aggressiveness
rectitude
prologue

Example

monarch
belligerent
benevolent
chronology
indicative
artifact
telegraph
mortal
deport
invisible



INTRODUCTION TO QUANTITATIVE ABILITY

There are two Quantitative Ability sections on the GRE, each 30
minutes in length. The two sections contain a total of about 60
questions (30 questions each). Each Quantitative Ability section
consists of two basic types of questions: Quantitative Comparison
and regular Math Ability, multiple-choice questions. The total of
the two sections generates a scaled score that ranges from 200 to
800, with an average score of about 560.

A CAREFUL ANALYSIS OF EACH TYPE OF QUANTITATIVE ABILITY
QUESTION FOLLOWS.

QUANTITATIVE COMPARISON

Ability Tested

Quantitative Comparison tests your ability to use mathematical
insight, approximation, simple calculation, or common sense to
quickly compare two given quantities.

Basic Skills Necessary

This section requires twelfth-grade competence in high school
arithmetic, algebra, and intuitive geometry. Skills in approximating,
comparing, and evaluating are also necessary. No advanced mathe-
matics is necessary.

Directions

In this section you will be given two quantities, one in column A
and one in column B. You are to determine a relationship between
the two quantities and mark

(A) if the quantity in column A is greater than the quantity in

column B
(B) if the quantity in column B is greater than the quantity in
column A

(C) if the two quantities are equal

(D) if the comparison cannot be determined from the informa-

tion given

35
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Analysis

The purpose here is to make a comparison; therefore, exact
answers are not always necessary. (Remember that you can tell
whether you are taller than someone in many cases without knowing
that person’s height. Comparisons such as this can be made with
only partial information—just enough to compare.) (D) is not a
possible answer if there are values in each column because you can
always compare values.

If you get different relationships, depending on the values you
choose for variables, then the answer is always (D). Notice that
there are only four possible choices here. Never mark (E) on your
answer sheet for Quantitative Comparison.

Note that you can add, subtract, multiply, and divide both
columns by the same value and the relationship between them will
not change. EXCEPTION—You should not multiply or divide each
column by negative numbers because then the relationship reverses.
Squaring both columns is permissible, as long as each side is
positive.

Suggested Approach with Sample Problems

 This section emphasizes shortcuts, insight, and quick techniques.
Long and/or involved mathematical computation is unnecessary
and is contrary to the purpose of this section. Sample:

Column A Column B
21 X 43 x 56 44 x 21 x 57

Canceling (or dividing) 21 from each side leaves
43 x 56 44 x 57

The rest of this problem should be done by inspection because it
is obvious that column B is greater than column A without doing any
multiplication. You could have attained the correct answer by
actually multiplying out each column, but you would then not have
enough time to finish the section. The correct answer is (B).

¢ The use of partial comparisons can be valuable in giving you
insight into finding a comparison. If you cannot simply make a
complete comparison, look at each column part by part. Sample:
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Column A Column B
1 1 1 1
57 65 58 63

Since finding a common denominator would be too time consum-
ing, you should first compare the first fraction in each column
(partial comparison). Notice that 14, is greater than 4. Now
compare the second fractions and notice that 1%;s is less than Y.
Using some common sense and insight, if you start with a larger
number and subtract a smaller number, it must be greater than
starting with a smaller number and subtracting a larger number, as
pointed out below.

Larger Smaller
{1 11
57765 58" 63
-
Smaller Larger

The correct answer is (A).

* Always keep the columns in perspective before starting any
calculations. Take a good look at the value in each column before
starting to work on one column. Sample:

Column A Column B
3 7 28

After looking at each column (note that the answer could not be
(D) because there are values in each column), compute the value on
the left. Since you are taking a cube root, simply divide the power of
7 by 3 leaving 7, or 49. There is no need to take 2 out to the 8th
power; just do as little as necessary:

P =4
P=8
2=16
¥ =32

STOP
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It is evident that 2* is much greater than 49; the correct answer is
(B). Approximating can also be valuable while remembering to
keep the columns in perspective.

* If a problem involves variables (without an equation), substitute
in the numbers 0, 1, and — 1. Then try !4, and 2 if necessary. Using
0, 1, and 1 will often tip off the answer. Sample:

Column A Column B

a+b ab

Substituting 0 for a and 0 for b gives:

0+0 0(0)
Therefore, 0 = 0

Using these values for a and b gives the answer (C). But anytime
you multiply two numbers, it is not the same as when you add them,
so try some other values. Substituting 1 for a and —1 for b gives:

L+ (-1) 1(-1)
Therefore, 0 > —1
and the answer is now (A).

Anytime you get more than one comparison (different relation-
ships), depending on the values chosen, the correct answer must be
(D), the relationship cannot be determined. Notice that if you had
substituted the valuesa =4,b = 5;ora=6,b=7,ora=7,b =9,
and so on, you would repeatedly have gotten the answer (B) and
might have chosen the incorrect answer.

¢ Often, simplifying one or both columns can make an answer
evident. Sample:

Column A Column B
a, b, c, all greater than 0

a(b +c) ab + ac

Using the distributive property on column A to simplify, gives ab
and ac; therefore, the columns are equal.
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* Sometimes you can solve for a column directly, in one step,
without solving and substituting. If you have to solve an equation
or equations to give the columns values, take a second and see if
there is a very simple way to get an answer before going through
all of the steps. Sample:

Column A Column B

4x+2=10
2x+1 4

Hopefully, you would spot that the easiest way to solve for 2x + 1
is directly by dividing 4x + 2 = 10 by 2, leaving 2x + 1 = 5.
Therefore,

5 > 4

Solving for x first in the equation and then substituting would also
have worked but would have been more time consuming. The
correct answer is (A).

e Marking diagrams can be very helpful for giving insight into a
problem. Remember that figures and diagrams are meant for
positional information only. Just because something “looks”
larger is not enough reason to choose an answer. Sample:

Column A Column B
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Even though x appears larger, this is not enough. Mark in the
diagram as shown.

y4

X Y

Notice that you should mark things of equal measure with the
same markings, and since angles opposite equal sides in a triangle
are equal, x = y. The correct answer is (C).

* Ifyou are given information that is unfamiliar to you and difficult
to work with, change the number slightly (but remember what
you’ve changed) to something easier to work with. Sample:

Column A Column B

88°

5 [

Since the 88° shown in the figure is unfamiliar to work with,
change it to 90° for now so that you may use the Pythagorean
theorem to solve for c.

a+b’=¢

Solve for ¢ as follows:

@y + @ =¢

9+ 16 =¢

25=¢?

Therefore, S=¢
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But since you used 90° instead of 88°, you should realize that the
side opposite the 88° will be slightly smaller, or less than 5. The
correct answer is then (A), 5 > c. (Some students may have noticed
the 3:4:5 triangle relationship and not have needed the Pythagorean
theorem.)

A PATTERNED PLAN OF ATTACK

Quantitative Comparison

ALWAYS READ BOTH columns of
information before starting to
work on either column.

REMEMBER: This section emphasizes
speed and shortcuts. Don’t get
stuck doing long computations.

SMPLIFY the problem, or columns
if possible.

SKETCH, DRAW, OF MARK in diagrams
when appropriate.

NEVER choose (D) if there are
values in each column.

ALWAYS choose (D) if you get
different comparisons, depending
on the values you use.

When suBsTITUTING in numbers,
ALWAYS start with 0, 1, and — 1.

When in pousr, plug in numbers.
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MATH ABILITY

Ability Tested

The Math Ability section tests your ability to solve mathematical
problems involving arithmetic, algebra, geometry, and word prob-
lems by using problem-solving insight, logic, and application of basic
skills.

Basic Skills Necessary

The basic skills necessary to do well on this section include high
school algebra and intuitive geometry—no formal trigonometry or
calculus is necessary. Skills in arithmetic and basic algebra, along
with some logical insight into problem-solving situations, are also
necessary.

Directions

Solve each problem in this section by using the information given
and your own mathematical calculations. Then select the one
correct answer of the five choices given. Use the available space on
the page for scratchwork.

Note: Some problems may be accompanied by figures or dia-
grams. These figures are drawn as accurately as possible except when
it is stated in a specific problem that the figure is not drawn to scale.
The figure is meant to provide information useful in solving the
problem or problems.

Unless otherwise stated or indicated, all figures lie in a plane.

All numbers used are real numbers.

Analysis

All scratchwork is to be done in the test booklet; get used to doing
this because no scratch paper is allowed into the testing area.

You are looking for the one correct answer; therefore, although
other answers may be close, there is never more than one right
answer.
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Suggested Approach with Samples

* Take advantage of being allowed to mark on the test booklet by
always underlining or circling what you are looking for. This will
ensure that you are answering the right question. Sample:

1. Ifx+6=9 then3x+ 1=

(A) 3 (D) 34
(© 1 (=) 4

You should first circle or underline 3x + 1 because this is what
you are solving for. Solving for x leaves x = 3, and then substituting
into 3x + 1 gives 3(3) + 1, or 10. The most common mistake is to
solve for x, which is 3, and mistakenly choose (A) as your answer. But
remember, you are solving for 3x + 1, not just x. You should also
notice that most of the other choices would all be possible answers if
you made common or simple mistakes. The correct answer is (C).
Make sure that you are answering the right question.

¢ Substituting numbers for variables can often be an aid to
understanding a problem. Remember to substitute simple num-
bers, since you have to do the work. Sample:

2. Ifx > 1, which of the following decreases as x decreases?

1
2 2
L x+x II. 2x" —x II1. ——
(A) Ionly (D) IandII only
(B) Il only (E) IIand III only

(C) I only

This problem is most easily solved by taking each situation and
substituting simple numbers. However, in the first situation (I
x + x%), you should recognize that this expression will decrease as x
decreases. Trying x = 2 gives 2 + (2)* = 6. Now, trying x = 3 gives
3 + (3)’ = 12. Notice that choices (B), (C), and (E) are already
eliminated because they do not contain I. You should also realize
that now you need to try only the values in II. Since I1I is not paired
with I as a possible choice, I cannot be one of the answers.

Trying x = 2 in the expression 2x° — x gives 2(2)* — 2, or 2(4) -
2 = 6. Now, trying x = 3 gives 2(3)* — 3, or 2(9) — 3 = 15. This
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expression also decreases as x decreases. Therefore, the correct
answer is (D). Once again, notice that III was not even attempted
because it was not one of the possible choices.

¢ Sometimes you will immediately recognize the proper formula or
method to solve a preblem. If this is not the situation, try a
reasonable approach and then work from the answers. Sample:

3. Barney can mow the lawn in 5 hours, and Fred can mow the
lawn in 4 hours. How long will it take them to mow the lawn

together?

(A) 5 hours (D) 2% hours
(B) 4! hours (E) 1 hour
(C) 4 hours

Suppose that you are unfamiliar with the type of equation for this
problem. Try the “reasonable” method. Since Fred can mow the
lawn in 4 hours by himself, it will take less than 4 hours if Barney
helps him. Therefore, choices (A), (B), and (C) are ridiculous.
Taking this method a little further, suppose that Barney could also
mow the lawn in 4 hours. Then together it would take Barney and
Fred 2 hours. But since Barney is a little slower than this, the total
time should be a little more than 2 hours. The correct answer is (D),
2% hours.

Using the equation for this problem would give the following
calculations:

+

| =

| =
=

In 1 hour, Barney could do ¥ of the job, and in 1 hour, Fred could
do ¥ of the job. Unknown 4 is that part of the job they could do
together in one hour. Now solving, you calculate as follows:

4 5 1
%20 %
21
20 x
Cross multiplying gives 9x =20

Therefore, X = 2% or 2%
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* “Pulling” information out of the word problem structure can
often given you a better look at what you are working with;
therefore, you gain additional insight into the problem. Sample:

4. If a mixture is 3 alcohol by volume and 44 water by volume, what
is the ratio of the volume of alcohol to the volume of water in
this mixture?

A) % D) 4
(B) E) %
©C) %

The first bit of information that should be pulled out should be
what you are looking for: “ratio of the volume of alcohol to the
volume of water.” Rewrite it as A:W and then into its working form:
A/W. Next, you should pull out the volumes of each : A = 3 and
W =4,

Now the answer can be easily figured by inspection or substitu-
tion. Using (34) (%), invert the bottom fraction and multiply to get
3% X % = ¥%. The ratio of the volume of alcohol to the volume of
water is 3 to 4. The correct answer is (C).

When pulling out information, actually write out the numbers
and/or letters to the side of the problem, putting them into some
helpful form and eliminating some of the wording.

» Sketching diagrams or simple pictures can also be very helpful in
problem solving because the diagram may tip off either a simple
solution or a method for solving the problem. Sample:

5. What is the maximum number of pieces of birthday cake of size
4” by 4" that can be cut from a cake 20" by 20"?

(A) 5 (D) 20

(B) 10 (E) 25

(C) 16
Sketching the cake and marking 20
in as shown makes this a fairly L L L
simple problem. 4'9 4'4 4

£ D
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Notice that 5 pieces of cake will fit along each side.

Therefore 5 x 5 = 25. The correct answer is (E). Finding the total
area of the cake and dividing it by the area of one of the 4 X 4 pieces
would also have given you the correct answer, but beware of this
method because it may not work if the pieces do not fit evenly into
the original area.

* Marking in diagrams as you read the questions can save you
valuable time. Marking can also give you insight into how to solve
a problem because you will have the complete picture clearly in
front of you. Sample:

A C

6. Inthe triangle above, CD is an angle bisector, angle ACD is 30°,
and angle ABC is a right angle. What is the measurement of
angle x in degrees?

(A) 30° (D) 75°
© r =

You should have read the problem and marked as follows: In the
triangle above, CD is an angle bisector (STOP AND MARK IN THE
DRAWING), angle ACD is 30° (STOP AND MARK IN THE DRAWING),
and angle ABC is a right angle (STOP AND MARK IN THE DRAWING).
What is the measurement of angle x in degrees? (STOP AND MARK IN
OR CIRCLE WHAT YOU ARE LOOKING FOR IN THE DRAWING).

A

Now, with the drawing marked in, it is evident that, since angle
ACD is 30°, then angle BCD is also 30° because they are formed by
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an angle bisector (divides an angle into two equal parts). Since
angle ABC is 90° (right angle) and angle BCD is 30°, then angle x is
60° because there are 180° in a triangle.

180 — (90 + 30) = 60

The correct answer is (C). ALWAYS MARK IN DIAGRAMS AS YOU
READ DESCRIPTIONS AND INFORMATION ABOUT THEM. THIS INCLUDES
WHAT YOU ARE LOOKING FOR.

« If it appears that extensive calculations are going to be necessary
to solve a problem, check to see how far apart the choices are and
then approximate. The reason for checking the answers first is to
give you a guide to how freely you can approximate. Sample:

7. The value for (.889 X 55)/9.97 to the nearest tenth is

8 77 B 5
(C) 49 '

Before starting any computations, take a glance at the answers to
see how far apart they are. Notice that the only close answers are
(C) and (D). But (D) is not possible, since it is to the nearest
hundredth, not tenth. Now, making some quick approximations,
.889 = 1 and 9.97 = 10, which leaves the problem in this form:

1x55 55 5s
10 10~

The closest answer is (C). Therefore, it is the correct answer.

Notice that choices (A) and (E) are not reasonable.

* In some instances, it will be easier to work from the answers. Do
not disregard this method because it will at least eliminate some
of the choices and could give you the correct answer. Sample:

8. What is the counting number that is less than 15, when divided
by 3 has a remainder of 1, and when divided by 4 has a

remainder of 2?
(A) 5 (D) 12
(B) 8 (E) 13

(C) 10
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By working from the answers, you eliminate wasting time on the
other numbers from 1 to 14. Choices (B) and (D) can be immedi-
ately eliminated because they are divisible by 4, leaving no remain-
der. Choices (A) and (E) can also be eliminated because they leave
a remainder of 1 when divided by 4. Therefore, the correct answer is
(C); 10 leaves a remainder of 1 when divided by 3 and a remainder
of 2 when divided by 4.

A PATTERNED PLAN OF ATTACK

Math Ability

READ the question carefully, circling what you
are looking for.

I PULL OUT important information.

| DRAW, SKETCH, OF MARK in diagrams. J

Do you know a simple or meth ‘j | FNO
¥ VES RY ol ing some ble nh
ust your method and work the problem out as -
simply as possible. woRK from the answers or substitute in numbers
if appropri

TRY approximating to clarify thinking and
simplify work.

ALWAYS MAKE SURE YOUR ANSWER (S REASONASLE.
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GRAPHS AND CHARTS

Graphs and charts are included in the Quantitative Comparison
and/or Math Ability sections of the GRE.

Ability Tested

You will need to understand and to derive information from
charts, tables, and graphs. Many of the problems require brief
calculations based on the data, so your mathematical ability is also
tested.

Basic Skills Necessary

The mathematics associated with graphs and charts does not go
beyond high-school level. Your familiarity with a wide range of
chart and graph types will help you feel comfortable with these
problems and read the data accurately.

Directions

You are given data represented in chart or graph form. Following
each set of data are questions based on that data. Select the best
answer to each question by referring to the appropriate chart or
graph and mark your choice on the answer sheet. Use only the given
or implied information to determine your answer.

Analysis

Remember that you are looking for the best answer, not necessar-
ily the perfect answer. Often, graph questions ask you for an
approximate answer. If this happens, don’t forget to round off
numbers to make your work easier.

Use only the information given. Never “read into” the informa-
tion on a graph.

Suggested Approach with Samples

Here are some helpful strategies for extracting accurate informa-
tion, followed by some sample graph questions.

* Skim the questions and quickly examine the whole graph before
starting to work problems. This sort of prereading will tell you
what to look for.
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¢ Use your answer sheet as a straightedge in order to align points on
the graph with their corresponding number values.

¢ Sometimes the answer to a question is available in supplementary
information given with a graph (headings, scale factors, legends,
etc.). Be sure to read this information.

* Look for the ebvious: dramatic trends, high points, low points,
etc. Obvious information often leads directly to an answer.

Graph and Chart Questions

Questions 1-3 refer to the graph.

Gross Receipts of Several Fast-Food Restaurants

1970-1972
354
3 -
(]
c
K]
= 254
s 5
£
[~ ]
e 27
T
1.54
2
e
(6]
1 4+
54
1970 1971 1972 1970 1971 1972 1970 1971 1972
MONSTER CRUNCHO PIZZAIN A
BURGER CHICKEN POT

1. The 1970-72 gross receipts for Monster Burger exceeded those
of Pizza In A Pot by approximately how much?
(A) 0.2 million (D) 8.4 million
(B) 2 million (E) 17 million
(C) 8.2 million
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2. From 1971 to 1972, the percent increase in receipts for Pizza In
A Pot exceeded the percent increase of Monster Burger by
approximately how much?

(A) 0% (D) 15%
(©) 10% ()

3. The 1972 decline in Cruncho Chicken’s receipts may be
attributed to
(A) anincrease in the popularity of burgers
(B) anincrease in the popularity of pizza
(C) adecrease in the demand for chicken
(D) a predictable slump attributable to the deceleration of the
Vietnam War
(E) cannot be determined from the information given

Answers and Explanations

This is a bar graph. Typically, this type of graph has a number
scale along one edge and individual categories along another edge.
Here we have multiple bars representing each fast-food category.
Each single bar stands for the receipts from a single year.

You may be tempted to write out the numbers as you do your
arithmetic (3.5 million = 3,500,000). This is unnecessary, as it often
is on graphs which use large numbers. Since a/l measurements are in
millions, adding zeros does not add precision to the numbers.

1. (B) Referring to the Monster Burger bars, we sec that gross
receipts are as follows: 1970 = 2.5, 1971 = 2.5, 1972 = 3.4 (use
your answer sheet as a straightedge to determine this last
number). Totaling the receipts for all three years, we get 8.4.

Referring to the Pizza in A Pot bars, we see that gross receipts
are as follows: 1970 = 1, 1971 = 2.1, 1972 = 3 (once again, use
your straightedge, but do not designate numbers beyond the
nearest tenth, since the graph numbers and the answer choices
prescribe no greater accuracy than this). Totaling the receipts
for all three years, we get 6.1.

So Monster Burger exceeds Pizza In A Pot by 2.3 million. The
answer which best approximates this figure is (B).
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(C) Several graph and chart questions on the GRE may ask you
to calculate percent increase or percent decrease. The formula
for figuring either of these is the same:

amount of change

“starting” amount (follows the word from)
In this case, we may first calculate the percent increase for
Monster Burger:
Gross receipts in 1971 = 2.5
Gross receipts in 1972 = 3.4
Amount of change = .9
The 1971 amount is the ““starting” or “from’ amount.

amount of change .9

“starting” amount 2.5 = 36 = 36%

Percent increase for Pizza In A Pot:
Gross receipts in 1971 = 2.1
Gross receipts in 1972 = 3
Amount of change = .9

amount of change .9 18 = 439

“starting” amount 2.1 " ?
So Pizza In A Pot exceeds Monster Burger by 7% (43% — 36%).
The answer which best approximates this figure is (C).

. (E) Never use information that you know is not given. In this

case, the multiple factors which could cause a decline in
receipts are not represented by the graph. All choices except
(E) require you to speculate beyond the information given.
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Questions 4-6 refer to the graph.

Gross Receipts of All Major
Fast-Food Restaurants

1971-1973

1973
Gross Receipts for 1971: $7,500,000 MB—Monster Burger
Gross Receipts for 1972: $8,550,000 CC—Cruncho Chicken
Gross Receipts for 1973: $8,100,000 PP—Pizza In A Pot

4. The gross receipts for 1971 are approximately what percent of
the gross receipts for all three years?

(A) 30% (D) 50%
(B) 46.3% (E) cannot be determined
(C) 46.7%

5. Over all three years, the average percentage of gross receipts
for Cruncho Chicken exceeds the average percentage of gross
receipts for Pizza In A Pot by approximately how much?

(A) 53% D) 8%
(B) 30% (E) 4%
(C) 23%
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6. The gross receipts earned by other restaurants in 1973 amount
to precisely how much?
(A) $453,150
(B) $547,500
(C) $810,000
(D) $1,810,650
(E) cannot be determined

Answers and Explanations

This is a circle graph, or pie chart. One hundred percent is
represented by the whole circle, and the various “slices” represent
portions of that 100%. The larger the slice, the higher the
percentage.

4. (A) You can solve this problem without referring to the graphs.
The necessary information is available in the list of gross
receipts below the graphs. Don’t write out all the zeros when
calculating with these large figures; brief figures are easier to
work with.

Gross receipts for 1971 = 7.5 million
Gross receipts for all three years = 7.5 + 8.6 + 8.1
= 24.2 million
7.5
%2 31%

The answer which best approximates 31% is 30%, (A). Notice
that even without doing the calculations, you may approximate
30% by realizing that the gross receipts for any one year are
about one-third of the total.

5. (D) To calculate the average percentage for Cruncho Chicken,
add the percentages for each year and divide by 3.
463 + 40.6 + 133 = 100.2 + 3 = 33.4%
Do the same for Pizza In A Pot.
128 +246 +40=774+3 =258%
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Cruncho Chicken exceeds Pizza In A Pot by 33.4 — 25.8 = 7.6.
Choice (D), 8%, best approximates this figure.

6. (C) In 1973, other restaurants earned precisely 10%. And 10%
of $8,100,000 = $810,000, choice (C).

A PATTERNED PLAN OF ATTACK

‘Graphs and Charts

skm the first few questions.

EXAMINE the entire graph.
Notice headings, scale
factors, legends, and dramatic
trends.

cRcLE what you are looking for
in each question.

sk questions that seem too
difficult or confusing.

if a great deal of calculating

is necessary, check the proxim-
ity of the answers to each

other and APPROXIMATE.




IMPORTANT SYMBOLS, TERMINOLOGY,
FORMULAS, AND GENERAL MATHEMATICAL
INFORMATION

COMMON MATH SYMBOLS AND TERMS

Symbol References:
= is equal to = is greater than or equal to
# is not equal to < isless than or equal to
> is greater than | is parallel to
< is less than 1 is perpendicular to

Natural numbers—the counting numbers: 1,2, 3, . . .

Whole numbers—the counting numbers beginning with zero: 0, 1, 2,
3...

Integers—positive and negative whole numbers and zero: ... —3,
-2,-1,0,1,2,...

0Odd numbers—numbers not divisible by 2: 1, 3,5, 7, . ..

Even numbers—numbers divisible by 2: 0,2, 4, 6, . . .

Prime number—number divisible by only 1 and itself: 2, 3, 5, 7, 11,
13, ...

Composite number—number divisible by more than just 1 and
itself: 4,6, 8,9, 10, 12,14, 15, . . .

Squares—the results when numbers are multiplied by themselves,
2:2=4(3-3=9):1,4,9,16,25,36, ...

Cubes—the result when numbers are multiplied by themselves
twice,(2-2-2=28),(3-3-3=27):1,8,27,...

MATH FORMULAS

Triangle Perimeter =5, + 5, + 5,
Area = 14hbh

Square Perimeter = 4s
Area =5-5,0rs?

Rectangle Perimeter = 2(b + h),or 2b + 2h
Area = bh, orlw

Parallelogram Perimeter = 2(I + w),or 2/ + 2w
Area = bh

56



Trapezoid

Circle

INTRODUCTION TO QUANTITATIVE ABILITY 57

Perimeter = b, + b, + 5, + 5,
b, + b,
2

Area = Y%h(b, + b,), o1 h

Circumference = 2wr, or wd
Area = 71’

Pythagorean theorem (for right triangles) a’ + b’ = ¢?

The sum of the squares of the legs of a right triangle equals the

square of the hypotenus.

Cube

Rectangular Prism

Volume =5 5s-5=5°
Surfacearea=s5-5-6
Volume=1/-w-h

Surface area = 2(w) + 2(Ih) + 2(wh)

IMPORTANT EQUIVALENTS

Memorizing the following can eliminate unnecessary computations:

l/1()()= 01 = 1%
1/1()= 1 = 10%

Yy =.33% =33%%
% = .66% = 66%%

Y=2%=.2=.20=20% Y =.125 = 12V = 12%%%

Yo=.3=.30=30%

% = 375 = 37%=37%%

Y=Yo=4=40=40%  %=.625=.62% = 62%:%
Yo=Sh=5=250=50%  %=.875=87%=81%%
Y%=b0=.6=.60=60% Y%=.16%=16%%

The=.7=.70 = 0%

% = .83% = 8311%

Y5 = 89 = .8 = .80 = 80% 1=1.00 = 100%

%0 =.9 = .90 = 90%
Vs = B4 = .25 = 25%
%="%0=.75=T75%

2 = 2.00 = 200%
31 = 3.5 = 3.50 = 350%
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MEASURES

Customary System, or English System

Length
12 inches (in) = 1 foot (ft)
3 feet = 1 yard (yd)
36 inches = 1yard
1760 yards = 1 mile (mi)
5280 feet = 1 mile

Area
144 square inches (sq in) = 1 square foot (sq ft)
9 square feet = 1 square yard (sq yd)

Weight
16 ounces (0z) = 1 pound (Ib)
2000 pounds = 1 ton (T)

Capacity
2 cups = 1 pint (pt)
2 pints = 1 quart (qt)
4 quarts = 1 gallon (gal)
4 pecks = 1 bushel

Time
365 days = 1 year
52 weeks = 1year
10 years = 1 decade
100 years = 1 century

Metric System, or The International System of Units

Length—meter
Kilometer (km) = 1000 meters (m)
Hectometer (hm) = 100 meters
Dekameter (dam) = 10 meters

Meter

10 decimeters (dm) = 1 meter
100 centimeters (cm) = 1 meter
1000 millimeters (mm) = 1 meter
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Volume—iter
Common measures
1000 milliliters (m], or mL) = 1 liter (I, or L)
1000 liters = 1 kiloliter (kl, or kL)

Mass—gram
Common measures
1000 milligrams (mg) = 1 gram (g)
1000 grams = 1 kilogram (kg)
1000 kilograms = 1 metric ton (t)

PROBLEM-SOLVING WORDS AND PHRASES

Words that signal an operation:

ADDITION MULTIPLICATION
e Sum * Of

¢ Total * Product

* Plus e Times

+ Increase * At (Sometimes)

* More than * Total (Sometimes)
¢ Greater than

SUBTRACTION DIVISION

¢ Difference ¢ Quotient

e Less e Divisor

¢ Decreased » Dividend

e Reduced ¢ Ratio

* Fewer ¢ Parts

* Have left

GEOMETRY TERMS AND BASIC INFORMATION

Angles

Vertical angles—Formed by two intersecting lines, across from each
other, always equal

Adjacent angles—Next to each other, share a common side and
vertex

Right angle—Measures 90 degrees

Obtuse angle—Greater than 90 degrees
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Acute angle—Less than 90 degrees

Straight angle, or line—Measures 180 degrees

Angle bisector—Divides an angle into two equal angles
Supplementary angles—Two angles whose total is 180 degrees
Complementary angles—Two angles whose total is 90 degrees

Lines

Two points determine a line
Parallel lines—Never meet
Perpendicular lines—Meet at right angles

Polygons

Polygon—A many-sided (more than two sides) closed figure
Regular polygon—A polygon with all sides and all angles equal
Triangle—Three-sided polygon; the interior angles total 180 de-
grees
Equilateral triangle—All sides equal
Isosceles triangle—Two sides equal
Scalene triangle—All sides of different lengths
Right triangle—A triangle containing a right angle
In a triangle—Angles opposite equal sides are equal
In a triangle—The longest side is across from the largest angle, and
the shortest side is across from the smallest angle
In a triangle—The sum of any two sides of a triangle is larger than
the third side
In a triangle—An exterior angle is equal to the sum of the remote
two angles
Median of a triangle—A line segment that connects the vertex and
the midpoint of the opposite side
Quadrilateral-—Four-sided polygon; the interior angles total 360
degrees
Parallelogram—A quadrilateral with opposite sides parallel
Rectangle—A paralielogram with all right angles
Rhombus—A parallelogram with equal sides
Square—A parallelogram with equal sides and all right
angles
Trapezoid—A quadrilateral with two parallel sides
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Pentagon—A five-sided polygon
Hexagon—A six-sided polygon
Octagon—An eight-sided polygon

Circles

Radius of a circle—A line segment from the center of the circle to
the circle itself

Diameter of a circle—A line segment that starts and ends on the
circle and goes through the center

Chord—A line segment that starts and ends on the circle

Arc—A part of the circle

Circle—Composed of 360°






INTRODUCTION TO ANALYTICAL ABILITY

The GRE has two 30-minute Analytical Ability sections, each
containing about 25 questions. The total of the two sections is scaled
from 200 to 800, with an average score of about 500. Each section
consists of two types of questions: Analytical Reasoning and Logical
Reasoning.

ANALYTICAL REASONING

Ability Tested

You will need to draw reasoned conclusions from complex
statements or situations.

Basic Skills Necessary

No knowledge of formal logic is required. Familiarity with
constructing logical and spatial relationships from a given situation
is valuable.

Directions

The general directions are as follows: The following questions or
group of questions are based on a passage or set of statements.
Choose the best answer for each question and blacken the corre-
sponding space on your answer sheet. It may be helpful to draw
rough diagrams or simple charts in attempting to answer these
question types.

Analysis

Analytical Reasoning sets are composed of conditions followed
by questions. Use only what is presented or implied by the
conditions. Don’t bring in more information than is warranted. For
example, if a condition states that “Sarah is taller than Andy,” it
cannot necessarily be deduced that because Sarah is taller than
Andy she is also heavier than Andy (unless such information also is
given). Rely on common sense.

63
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Suggested Approach with Samples

¢ Use “rule breakers” as an effective elimination technique. For
example, suppose a set of conditions includes “Sam is taller than
Jim” among its statements. Questions like this one will follow:

1. Which of the following is a possible list of children from
shortest to tallest?
(A) Bob, Jane, Tom, Cal, Sam, Jim
(B) Jane, Bob, Jim, Cal, Tom, Sam
(C) Bob, Jane, Tom, Sam, Cal, Jim
(D) Jim, Bob, Jane, Cal, Sam, Tom
(E) Sam, Bob, Cal, Jane, Jim, Sam

Notice that choices (A) and (C) “break the rule” of the condition
stated above (Sam is taller than Jim). And two of the remaining
choices (B), (D), and (E) will “break the rule” of one of the other
conditions in the problem set (not listed above). As you can see,
using “rule breakers” can be an effective technique to quickly knock
out incorrect answer choices.

Occasionally a question will be phrased in the negative. For
example, “All of the following are possible lists of children, from
shortest to tallest, EXCEPT” . . . In this case, the one choice
containing the “rule breaker” will be the correct answer to the
question. Once you find it, mark that answer on your answer sheet
and move to the next question.

* Learn the common types of diagrams and symbols. Knowing how
to quickly set up rough diagrams with simple symbols can be
helpful. For example, try this set of conditions and questions:

Questions 24

Seven people are seated in the front row of a theater.

There is a woman at either end.

A man is seated in the middle of the group.
No man is seated next to another man.

The man in the middle is flanked by women.
Two other men are also flanked by women.
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2. How many women are seated in the front row?

(A) 2 (D) 5
(B) 3 (E) 6
(C) 4

3. The man in the middle must have
(A) no other men to his right
(B) no women to his left
(C) a man to his right and to his left
(D) other men next to him
(E) no women to his right

4. Without violating the given information, wishing to change
seats with a man, a woman must
(A) be initially seated at either end
(B) remain where she is
(C) switch with the man in the middle
(D) ask another woman to also switch her seat
(E) add more people to the row

Answers and Explanations

For this type of question, draw diagrams or make charts to gather
information for your answers. Even a partial chart will help more
than no chart at all. For this problem, we first number seven spaces.

1 2 3 4 5 6 7
Then place a woman at either end.

1 2 3 4 5 6 7
W w

Then place a man in the middle.

1 2 3 4 5 6 7
W M W

Then flank the middle man with women.

1 2 3 4 5
w w M W W
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Then add two more men who are also flanked by women.

1 2 3 4 S 6 7
w M w M w M w

Notice that no man is seated next to another man. The chart is
complete. Now you may answer the questions as follows:

2. (C) By referring to the chart, it is evident that there are four
women in the front row.

3. (C) By referring to the chart, you can see that the man in the
middle has a man to his left and to his right but not next to him.

4. (B) Every choice except (B) violates the original information.

Now try the following set.

Questions 5-7

Four stamp dealers (Abby, Baker, Carmen, and David) each
attend a different day of a stamp convention, held Thursday
through Sunday of one week.

Carmen attends earlier than Abby.
David attends later than Baker.

5. Which of the following is a possible order of attendance at the
convention?
(A) Carmen, David, Abby, and Baker
(B) Baker, Carmen, David, and Abby
(C) David, Carmen, Abby, and Baker
(D) Abby, Baker, David, and Carmen
(E) Abby, Carmen, David, and Baker

6. If Carmen attends the convention on Saturday, who must

attend on Thursday?
(A) Abby (D) either Abby or David
(B) Baker (E) either Baker or David

(C) David
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7. Each of the following is possible EXCEPT
(A) Baker attends the convention on Thursday
(B) Carmen attends the convention on Thursday
(C) Abby attends the convention on Sunday
(D) David attends the convention on Saturday
(E) Baker attends the convention on Sunday

Answers and Explanations

You may wish to draw a simple diagram symbolizing the informa-
tion contained in the conditions. Since you know that Carmen
attends earlier than Abby, you might wish to put Carmen some-
where to the left of Abby. (Note that “earlier” does not mean
exactly one day earlier, but rather “‘sometime earlier”):

Thursday  Friday Saturday  Sunday
C = —— A

And since David attends later than Baker:

Thursday  Friday Saturday  Sunday
C = —— A
B = —=~D

Notice that while no exact days can be determined from the
information, you do know that C must be somewhere to the left of A
and that B must be somewhere to the left of D. You can, if you wish,
eliminate some possibilities as impossible, or “rule breakers”:

AP B
Thursday  Friday  Saturday  Sunday
C = - A
B = - D

5. (B) This choice conforms to the conditions. Choices (D) and
(E) violate the first condition. Choices (A) and (C) violate the
second condition.

6. (B) Questions that use conditional information (if, suppose,
given that, assume, etc.) intend that you use that information but
only for that particular question. So, for this question only, if
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Carmen attends on Saturday, Abby must attend on Sunday,
since the first condition states that Carmen attends earlier than
Abby. Since David attends later than Baker, of the remaining
two days, Baker must attend on Thursday, and David must
attend on Friday. Now that you have used the conditional
information included in that question, return to the information
contained only in the original conditions. (Disregard the
information added in the previous question.)

7. (E) Since David attends later than Baker, Baker cannot attend
the convention on Sunday.

Now try this set.

Questions 8-10

Five people are to serve on a committee to choose a new school
principal. W, X, Y, and Z are teachers. S, T, U, and R are parents.
The committee must have at least two parents and at least two
teachers. The committee must conform to the following conditions:

If either W or X serves on the committee, Z will not serve on
the committee.

If S serves on the committee, U will not serve on the
committee.

If U serves on the committee, R must serve on the committee.

8. If Z serves on the committee, which of the following must also
serve on the committee?

1S
1. U
1. Y
(D) Iand Il only
g;; Lo:,lffy (E) L 11, and III

(C) Il only
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9. Which of the following groups could serve as members of the

committee?
(A) S,U,R,W, X (D) SSR,W,X,Z
(B) S, U, W, XY (E) S, T,R, X,Z

(C) S,R,W,X, Y

10. If Z is chosen to serve on the commiittee, each of the following
lists could comprise the other committee members EXCEPT

. Y,§T,R
II. Y,§,U,R
II. Y, T,U,R
(A) Ionly
(B) Il only
(C) Il only
Answers and Explanations

From the information given in the conditions, the following
diagram can be drawn to help you answer the questions:

(D) Iand III only
(E) LI, and III

2 or more 2 or more
Teachers Parents

w S

8. (C) 111 only. If Z serves on the committee, that eliminates W
and X from serving, which leaves Y to serve as the second
teacher on the committee.

9. (C) Choices (A) and (B) violate the second condition. Choices
(D) and (E) violate the first condition.

10. (B) II only. Option II contains S with U, which is a violation of
the second condition. Since the question is phrased in the
negative (EXCEPT), choice (B) is the correct choice.
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Some Analytical Reasoning problems are variations of the types
illustrated thus far. These variations occur in the practice tests in

this book and are fully explained in the answers section. Review
them carefully.

A PATTERNED PLAN OF ATTACK

Analytical Reasoning

READ given information
CAREFULLY.

UNDERLINE, CIRCLE, OF MARK
important information.

DRAW simple diagrams, charts,
and/ or figures, if possible.

FiLL IN as much of the chart
or diagram as possible, quickly.
Then start the questions.

DON'T spend excessive time
trying to complete the chart or
diagram. it may not be possible
or necessary.

skip questions that seem too
difficult or confusing.
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LOGICAL REASONING

There are usually six logical reasoning questions included within
each Analytical Ability section.

Ability Tested

These questions test your ability to read and understand the logic
presented in brief passages, statements, or conversations.

Basic Skills Necessary

Candidates who read critically and understand simple logic and
reasoning do well on these questions. The ability to isolate the key
point and to be able to identify supporting, weakening, and
irrelevant issues is important.

Directions

The general directions are as follows: The following questions or
group of questions are based on a passage or set of statements.
Choose the best answer for each question and blacken the corre-
sponding space on your answer sheet. It may be helpful to draw
rough diagrams or simple charts in attempting to answer these
question types.

Analysis

As you read the brief passage, you must follow the line of
reasoning using only common-sense standards of logic. No knowl-
edge of formal logic is required. Then you must choose the best
answer, realizing that several choices may be possible, but only one
will be best.

Rely on common sense. No special expertise is necessary.

Use only what is presented or implied by the passage. Do not
make “large leaps in logic” in order to arrive at an answer choice.
Don’t “read in” what isn’t there.

Choose the best answer choice. The test makers strongly imply
that there may be more than one good answer.
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Suggested Approach with Samples
* Read the questions first, but don’t preread the answer choices.

Each brief passage will be followed by a question or questions.
Reading the question first, before reading the passage, enables
you to focus on the elements of the passage essential to the
question. Don’t, however, preread the answer choices. Since four
of the five choices are incorrect, scanning the choices introduces
material 80% of which is irrelevant and/or inconsistent and
therefore incorrect. Prereading the choices is not only a waste of
time and energy, it probably will confuse you. Try prereading the
question to the following passage and then reading the passage.

1. That seniors in the inner cities have inadequate health care
available to them is intolerable. The medical facilities in the
urban ghetto rarely contain basic medical supplies, and the
technology in these hospitals is reflective of the 1960s, if that.
Seniors living in the affluent suburbs, however, have available to
them state-of-the-art technology and the latest in medical
advances, drugs, and procedures.

Which of the following best expresses the primary point of the
passage?

(A) Inner-city and suburban seniors should be cared for in
hospitals equidistant from both.

(B) Inner-city seniors should be transported to suburban
hospitals.

(C) Doctors should treat inner-city and suburban seniors
equally.

(D) Better medical care and facilities should be provided for
inner-city seniors.

(E) Inner-city seniors should have the same health care as that
available to suburban seniors.

Prereading the question helps you to read the passage with a
focus. That is, what is the author’s point? The main point will be the
overall thrust of the entire passage.

The major issue here is health care, and the author’s point is that
inner-city seniors should have health care better than that avail-
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able to them now. The heavily charged word intolerable in the first
sentence indicates that the author feels strongly that inadequate
health care for inner-city seniors is not sufficient. Better (to be
precise, adequate) care should be provided. Choice (D) is the best
answer.

Notice that while a comparison is made to suburban seniors
having superior health care, no direct argument is made that
inner-city seniors should have the same health care as suburban
seniors. While the superior, state-of-the-art quality of suburban
health care is presented in order to contrast with that of inner-city
health care, it does so simply for that reason: to show how abysmal
inner-city health care is in comparison. But nothing in the passage
directly indicates that health care for inner-city seniors should
necessarily be equivalent with that provided suburban seniors.
Inferring this would be beyond the scope of the passage; choice (E)
as the author’s primary point is incorrect.

Choices (A) and (B) are incorrect because the issues of hospital
relocation and transportation are never raised by the passage. And
choice (C) not only raises the problematic issue of “equal”
treatment (which, as stated above, is not directly indicated in the
passage) but also alters the focus simply to doctors, which in the
context of a passage noting medical facilities, technology, supplies,
etc., is far too narrow.

* Read and analyze all the choices.

Our analysis of this question critically assessed each of the answer
choices. As you work each Logical Reasoning question, you
should be assessing all the choices, eliminating (marking out)
those that are off topic, irrelevant, inconsistent, or beyond the
scope of the passage and retaining (using question marks or
circling the choice’s letter) those you think apply. As mentioned
above, frequently several choices will appear to be correct. You
are to choose the one that answers the question best, that is, the
most directly relevant to the passage.

* Know the common question types.

Many Logical Reasoning questions fall into one of the following
common categories. Identifying a common question type and



74 ANALYSIS OF EXAM AREAS

being familiar with its demands make it easier for you to quickly
cut through the morass of words and assess what’s being asked in
each question.

MAIN IDEA

What is the author’s point? As you've obseverd, main idea can be
expressed as primary point of the passage or author’s primary point. As
in the above example of inner-city health care, you should derive
only what is most directly indicated by the passage. A jump beyond
the scope of the passage will result in an incorrect choice.

Other (but not all the) ways this question type can be asked are:

¢ In the passage above, the author argues that . ..
* The most appropriate title for the passage above is.. . .
» The author’s argument is best expressed as . . .

IMPLICATION/INFERENCE/CONCLUSION/DEDUCTION

The definition of an inference is the next logical step in a line of
reasoning. For example, the statement that only a minority of children
under the age of six have visited a dentist implies that a majority of
children under the age of six have not visited a dentist. Questions
asking for a conclusion or a deduction of an argument require you to
find what necessarily will follow, what must be true, not just what
could be true.

Some other ways this question may be expressed:

* Which of the following may be inferred from the passage?

» If the passage above is true, what must logically follow?

» The passage above implies which of the following?

¢ Based upon the passage above, what can be concluded?

* Which of the following is the best completion of the statement?
(with a blank following the passage)

HOW MORE INFORMATION AFFECTS THE STATEMENT

Usually phrased as strengthens, weakens, or which of the following
is relevant, this type asks how new information in the answer choices
would affect the argument. For example:
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2. Research finds that children of smoking parents have lower test
scores than do children of nonsmokers. Therefore, second-
hand cigarette smoke is a cause of lower test scores.

Which of the following, if true, would weaken the conclusion
above?

(A) A disproportionately high number of cigarette-smoking
parents live in states where the school systems are consid-
ered inferior.

Notice how this choice would weaken the conclusion. A similar
question might have asked for information that would strengthen
the argument (instead of weaken) or for information that would be
relevant to the argument (either strengthen or weaken).

Notice that this question type may contain the words if frue. That
means that you should accept all the answer choices as being true;
do not challenge their reasonableness or the possibility of their
truthfulness. Rather, accept all choices as true and, from there,
decide which would strengthen or weaken the argument, whichever
the question requires.

Some other ways this question type may be expressed:

* Which of the following, if true, would damage the logic of the
passage?

¢ Which of the following, if true, would support the argument?

¢ Which of the following would confirm the author’s conclusion?

e Which of the following would undermine the argument?

METHOD OF ARGUMENT

What technique does the author use to make the point? For
example, the passage may use a generalization to prove a specific
point. Or vice versa. Or it may use an analogy (comparison). Or it
may present a conclusion without adequately supporting it. Or it
may contradict its original premise within the passage. There are
endless variations in ways a line of reasoning can be correctly, or
incorrectly, structured.

You should be aware that for this type of question, the correct-
ness of the reasoning may be unimportant. You are being asked
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simply to describe in structural terms how the author has set up the
argument.
Some of the ways this type may be expressed;

* The author makes his or her point primarily by . . .
* The author uses which of the following methods of persuasion?
* In the passage above, the author does which of the following?

OTHER TYPES

Other Logical Reasoning questions may appear on your Analyti-
cal Ability section (identify a flaw, best completion to the passage,
etc.). The list above of major types does not imply that these are the
only types appearing on the test.

A PATTERNED PLAN OF ATTACK
Logical Reasoning

PREREAD the question,
circLING the key words.

READ the passage, FOCUSING on
elements important to the

question posed.

READ the question again. ]

ANaLYZE the answer choices
ELIMINATING (Crossing out)
those that are irrelevant,
inconsistent, or beyond the
scope of the passage.

CHOOSE THE BEST of any
remaining answer choices.




Part I1l: Practice-Review-Analyze-Practice

Three Full-Length Practice Tests

This section contains three full-length practice simulation GREs.
The practice tests are followed by complete answers, explanations,
and analysis techniques. The format, levels of difficulty, question
structure, and number of questions are similar to those on the
actual GRE. The actual GRE is copyrighted and many not be
duplicated and these questions are not taken directly from the
actual tests.

When taking these exams, try to simulate the test conditions by
following the time allotments carefully. Remember the total testing
time for each practice test is approximately 3% hours and each
section is 30 minutes.






Section I
Section II:
Section II:
Section IV:
Section V:
Section VI:
Section VII:

PRACTICE TEST 1

Verbal Ability—30 Minutes; 39 Questions
Quantitative Ability—30 Minutes; 30 Questions
Analytical Ability—30 Minutes; 25 Questions
Quantitative Ability—30 Minutes; 30 Questions
Verbal Ability—30 Minutes; 37 Questions
Analytical Ability—30 Minutes; 25 Questions
Quantitative Ability—30 Minutes; 30 Questions
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SECTION I: VERBAL ABILITY

Time: 30 Minutes
39 Questions

In this section, choose the best answer for each question and
blacken the corresponding space on the answer sheet.

Sentence Completion

DIRECTIONS

Each blank in the following sentences indicates that something
has been omitted. Considering the lettered words beneath the
sentence, choose the word or set of words that best fits the whole
sentence.

1. Although the thirteen-year-oldboysgrew _______under the
teacher’s new discipline policy, the girlsseemed ________ by
it.

(A) anxious. .. intimidated

(B) argumentative . . . frustrated
(C) restive . . . unperturbed

(D) remorseful . . . enchanted
(E) taciturn. .. attracted

2. The New Testament was written in the Greek language, and

ideas derived from Greek philosophywere __________ in many
parts of it.

(A) altered (D) nullified

(B) criticized (E) translated

(C) incorporated

3. President Eisenhower was widely __________ for refusing to
—theexcesses of the loathed Senator McCarthy.
(A) applauded. .. implement
(B) chagrined . .. prevent
(C) criticized. . . curb
(D) condemned . .. promote
(E) supported .. . ostracize
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. During the Pax Romana the _________ of material prosperity
in the ancient world was reached.
(A) simplification (D) depth
(B) stratification (E) pinnacle

(C) majority

. Withhercustomary__________, the Queen replied to reporters

only with a smile, but the President happily about
what a good time he was having.

(A) aplomb ... objected

(B) reticence . .. exclaimed

(C) choler .. . spoke

(D) tact...grumbled

(E) volubility . . . gushed

Rite of Passage is a good novel by any standards; it
should rank high on any list of science fiction.

(A) consistently (D) consequently

(B) invariably (E) fortunately

(C) lingeringly

. After years of unchecked exploitation of its natural resources,

the state, predictably, has _____ the population of its
native plants and animals.
(A) stymied (D) normalized
(B) increased (E) decimated
(C) reduced

. When finishing an essay, do not end witha(n) _________ for
not having said anything, or with a(n) ______ statement

about the unfairly small time period.
(A) flourish ... unwarranted

(B) ellipsis . .. analogical

(C) apology . . . indignant

(D) smirk. .. silly

(E) excuse ... political
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Analogies

DIRECTIONS

In each question below, you are given a related pair of words or
phrases. Select the lettered pair that best expresses a relationship
similar to that in the original pair of words.

9. INITIATE : END ::
(A) attend : ignore (D) infer : imply
(B) inure : harden (E) require : insure
(C) remain : retreat

10. CHEF : RECIPE =
(A) carpenter : tool (D) novelist : story
(B) farmer : seed (E) musician : score
(C) saleswoman : pitch

11. PHOTOSYNTHESIS : OXYGEN ::
(A) camera : photograph (D) plant : light
(B) combustion : heat (E) inhalation : health
(C) past : present

12. PLAN : SCHEME ::
(A) antiquity : age (D) assignment : task
(B) avoidance : evasion (E) prison : jail
(C) statesman : politician

13. TAPESTRY : LOOM ::
(A) film : screen (D) watercolor : mat
(B) map : legend (E) symphony : orchestra
(C) painting : easel

14. OSSIFY : BONE ::
(A) refine : ore (D) swear : allegiance
(B) evaporate : water (E) petrify : fear
(C) pulverize : dust
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15. TEDIOUS : BOREDOM ::
(A) garrulous : misunderstanding
(B) sinuous : obscenity
(C) enigmatic : uncertainty
(D) tendentious : uplift
(E) youthful : rejuvenation

16. GROVEL : SERVILE :
(A) boast : opportunistic (D) foresee : prescient
(B) risk : fortuitous (E) neglect : indiscriminate
(C) denigrate : ironic

17. BANTER : PERSIFLAGE ::

(A) similarity : analogy (D) talk: poetry
(B) ambiquity : anticlimax (E) cliche : epigram
(C) simile : euphemism

Reading Comprehension

DIRECTIONS

Questions follow each of the passages below. Using only the
stated or implied information in each passage, answer the ques-
tions.

I saw the spot where a cluster of trees once waved their
branches on the shores of the Atlantic, when that ocean (now
driven back seven hundred miles) came to the foot of the
Andes. I saw that they had sprung from a volcanic soil which
had been raised above the level of the sea, and that subse-
quently this dry land, with its upright trees, had been let down
into the depths of the ocean. In these depths the formerly dry
land was covered by sedimentary beds, and these again by
enormous streams of submarine lava—one such mass attaining
the thickness of a thousand feet; and these deluges of molten
stone and aqueous deposits five times alternately had been
spread out. The ocean which received such thick masses must
have been profoundly deep; but again the subterranean volca-
nic forces exerted themselves, and I now beheld the bed of that



18

19.

20.

SECTION 1: VERBAL ABILITY 89

ocean, forming a chain of mountains more than seven thousand
feet in height. The great piles of strata had been intersected by
many wide valleys, and the trees, now changed into silica, were
exposed projecting from the volcanic soil, now changed into
rock, whence formerly, in a green and budding state, they had
raised their lofty heads. Now, all is utterly irreclaimable and
desert; even the lichen cannot adhere to the stony casts of
former trees. Vast as such changes must ever appear, yet they
have all occurred within a period recent when compared with
many of the fossiliferous strata of Europe and America.

. The author is primarily concerned with
(A) formulating a theory to account for the formation of
petrified trees
(B) describing the geography of South America
(C) describing the formation of the Andes mountains
(D) attesting to the power of volcanic action
(E) explaining the history of fossils

According to the passage, which of the following is (are) true of
the Andes?

1. They were once located on the shores of the ocean.
I1. They were once part of the ocean floor.
II1. They are among the most ancient of the earth’s mountain

ranges.
(A) Ionly (D) IandII only
(B) Honly (E) II and I1I only

(C) Il only

That this passage was written in the nineteenth century rather

than by a contemporary scientist is suggested by the

(A) use of figurative language in such phrases as trees . . . had
raised their lofty heads

(B) oblique references to religion throughout the passage

(C) use of reasoning from cause and effect

(D) comparison of one geological area with another as in the
last sentence

(E) use of such terms as volcanic, sedimentary, and strata
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21. The speaker’s response to the geological events described in
this passage may be best described as
(A) cooly scientific
(B) uncomprehending bafflement
(C) studied indifference
(D) genuine astonishment
(E) guarded skepticism

When the new discipline of social psychology was born at the
beginning of this century, its first experiments was essentially
adaptations of the suggestion demonstration. The technique
generally followed a simple plan. The subjects, usually college
students, were asked to give their opinions or preferences
concerning various matters; some time later they were again
asked to state their choices, but now they were also informed of
the opinions held by authorities or large groups of their peers
on the same matters. (Often the alleged consensus was
fictitious.) Most of these studies had substantially the same
result: confronted with opinions contrary to their own, many
subjects apparently shifted their judgments in the direction of
the views of the majorities or the experts. The late psychologist
Edward L. Thorndike reported that he had succeeded in
modifying the esthetic preferences of adults by this procedure.
Other psychologists reported that people’s evaluations of the
merit of a literary passage could be raised or lowered by
ascribing the passage to different authors. Apparently the
sheer weight of numbers or authority sufficed to change
opinions, even when no arguments for the opinions themselves
were provided.

Now the very ease of success in these experiments arouses
suspicion. Did the subjects actually change their opinions, or
were the experimental victories scored only on paper? On
grounds of common sense, one must question whether opinions
are generally as watery as these studies indicate. There is some
reason to wonder whether it was not the investigators who, in
their enthusiasm for a theory, were suggestible, and whether
the ostensibly gullible subjects were not providing answers
which they thought good subjects were expected to give.
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The investigations were guided by certain underlying assump-
tions, which today are common currency and account for much
that is thought and said about the operations of propaganda
and public opinion. The assumptions are that people submit
uncritically and painlessly to external manipulation by sugges-
tion or prestige, and that any given idea or value can be “sold”
or “unsold” without reference to its merits. We should be
skeptical, however, of the supposition that the power of social
pressure necessarily implies uncritical submission to it; indepen-
dence and the capacity to rise above group passion are also
open to human beings. Further, one may question on psycholog-
ical grounds whether it is possible as a rule to change a person’s
judgment of a situation or an object without first changing his
knowledge or assumptions about it.

22. The first experiments in social psychology appeared to demon-

strate all of the following EXCEPT

(A) that many people will agree with what they believe to be
the opinion held by the majority of their peers

(B) that many people will agree with what they believe to be
the opinion of experts

(C) that many people change their opinions given good argu-
ments for doing so

(D) that an individual’s evaluation of a literary work can be
altered by ascribing the work to a different writer

(E) that college students’ opinions can be changed

23. According to the second paragraph, persons who first claimed
to dislike a poem but changed their opinion when told the poem
had been written by Shakespeare
(A) may really like the poetry better because Shakespeare
wrote it

(B) may like the poetry better because Shakespeare is a highly
regarded writer

(C) are likely to be equally insecure in their evaluation of
paintings or sculpture

(D) may have changed their minds because they think the
answer is expected

(E) may be saying they have changed their minds though, in
fact, they have no opinion
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25.

26.

27.
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The author cites the work of Edward L. Thorndike as an
example of

L. an alleged instance of the selling of an idea
II. a pioneering social psychology study confirmed by the work
of contemporary research
III. the studies that demonstrated the willingness of subjects to
change their views on matters of esthetic preference

(A) Honly (D) I1 and I1I only
(B) Iand Il only (E) L 11, and 111
(C) Iand IH only

The author implies that persons who altered their opinion on a
controversial topic have most likely done so because they

(A) have been influenced by overt social pressures

(B) have been influenced by covert external manipulation

(C) have learned more about the topic

(D) have learned how experts judge the topic

(E) are incapable of independent thought

The main point of the passage is to

(A) question some assumptions about the influence of social
pressures

(B) show that a judgment of a situation cannot change without
a change in the knowledge of the situation

(C) demonstrate the gullibility of psychological investigators
and their subjects

(D) question the notion that any idea can be ‘“sold” or
“unsold”

(E) support investigations into ideas of propaganda

With which of the following ideas would the author be most

likely to agree?

(A) Human beings can be programmed like machines.

(B) Women are more likely to agree with men than with other
women.

(C) Women are more likely to agree with other women than
with men.

(D) Like men, women are capable of independent thought.

(E) Like women, men submit uncritically to external manipula-
tion.
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28. Which of the following best describes how the passage is

organized?

(A) The ideas of the first paragraph are supported in the
second and third paragraphs.

(B) The ideas of the first paragraph are questioned in the
second and third paragraphs.

(C) The specific details of the first and second paragraphs are
generalized in the third paragraph.

(D) The first paragraph is concrete, while the second and third
paragraphs are abstract.

(E) Only the first paragraph uses figurative language.

Antonyms

DIRECTIONS

Each word in CAPITAL LETTERS is followed by five words or
phrases. The correct choice is the word or phrase whose meaning is
most nearly opposite to the meaning of the word in capitals. You
may be required to distinguish fine shades of meaning. Look at all
choices before marking your answer.

29. MITIGATED
(A) repeated (D) raised
(B) aggravated (E) declined
(C) terminated

30. PROSELYTE

(A) neophyte (D) apostate
(B) electrolyte (E) renegade
(C) delegate
31. CLOY
(A) deny (D) flay
(B) refuse (E) glut
(C) club
32. RESUSCITATE
(A) succumb (D) kill
(B) crush (E) succeed

(C) flatten
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33. RUSTICATED
(A) deteriorated (D) repatriated
(B) urban (E) emaciated
(C) domesticated
34. PENURY
(A) wealth (D) impenetrability

(B) penance
(C) pensiveness

(E) indifference

35. LACONIC
(A) compendious (D) lethargic
(B) obtrusive (E) creative
(C) verbose

36. MORIBUND
(A) spiritual (D) progressive
(B) eternal (E) faded
(C) extant

37. INEFFABLE
(A) dictatable (D) definable
(B) separable (E) ethereal
(C) cogent

38. ERSATZ
(A) serious (D) genuine
(B) separate (E) modest
(C) stable

39. ESTHETICISM

(A) tastelessness
(B) formlessness
(C) pragmatism

(D) resolution
(E) enthusiasm

STOP. IF YOU FINISH BEFORE TIME IS CALLED, CHECK
YOUR WORK ON THIS SECTION ONLY. DO NOT WORK
ON ANY OTHER SECTION IN THE TEST.



SECTION II: QUANTITATIVE ABILITY

Time: 30 Minutes
30 Questions

Quantitative Comparison
DIRECTIONS

In this section you will be given two quantities, one in column A
and one in column B. You are to determine a relationship between
the two quantities and mark

(A) if the quantity in column A is greater than the quantity in

column B
(B) if the quantity in column B is greater than the quantity in
column A

(C) if the quantities are equal

(D) if the comparison cannot be determined from the informa-

tion that is given

Common Information:
Information centered above both columns refers to one or both
columns.
All numbers used are real numbers.
Figures are intended to provide useful positional information,
but are not necessarily drawn to scale and should not be used to
estimate sizes by measurement.
Lines that appear straight can be assumed to be straight.

Column A Column B
1. F¥+4x100 -4 P -4x10° -4
x* =36
2 6 X
Attt
-2 'y 0 x z 3

X, y, Z, are integers

95
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Column A Column B
"
XO yO
/\ ’
{s
4 X y
x>0
5 3x? %
x is 30% of 60
20% of y is 4
6. X y

Questions 7-8 refer to the diagram.

g2°
3 3
yO
X

7. X 3\2
8. y 43°
9. Number of integer multi- Number of integer multi-

ples of 8, greater than 8, but ples of 6, greater than 6, but

less than 50 less than 40

1 1 1 1 1
10 1+5+5+—+5+ 2

2 4 16 32 o4
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Column A Column B
0<x+y<2

11. X y

12. Volume of cube with side 6 Volume of rectangular
prism with two dimensions
less than 6

¥+2x+1-0 y-2y+1=0
13. X y
14. 8% — 8% 8%
x>y>0

15. \/)—(—\/; X—y

Math Ability

DIRECTIONS

Solve each problem in this section by using the information given
and your own mathematical calculations. Then select the one
correct answer of the five choices given. Use the available space on
the page for scratchwork. NOTE: Some problems may be accompa-
nied by figures or diagrams. These figures are drawn as accurately as
possible, except when it is stated in a specific problem that the figure
is not drawn to scale. The figure is meant to provide information
useful in solving the problem or problems. Unless otherwise stated
or indicated, all figures lie in a plane. All numbers used are real
numbers.

16. What is .25% of 12?
(A) %o (D) 3
(B) %o (E) 300
(C) »
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17. If2/x = 4and if 2/y = 8, thenx — y =

18.

19.

20.

(A) % (D) 4
(B) % (E) 24
(©) %

Bob is older than Jane, but he is younger than Jim. If Bob’s age
is b, Jane’s age is ¢, and Jim’s age is d, then which of the
following is true?

(A) c<b<«d MD)c<d<b
gg;g<3<d (E)d<c<b
<d<c

In the figure, all line segments meet at right angles, and each
segment has a length of x. What is the area of the figure in terms
of x?

(A) 25¢ (D) 41x°
& o (B) 45¢

What is the area of a square inscribed in a circle whose
circumference is 16w?

(A) 8 (D) 128

(B) 32 (E) 256

(C) 64
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Questions 21-25 refer to the graph.

Temperature

21

22.

Maximum Temperature Readings
Los Angeles: July 10-16, 1979

100 —1L
98 +
96 +
9 +

92 4
\ 50 year
90 + average
1925-1975

8 +—

84

82 1+

] e R y 4 Il
1 T L) T ¥ T

10 11 12 13 14 15 16
Date

. Of the seven dates shown, what percent of the days did the

maximum readings for 1979 exceed the 50-year average temper-
ature?

(A) 3 (D) 43
(B) 4 (E) 57
)7

What was the percent increase in the maximum temperature
from July 12 to July 14, 1979?

(A) 10 (D) 84

(B) 10.6 (E) 94

(C) 11.9
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23. Of the following, the greatest difference in Los Angeles
temperatures between the 50-year average (1925-1975) and the
maximum readings from July 10 to 16, 1979, was on which date?

(A) July 10 (D) July 15
Eg; iu}y 1§ (E) July 16
uly1

24. The average temperature for Los Angeles during the week of
July 10 to 16, 1979, was approximately
(A) 84 degrees (D) 92 degrees
(B) 86 degrees (E) cannot be determined
(C) 89 degrees

25. According to the graph, the average maximum temperature in

Los Angeles for the week of July 10 to 16, 1979, was

(A) much less than the 50-year average for 1925-1975

(B) approximately equal to the 50-year average for 1925-1975

(C) much greater than the 50-year average for 1925-1975

(D) greater than any individual maximum reading for all dates
given

(E) less than any individual maximum reading for all dates
given

yO xO

v

-
<

26. Ifin the figure x = %4y, theny =
(A) 36 (D) 144
(B) 72 (E) cannot be determined
(C) 108
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In A XYZ, points M, N, and P are midpoints. If XY = 10, YZ =

15, and XZ = 17, what is the perimeter of A MNP?

(A) 10% (D) 21

(B) 14 (E) cannot be determined

(C) 16

If a and b are integers, which of the following conditions is
2 _ R

sufficient for a—p ~ 2 + b to be true?

(A)a>0 D)yb>0

(B)a<0 (E)b< O

(C)a>b

A bus leaves from Burbank at 9:00 A.M., traveling east at 50

miles per hour. At 1:00 p.M. a plane leaves Burbank traveling
east at 300 miles per hour. At what time will the plane overtake
the bus?

(A) 12:45p.M. (D) 1:48p.M.
(B) 1:10p.M. (E) 1:55p.Mm.
(C) 1:40pP.M.
If the average of two numbers is y, and one of the numbers is
equal to z, then the other number is equal to
(A) 22~y D) 2y-z
y+z
(B) 2 (E)y+2z
©)z-y

STOP. IF YOU FINISH BEFORE TIME IS CALLED, CHECK
YOUR WORK ON THIS SECTION ONLY. DO NOT WORK
ON ANY OTHER SECTION IN THE TEST.
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Time: 30 Minutes
25 Questions

DIRECTIONS

The following questions or group of questions are based on a
passage or set of statements. Choose the best answer for each
question and blacken the corresponding space on your answer
sheet. It may be helpful to draw rough diagrams or simple charts in
attempting to answer these question types.

Questions 1-6

Results were posted in 1975 and 1990 for eight dental patients:
Quincy, Sonntag, Tav, Ulmer, Vinton, Waud, Yu, and Zimino.

In 1975, Ulmer’s cavities outnumbered Vinton’s cavities and
outnumbered Yu’s cavities; in 1990, Vinton’s cavities outnum-
bered Zimino’s cavities and outnumbered Tav’s cavities.

In 1975, Zimino’s cavities outnumbered Tav’s cavities; in 1990,
Zimino’s cavities outnumbered Waud’s cavities.

In 1975, Yu’s cavities outnumbered Sonntag’s cavities; in 1990,
Waud’s cavities outnumbered Yu’s cavities.

In 1975, Waud’s cavities outnumbered Ulmer’s cavities and
outnumbered Zimino’s cavities; in 1990; Tav’s cavities outnum-
bered Sonntag’s cavities and outnumbered Ulmer’s cavities.

1. Of the following, who could NOT have had the fewest number
of cavities in either year, 1975 or 19907

(A) Tav (D) Yu
(B) Ulmer (E) Zimino
(C) Vinton

2. A complete and accurate listing of those who could have had
the fourth lowest number of cavities in 1990 would include
(A) Quincy, Sonntag, and Waud
(B) Quincy, Sonntag, Ulmer, and Waud
(C) Quincy, Sonntag, Tav, Ulmer, and Waud
(D) Quincy, Sonntag, Ulmer, Waud, Yu, and Zimino
(E) Quincy, Sonntag, Tav, Ulmer, Waud, Yu, and Zimino

102
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3. Ulmer’s number of cavities must have been greater than Yu’s in
1990 if, in 1990,
(A) Quincy had more cavities than Waud
(B) Waud had more cavities than Sonntag
(C) Tav had more cavities than Waud
(D) Waud had more cavities than Ulmer
(E) Ulmer had more cavities than Waud

4. Which of the following must be true?

I. Waud’s cavities in 1975 and 1990 outnumbered Ulmer’s
cavities in those years.
I1. Waud’s cavities in 1975 and 1990 outnumbered Yu’s cavi-

ties in those years.

III. Quincy’s cavities in 1975 and 1990 outnumbered Sonntag’s
cavities in those years.

(A) Lonly (B) 111 ana 1}

(B) I only 7Y

(C) I only

5. Suppose each patient’s cavities are totaled for the two years,
1975 and 1990. Which must be true?
(A) Waud’s total cavities are more than Quincy’s total.
(B) Ulmer’s total cavities are more than Sonntag’s total.
(C) Tav’s total cavities are more than Sonntag’s total.
(D) Waud’s total cavities are more than Yu’s total.
(E) Zimino’s total cavities are more than Yu’s total.

6. Disregarding Quincy, suppose three patients had the same
number for the fewest cavities in 1975, and three patients had
the same number for the fewest cavities in 1990. Who must have
had the fewest total cavities in 1975 and 1990 combined?

(A) Sonntag (D) Vinton
(B) Tav (E) Yu
(C) Ulmer
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Questions 7-9

Five men (Frank, George, Harry, Irving, and Jack) and five
women (Karla, Laurie, Marie, Olivia, and Polly) are seated at a
round table with eleven seats.

None of the women are sitting in a seat adjacent to another
woman.

Karla sits between Frank and George, and next to each of
them.

Jack does not sit next to Irving.

7. Which of the following is a possible seating order around the

table?

(A) empty seat, Frank, Karla, George, Laurie, Olivia, Harry,
Irving, Polly, Jack, Marie

(B) empty seat, Frank, Karla, George, Laurie, Jack, Polly,
Olivia, Irving, Marie, Harry

(C) empty seat, Frank, Karla, George, Laurie, Olivia, Jack,
Polly, Irving, Marie, Harry

(D) empty seat, Olivia, Frank. Karla, George, Laurie, Jack,
Irving, Polly, Harry, Marie

(E) empty seat, Marie, Frank, Karla, George, Laurie, Jack,
Polly, Irving, Olivia, Harry

8. If Laurie, Harry, Marie, Jack, and George are seated in that

order, which of the following is a correct completion of the
seating order after George?
(A) Karla, Frank, Olivia, Irving, Polly, empty seat
(B) Karla, Frank, Irving, Olivia, empty seat, Polly
(C) Frank, Polly, Karla, Irving, Olivia, empty seat
(D) Karla, Frank, Polly, Irving, empty seat, Olivia
(E) Karla, Frank, Olivia, Jack, Polly, Irving
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If no man is sitting next to another man and all original

conditions remain the same, which of the following is a possible

seating order?

(A) Laurie, Jack, Marie, Harry, Karla, Frank, Polly, George,
Olivia, empty seat, Irving

(B) Laurie, Jack, Marie, empty seat, Karla, Frank, Polly,
Irving, George, Olivia, Harry

(C) Laurie, Jack, Marie, empty seat, Harry, Karla, Frank,
Polly, Irving, Olivia, George

(D) Laurie, Jack, Marie, George, Karla, Frank, Polly, Irving,
Olivia, empty seat, Harry

(E) Laurie, Jack, Marie, Harry, Frank, Karla, George, Polly,
Irving, Olivia, empty seat

Studies on animals done in the 1930s indicate that stomach
juices were the controlling cue for eating. However, this was
later contested by researchers noting that animals without
stomachs have normal eating habits. Subsequent work done in
the 1960s indicated that an “eating center” in the brain controls
hunger. More recent work suggests the presence of specific
hungers for materials lacking in a given diet; for example,
wolves put on low-calcium diets will seek out and eat bones.

In the passage above, the author

1. favors one theory over two others by citing specific evi-
dence to show its superiority
II. cites no important differences among the major findings
cited and their implications
III. presents conflicting information from different studies
without favoring any particular theory

(A) lonly (D) Iand Il only
(B) Il only (E) II and III only
(C) I only
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The United Greetings Company has discovered that 85% of the
artists in a randomly chosen group who worked a ten-hour-per-
day, four-day week produced 20% more greeting cards in a
month than those employees who worked the traditional
five-day, eight-hour-per-day schedule. The same 85% who
produced more greeting cards were those in the group who
preferred the four-day schedule. The other 15% produced
fewer cards per month than those on the five-day schedule.

On the basis of these results, which of the following is likely to
produce the greatest increase in the productivity of the work-
ers?

(A) The company will use only a ten-hour, four-day work
schedule for 85% of its workers.

(B) The company will use a ten-hour, four-day work schedule
for 85% of its workers.

(C) The company will use only eight-hour, five-day work
schedules.

(D) The company will allow workers to choose between a
four-day and a five-day schedule.

(E) The company will use a four-day and a five-day work
schedule in alternate weeks.

Superpersonal awareness (SA) refers to the extraordinary
ability of some persons to apparently circumvent normal
intellectual and informational techniques and instead acquire
knowledge by intuitive means. The three phenomena identified
as components of SA are recognition (familiarity with the
object), intuition (knowledge of information not directly through
the five senses), and abstraction (the ability to realize concrete
elements based upon other symbolic elements). All evidence
for these components of SA is for the most part dependent
upon unusual statistical information that requires a great
number of trials for weak returns under nonreproducible
conditions.

The author of the passage above assumes which of the follow-
ing?
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(A) Superpersonal awareness may consist of more than the
three phenomena mentioned.

(B) Perception-cognition studies are normally conducted un-
der rigorous controls and specifications.

(C) Much evidence has been gathered from unusual events to
support the existence of superpersonal awareness.

(D) Large numbers of trials have produced evidence which
circumvents normal sensory channels.

(E) A basis for scientific proof requires significant results from
repeatable, controlled experiments.

Questions 13-17

Six commuter trains depart, one every hour on the hour. Of the
six, three are express trains (the Streamliner, the Coast, and the
Flyer) and three are local trains (the Arrow, the Beamer, and the
Zephyr). Four commuters (Jackson, Klein, Landau, and Morris)
each ride a different train. The following is always true:

The first train departs at 5 A.M. and the last train departs at 10
AM.

Each train departs at a different hour, and the express trains
depart only at odd-numbered hours.

The Zephyr departs earlier than the Coast.

If the Coast departs at 7 A.M., then the Streamliner departs at 5
AM.

Klein’s train departs at 7 A.M.; Morris rides the Beamer, which
departs at 10 A.M.

Jackson’s train departs before Klein’s, and Landau’s train
departs after Klein’s.

13. Which of the following time intervals is possible between the
departure of Jackson’s train and the departure of Landau’s
train?

I. exactly two hours
II. exactly three hours
HI. exactly four hours

(A) Tonly (D) II and 111 only
(B) Iand I only (E) LI, and 111
(C) Iand III only
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14. Of the following, which could be the daily schedule of depar-
tures, from earliest to latest?
(A) Coast, Arrow, Streamliner, Zephyr, Flyer, Beamer
(B) Streamliner, Zephyr, Coast, Arrow, Flyer, Beamer
(C) Flyer, Zephyr, Coast, Arrow, Streamliner, Beamer
(D) Streamliner, Zephyr, Arrow, Coast, Flyer, Beamer
(E) Beamer, Arrow, Coast, Zephyr, Streamliner, Flyer

15. Given the information that Klein rides the Streamliner, then
which must be true?
(A) Jackson rides the Flyer.
(B) Landau rides the Coast.
(C) The Arrow departs at 8 A.M.
(D) The Zephyr departs at 6 A.M.
(E) The Coast departs at 9 A.M.

16. Which of the following is a complete and accurate listing of the
trains which CANNOT be scheduled for 6 A.M.?
(A) Arrow, Zephyr, Beamer
(B) Arrow, Streamliner, Beamer
(C) Flyer, Zephyr, Beamer
(D) Flyer, Streamliner, Coast, Beamer
(E) Flyer, Streamliner, Coast, Zephyr, Beamer

17. Suppose the schedule is altered and trains depart two hours
apart, with Morris departing on the final train, the Beamer, at 3
p.M. If all other restrictions remain the same, all of the following
would be possibie EXCEPT
(A) Klein rides the Coast
(B) Landau’s train departs at 9 A.M.

(C) Landau’s train departs at 11 A.M.
(D) Landau’s train departs at 1 p.M.
(E) Jackson rides the Zephyr

Questions 18-22

In order to reduce serious injuries, the Boxing Commission
establishes new rules for a boxing match:
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Two boxers begin with the first round and fight until all ten
rounds are fought or until someone wins the match.

A total of three points is awarded in each round. The winner of
each round is the boxer to score at least two of the three points
awarded in that round.

A boxer cannot receive a fraction of a point, so a tie score in
any one round is not possible.

If a fighter wins three consecutive rounds, the fight is over and
the winner of those three rounds wins the match.

If no fighter wins three consecutive rounds, whoever has the
most points after the tenth round wins the match.

In any match between Stuart and Riley, it is observed that the
winner of any round always earns at least one point in the next
round.

18. Suppose Stuart wins the first and second rounds. If Riley wins
the sixth round, it must be true that Riley wins
(A) exactly three points in the fourth round
(B) at least two points in the fourth round
(C) at least one point in the fourth round
(D) exactly one point in the fourth round
(E) no points in the fourth round

19. Suppose Stuart loses in the eighth round and the match is
therefore over. What is the greatest total number of points that
he could have won in all the rounds fought?

(A) 13 (D) 16
(© 15 =

20. Suppose Stuart loses the fourth round and the match is
therefore over. What is the least number of points that Stuart
must have won in all the rounds fought?

(A) 1 (D) 4
(B) 2 (E) 5
©3
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Suppose Stuart wins the first and third rounds and Riley wins
the sixth and seventh rounds. If Stuart wins the match, then
Riley could NOT have had a total of

(A) 10 (D) 13
8 ©

If Stuart wins only three of the rounds but the match goes the
full ten rounds, it must be true that Stuart wins

1. the third round
I1. the sixth round
II1. the ninth round

(A) Ionly (D) L 11, and I11
(B) 1l only (E) none of these
(C) Il only

For more than a hundred years, entomologists have believed
that viceroy butterflies mimic the coloration of the queen and
monarch butterflies to avoid being eaten by birds which avoid
the bad-tasting queens and monarchs. But recent experiments
have demonstrated that the monarch and the viceroy are
equally repellent to birds, while the queen butterfly is somewhat
more palatable.

All of the following would be logical conclusions of this passage
EXCEPT

(A) scientists are now wondering why the belief that the
viceroy imitated the monarch and queen butterflies was
never tested before

(B) the conclusions astonished those entomologists who be-
lieved that an unprotected species will develop its own
defenses rather than simply imitate the appearance of
another

(C) the results support the scientists who believe mimicry is
rare

(D) mimicry of the sort the viceroy was supposed to exemplify
is probably less common than has been believed

(E) the many textbooks that use the viceroy butterfly to
illustrate protective mimicry will have to be revised
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24. American toothpaste recently conducted a survey to determine
how well American was doing in comparison with its nearest
competitor, National toothpaste. The results of the survey
found that of the 2135 polled, 70% of the respondents regularly
purchase American toothpaste, 28% of the respondents regu-
larly purchase American’s nearest competitor, National tooth-
paste, and 18% of the respondents regularly purchase a third
brand and distant competitor, Brighten toothpaste.

If the survey conducted by American toothpaste is correct, it
can be inferred that

(A) not all the respondents questioned in the poll regularly
purchase toothpaste

(B) some of the brands of toothpaste that were regularly
purchased must have been both American and National

(C) some of the respondents of the poll must have answered
incorrectly or dishonestly

(D) some of those who regularly purchase American tooth-
paste also regularly purchase National toothpaste

(E) some of the respondents who regularly purchase one brand
of toothpaste also regularly purchase another brand of
toothpaste
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25. Research was recently undertaken in which subjects were
required to indicate which of two sounds was the loudest. In this
simple test, associates of the experimenter, posing as other
subjects, gave a clearly incorrect answer. This provided the real
subject with a dilemma between his or her perception and
desire to conform to the group. The results were dramatic:
yielding to an obviously incorrect answer increased as the
number of opposing persons increased up to five, after which
there was little effect. But when a2 minimum one of the
associates agreed with the subject, yielding behavior sharply
declined, even though the majority was still overwhelmingly
against the subject.

Which of the following best expresses the point of the passage
above?

(A) Asmore and more people disagree with a research subject,
he or she becomes more and more inclined to agree with
the group.

(B) Uncertain tasks often cause confusion in the minds of
subjects faced with uncertain parameters.

(C) Associates should not be allowed to confuse a subject’s
judgment in research studies.

(D) Subjects are seldom sure of their judgment when evaluat-
ing loudness of sounds.

(E) Group pressure may be a strong factor on individual
judgment in situations requiring perception.



SECTION IV: QUANTITATIVE ABILITY

Time: 30 Minutes
30 Questions

Quantitative Comparison
DIRECTIONS

In this section you will be given two quantities, one in column A
and one in column B. You are to determine a relationship between
the two quantities and mark

(A) if the quantity in column A is greater than the quantity in

column B
(B) if the quantity in column B is greater than the quantity in
column A

(C) if the quantities are equal

(D) if the comparison cannot be determined from the informa-

tion that is given

Common Information:
Information centered above both columns refers to one or both
columns.
All numbers used are real numbers.
Figures are intended to provide useful positional information,
but are not necessarily drawn to scale and should not be used to
estimate sizes by measurement.
Lines that appear straight can be assumed to be straight.

Column A Column B
1 2 1
. =X=X= 33x 4x.
1 3X35%3 33 x 4 x.125
2. Area of rectangle with Area of rectangle with
length 8 width 7
3. 35% of 50 50% of 35
a=3b
b=-2
4. a’+b a+b?
ab ab

113
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Column A Column B

5. Number of ways to arrange 12
four books on a shelf

A

6. Number of ways to travel 7
from A to B (without going
over a line more than once
on any one attempt)

7. ) (x¥y?)

Questions 8-9 refer to the diagram.

P(c.d)
)

(-2,2)

Q(e.f)

8. c d

9, c+d e+f

x>0

10. x(x+2)+ (x+2) x+1Dx+3)
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Column A Column B

11. Number of seconds in two Number of hours in 50
hours weeks

12. V3® 27y

Questions 1314 refer to the diagram.

X
30°
Y 2 z
13. XY
14. XY

W
wl= 1518

15. 3
3

Math Ability

DIRECTIONS

Solve each problem in this section by using the information given
and your own mathematical calculations. Then select the one
correct answer of the five choices given. Use the available space on
the page for scratchwork. NOTE: Some problems may be accompa-
nied by figures or diagrams. These figures are drawn as accurately as
possible, except when it is stated in a specific problem that the figure
is not drawn to scale. The figure is meant to provide information
useful in solving the problem or problems. Unless otherwise stated
or indicated, all figures lie in a plane. All numbers used are real
numbers.
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16. Ifx= -2, thenxX - xX* —x—- 1=

17.

18.

19.

(A) -15 (D) 0
% —;1 (E) 13

In the figure, what is the number of degrees in the sum of
m + n?

(A) 83 (D) 103
(B) 93 (E) cannot be determined
(C) 97
If x is between 0 and 1, which of the following statements is
(are) true?
L.x>1
IL x>0
Il x* > x
(A) Ionly (D) Iand II only
(B) IIonly (E) 1I and III only

(C) HI only

If 15 students in a class average 80% on an English exam and 10
students average 90% on the same exam, what is the average in
percent for all 25 students?

(A) 86%4% (D) 83%%

(B) 85% (E) 83%

(C) 84%
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20. Ifapipe can drain a tank in t hours, what part of the tank does it
drain in 3 hours?

5 B
t t—
(C)t+3

Questions 21-25 refer to the graph.
U.S. AUTO SALES—1978

% imports

Domestic

w00

Thousands of Units Sold
g

Jan.|Feb.|Mar.| Apr. {May |Junef July { Aug.|Sept] Oct. [ Nov.| Dec.

Others

86% F—‘ — 1

Make B

30% L — _—

Make A +—~

Percent of Domestic Car Sales

Domestic Car Sales

21. Approximately how many cars of make B were sold in July?

(A) 732,000 (D) 1,049,200
(B) 800,000 (E) 1,290,000
(C) 900,000

22. During which month(s) did imports outsell domestics?
(A) August (D) April
(B) June (E) no months

(C) May
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23.

24.

25.

26.

27.

28.

PRACTICE TEST 1

What were the average monthly domestic sales (in millions) for
the given year?

(A) 6-18 (D) 1.2-1.4
% .18;.102 (E) 1.4-1.6

What is the approximate percent increase in total sales from
June to December?

(A) 10% (D) 100%
% gg? (E) 150%

In which of the following months was the domestic-to-imports
auto sales ratio the greatest?

(A) January (D) October

(B) March (E) December

(C) September

If the volume and the total surface area of a cube are equal, how
long must the edge of the cube be?

(A) 2 units (D) 5 units
Elé; 3 units (E) 6 units
4 units

The base of an isosceles triangle exceeds each of the equal sides
by 8 feet. If the perimeter is 89 feet, what is the length of the
base in feet?

(A) 27 (D) 54
% gg% (E) 70

If two numbers have only the number 1 as a common divisor,
then they are called “relatively prime.” Which of the following
are NOT relatively prime?

1.3 II. 4 1. 7 Iv. 12

(A) IandII, Tand I1I
(B) Tand IV, Il and IV
(C) Nand i}, Il and 1V
(D) Hand IV, Il and IV
(E) IandII, Iand IV
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29. If (a,b) ® (c,d) = (ac — bd,ad) then (-2,3) ® (4,—1) =

(A) (=5.2) (D) (~11,-2)
(B) (-5,-2) (E) (-5,-3)
(O) (-11,2)
F
D c
0
45°
S A
G

30. In the rhombus, BC = 6, AE = 4, and angle DAE = 45°. AD is
the diameter of the circle. If a man started at C and followed
around the outer edge of this figure to D, F, A, G, E, B, and
back to C, approximately how far did he travel?

(A) 14 + 6w (D) 12 + 6w
(B) 14 + 9%/2 (E) 12+ 9%/2
(C) 14 + 27w/4

STOP. IF YOU FINISH BEFORE TIME IS CALLED, CHECK
YOUR WORK ON THIS SECTION ONLY. DO NOT WORK
ON ANY OTHER SECTION IN THE TEST.



SECTION V: VERBAL ABILITY

Time: 30 Minutes
37 Questions

In this section, choose the best answer for each question and
blacken the corresponding space on the answer sheet.

Sentence Completion

DIRECTIONS

Each blank in the following sentences indicates that something
has been omitted. Considering the lettered words beneath the
sentence, choose the word or set of words that best fits the whole
sentence.

1. The horrifying _______ of the fire was reported on all the
news stations, and the arson squad worked later through the
week touncoverthe ________ of the tragedy.

(A) scene...rumble
(B) result. .. jeopardy
(C) aftermath ... cause
(D) cost. .. liability
(E) origin. .. reality

2. Althoughtheseemingly _______ nature of the task appeared
fundamental, further application of the principles seemed

(A) facile . . . awkward

(B) complex. .. easy

(C) redundant . . . impossible
(D) parallel .. . obvious

(E) devious. ..ambiguous

3. Feeling restless and unhappy, he left the house to take a quiet
stroll, hoping the tone of the day would not decline further into
and uncertainty.
(A) dissonance (D) pretense
(B) ardor (E) reticence
(C) perversity

120
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. If the patriotic legend revealed the hard _________ of Roman
culture, the love story tended toshowits______ belly.

(A) facts. . .fictitious

(B) backbone ... vulnerable

(C) times. .. easygoing

(D) stubbornness . . . abdominal

(E) paternalism . . . maternal

. When the war ended, the king _____ all claims for
damages, but he is now demanding _______ that will cost
millions of dollars.

(A) relinquished . .. expenses
(B) questioned . .. repayments
(C) waived . .. reparations
(D) accepted. .. funds

(E) reviewed . .. indemnity

. The population of a species at any given time is determined by

the ratioof the biotic________to environmental resistance.
(A) jeopardy (D) lexicon
(B) potential (E) annoyance

(C) excitement

. There has been a large amount of ________ and lack of
in the description of such categories as ethnic, and

especially racial, groups.

(A) disagreement . .. consensus

(B) bias. .. prejudice

(C) agreement . .. harmony

(D) violence . . . lawfulness

(E) indoctrination . . . malaise

. Brandon Smith’s penetrating criticism of the new play, Zoot

Suit, wasas ________ as a surgeon’s scalpel.
(A) truthful (D) trenchant
(B) catty (E) verbose

(C) succinct
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9.

PRACTICE TEST 1

The decline of

forms was hastened by the discovery

of global trade routes, which soon producedbasic______ in
the supply of money and price structure, thus dooming land as
the basic element of wealth and preferment.

(A) feudal... alterations

(B) oligarchical . .. change

(C) democratic . . . remedies
(D) monarchical . . . alternatives
(E) barbaric. . . reductions

Analogies

DIRECTIONS

In each question below, you are given a related pair of words or
phrases. Select the lettered pair that best expresses a relationship
similar to that in the original pair of words.

10.

11.

12.

13.

SCOWL : SMILE ::
(A) antidote : serum
(B) square : circle
(C) cost : discount

DOLLAR : DIME ::
(A) pound : rubble
(B) century : decade
(C) ewe:lamb

CLARIFY : CONFUSION ::

(A) retreat : victory
(B) declare : bankruptcy
(C) criticize : euphoria

LECHER : LUST ::
(A) burglar : swag
(B) glutton : greed
(C) archer : bow

(D) stock : bond
(E) despair : hope

(D) bracelet : necklace
(E) bus: automobile

(D) mediate : altercation
(E) extend : ephemera

(D) manager : expertise
(E) factor : merchant



14.

15.

16.

17.

18.

MOAT : CASTLE :

(A) cummerbund : waist
(B) shoe : foot

(C) root : earth

(A) fetus : etymology
(B) rain: geology
(C) potsherd : archeology

SPANGLE : DARKEN ::
(A) hug: abjure

(B) seek: find

(C) inquire : question

NYMPH : FAUN :
(A) sheep: goat
(B) temple : altar
(C) duck : drake

RUNE : ALPHABET ::
(A) cairn : stone

(B) team: contest

(C) mystery : puzzle

Reading Comprehension

DIRECTIONS

FINCH : ORNITHOLOGY ::
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(D) elevator : skyscraper
(E) drawbridge : river

(D) mind : philology
(E) word : sociology

(D) negotiate : haggle
(E) command : request

(D) cowboy : horse
(E) cat:kitten

(D) forest : mountain
(E) star : constellation

Questions follow each of the passages below. Using only the
stated or implied information in each passage, answer the ques-
tions.

People pondering the origin of language for the first time
usually arrive at the conclusion that it developed gradually as a
system of conventionalized grunts, hisses, and cries and must
have been a very simple affair in the beginning. But when we
observe the language behavior of what we regard as primitive
cultures, we find it strikingly elaborate and complicated.
Steffanson, the explorer, said that “in order to get along
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reasonably well an Eskimo must have at the tip of his tongue a
vocabulary of more than 10,000 words, much larger than the
active vocabulary of an average businessman who speaks
English.” Moreover, a single noun can be spoken or written in
several hundred different forms. The Eskimo language is one
of the most difficult to learn, with the result that almost no
traders or explorers have even tried to learn it. Consequently,
there has grown up, in intercourse between Eskimos and
whites, a jargon similar to the pidgin English used in China,
with a vocabulary of from 300 to 600 uninflected words, most of
them derived from Eskimo but some derived from English,
Danish, Spanish, Hawaiian and other languages. It is the
jargon which is usually referred to by travelers as the “Eskimo
language.”

19. The size of the Eskimo language spoken by most whites is

20.

(A) about one third the size of the language spoken by the
Eskimos

(B) less than one tenth the size of the language spoken by
Eskimos

(C) determined by the number of inflections

(D) more than 10,000 words

(E) smaller than the jargon travelers call the “Eskimo language”

It can be inferred that pidgin English used in China

(A) includes many words derived from English, Danish, Span-
ish, and Hawaiian

(B) was invented by explorers from Europe

(C) was developed because of the difficulty of the Chinese

(D) has a large vocabulary of inflected words

(E) has many words derived from Eskimo
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. Which of the following may plausibly be inferred from the
passage?

1. The language of primitive cultures other than the Eskimos
is simple.

I1. Our notion of what is primitive is subject to revision.

II1. The complexity of a language is determined by the complex-

ity of the civilization in which it arises.

(A) Ionly (D) Iand III only
(B) II only (E) L 11, and I1I
(C) 111 only

The overall point of the passage is that

(A) languages may reflect cultural attitudes

(B) most “primitive” languages are similar to one another

(C) all languages are subject to change and development

(D) comparison of “primitive” languages may reveal the origin
of language

(E) a‘“‘primitive” language may be large and complex

Many people seem to think that science fiction is typified by
the covers of some of the old pulp magazines; the Bug-Eyed
Monster, embodying every trait and feature that most people
find repulsive, is about to grab, and presumably ravish, a sweet,
blonde, curvaceous, scantily clad Earth girl. This is unfortunate
because it demeans and degrades a worthwhile and even
important literary endeavor. In contrast to this unwarranted
stereotype, science fiction rarely emphasizes sex, and when it
does, it is more discreet than other contemporary fiction.
Instead, the basic interest of science fiction lies in the relation
between man and his technology and between man and the
universe. Science fiction is a literature of change and a
literature of the future, and while it would be foolish to claim
that science fiction is a major literary genre at this time, the
aspects of human life that it considers make it well worth
reading and studying—for no other literary form does quite the
same things.

What is science fiction? To begin, the following definition
should be helpful: science fiction is a literary sub-genre which
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postulates a change (for human beings) from conditions as we
know them and follows the implications of these changes to a
conclusion. Although this definition will necessarily be modi-
fied and expanded, it covers much of the basic groundwork and
provides a point of departure.

The first point—that science fiction is a literary sub-
genre—is a very important one, but one which is often
overlooked or ignored in most discussions of science fiction.
Specifically, science fiction is either a short story or a novel.
There are only a few dramas which could be called science
fiction, with Karel Capek’s RUR (Rossum’s Universal Robots)
being the only one that is well known; the body of poetry that
might be labeled science fiction is only slightly larger. To say
that science fiction is a sub-genre of prose fiction is to say that it
has all the basic characteristics and serves the same basic
functions in much the same way as prose fiction in general—
that is, it shares a great deal with all other novels and short
stories.

Everything that can be said about prose fiction, in general,
applies to science fiction. Every piece of science fiction,
whether short story or novel, must have a narrator, a story, a
plot, a setting, characters, language, and theme. And like any
prose, the themes of science fiction are concerned with
interpreting man’s nature and experience in relation to the
world around him. Themes in science fiction are constructed
and presented in exactly the same ways that themes are dealt
with in any other kind of fiction. They are the result of a
particular combination of narrator, story, plot, character,
setting, and language. In short, the reasons for reading and
enjoying science fiction, and the ways of studying and analyzing
it, are basically the same as they would be for any other story or
novel.
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Although a few examples of science fiction written before 1900

exist, we can infer that it has been most popular in the twentieth

century because

(A) with the growth of literacy, the size of the reading public
has increased

(B) competition from television and film has created a demand
for more exciting fiction

(C) science fiction is easier to understand than other kinds of
fiction

(D) the increased importance of technology in our lives has
given science fiction an increased relevance

(E) other media have captured the large audience that read
novels in the nineteenth century

According to the definition in the passage, a fictional work that

places human beings in a prehistoric world inhabited by

dinosaurs

(A) cannot properly be called science fiction because it does
not deal with the future

(B) cannot properly be called science fiction because it does
not deal with technology

(C) can properly be called science fiction because it is prose
fiction

(D) can properly be called science fiction because it places
people in an environment different from the one we know

(E) can properly be called science fiction because it deals with
man’s relation to the world around him

Science fiction is called a literary sub-genre because

(A) itis not important enough to be a literary genre

(B) it cannot be made into a dramatic presentation

(C) it has its limits

(D) it shares characteristics with other types of prose fiction
(E) tocallita “genre” would subject it to literary jargon

From the passage, we can infer that science fiction films based
upon ideas that have orginally appeared in other media are

chiefly adaptions of
(A) short stories (D) poems
(B) plays (E) folk tales

(C) novels
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27. The emphasis on theme in the final paragraph of the passage

28.

29.

suggests that the author regards which of the following as an
especially important reason for reading science fiction?

(A) the discovery of meaning

(B) the display of character

(C) the beauty of language

(D) the psychological complexity

(E) the interest of setting

One implication of the final sentence in the passage is that

(A) the reader should turn next to commentaries on general
fiction

(B) there is no reason for any reader not to like science fiction

(C) the reader should compare other novels and stories to
science fiction

(D) there are reasons for enjoying science fiction

(E) those who can appreciate prose fiction can appreciate
science fiction

An appropriate title for this passage would be
(A) On the Inaccuracies of Pulp Magazines
(B) Man and the Universe

(C) Toward a Definition of Science Fiction
(D) A Type of Prose Fiction

(E) Beyond the Bug-Eyed Monster

Antonyms

DIRECTIONS

Each word in CAPITAL LETTERS is followed by five words or

phrases. The correct choice is the word or phrase whose meaning is
most nearly opposite to the meaning of the word in capitals. You
may be required to distinguish fine shades of meaning. Look at all

ch

30

oices before marking your answer.

. LUXURIANT
(A) profound (D) miserly
(B) curious (E) peeling

(C) small
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31. TYRO
(A) factotum (D) investigator
(B) instigator (E) dilettante
(C) virtuoso

32. UBIQUITOUS
(A) hiding (D) bilious
(B) localized (E) exhaustive
(C) jailed

33. ABSTEMIOUS
(A) punctual (D) finicky
(B) vainglorious (E) disdainful
(C) gluttonous

34. SOPORIFIC
(A) exciting (D) vapid
(B) terrific (E) sophomoric
(C) specific '

35. FACTOTUM
(A) idol (D) wyro
(B) amateur (E) investigator
(C) specialist

36. ESCHEW
(A) hasten (D) decide
(B) grant (E) court
(C) swallow

37. MULCT
(A) deprecate (D) impute
(B) award (E) fertilize
(C) send

129

STOP. IF YOU FINISH BEFORE TIME IS CALLED, CHECK
YOUR WORK ON THIS SECTION ONLY. DO NOT WORK
ON ANY OTHER SECTION IN THE TEST.



SECTION VI: ANALYTICAL ABILITY

Time: 30 Minutes
25 Questions

DIRECTIONS

The following questions or group of questions are based on a
passage or set of statements. Choose the best answer for each
question and blacken the corresponding space on your answer
sheet. It may be helpful to draw rough diagrams or simple charts in
attempting to answer these question types.

Questions 1-7

A gambler enters a wagering game consisting of four rounds of
betting (Deals 1, 2, 3, and 4) in which coins and currency are bet.
The gambler has the following coins and currency: one silver-dollar
coin ($), two half-dollar coins (H), four quarters (Q), and one dollar
bill (D). The following is observed:

The gambler bets exactly $1.00 during each deal.
The silver dollar is bet before Deal 3.

Two quarters begin the betting of the deal immediately after
the deal in which the silver dollar is bet.

The dollar bill is not bet prior to betting any coin.

1. Suppose the silver dollar is NOT bet in Deal 2. Which of the
following is NOT a sequence of betting for Deals 2 and 37

Deal 2 Deal 3

(A)QQH HQQ
(B) OQH QHQAQ
()QQH QQH
d)QQQQ HH

(E)QHQ HQQ

130
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2. Suppose a quarter is the last bet before the silver dollar is bet.
Which of the following is a possible sequence of betting for the
first three deals?

Deal 1 Deal 2 Deal 3

(AAHH QQQQ $
B) HQQ $ QQH
(C)QHQ § QHQ
(D)QHQ $ HQQ
(E)HQQ HQQ §

3. Suppose two of the deals each end with a bet of the same
demonination coin. Which of the following must be true?
(A) The two deals are Deal 2 and Deal 3.
(B) The two deals are Deal 1 and Deal 3.
(C) The two deals are Deal 1 and Deal 2.
(D) The two deals end with half-dollar bets.
(E) The two deals end with quarter bets.

4. Which of the following is a possible betting sequence?
Deal 1 Deal2 Deal3  Deal4

(A) $ QQH QHQ D
®B)$ HQQ QQH D
(C) HH $ QQH D
MD)QHQ § QHQ D

(Bl HQQ QQH QHQ D

5. Assume the betting sequence in Deal 3 is exactly the same as in
Deal 2. Which of the following CANNOT be true?

I. Deals 2 and 3 each end with a quarter bet.
II. Deals 2 and 3 each begin with a half-dollar bet.
I11. Deals 2 and 3 each begin with a quarter bet.

(A) Ionly (D) Iand II only
(B) I only (E) II and I11 only
(C) HI only
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The betting sequence of “quarter then half dollar then
quarter” CANNOT appear in which of the following deals?

I. Deal 1
II. Deal?2
III. Deal 3
IV. Deal 4

(A) I and IV only (D) I1, II1, and IV only
(B) III only (E) LIL III, and IV
(C) L 1I, and IV only

. If the gambler exchanges one of the half dollars for two

quarters, which of the following is now a possible sequence of
betting?

Deal 1 Deal 2 Deal 3 Deal 4
(A) $ QQQQ HHOQ D
(B) D HQQ QQQQ §
(©)HQOQ $ QQQQ D
(OD)HHQ $ QQQQ D
E)YoQQQ HAQ $Q D

. When growing redwoods, a forester must thoroughly douse

young saplings each morning until the first sign of new growth
appears. Douglas firs, on the other hand, are not redwoods.
Therefore, a thorough dousing each morning of young Douglas
fir saplings is hardly necessary.

The reasoning in the above passage is flawed because

(A) a thorough dousing of water each morning will not ad-
versely affect Douglas fir saplings

(B) redwoods and Douglas firs are two different trees and, as
such, cannot be compared

(C) many young Douglas fir saplings have been known to thrive
given thorough dousing each morning

(D) what is necessary for one tree sapling may be necessary for
another sapling, even though they may be different trees

(E) redwoods are typically found in old-growth forests, whereas
Douglas firs rarely are
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The once vast regions of South American rain forest are fast
dwindling in number and size. As a result, species extinction is
fifty times more rapid today than two decades ago. Despite the
outcries of environmentalists to halt the destruction of species-
rich and oxygen-producing forest regions, little is being done to
protect these wildernesses, so vital to the well-being and
continuation of earth’s fragile ecological system.

Which of the following is an implication of the passage above?

(A) The continued existence and health of rain forests is
imperative for the survival of future generations.

(B) Environmentalists are unnecessarily concerned about
threats to the rain forest.

(C) The number of wilderness areas should be increased
beyond those that presently exist.

(D) Radical action is necessary in order to reverse the environ-
mental damage incurred by wilderness regions.

(E) The legal system is slow to effect change but will eventually
respond to the ecological needs of the people.

Results of recent studies conducted on three breeds of labora-
tory rats indicate that overfeeding leads to a diminished
capacity in locomotive activity as well as a decrease in specific
mating behaviors. One can therefore conclude that when
human beings overeat, they not only will feel lethargic but also
will demonstrate less inclination toward the opposite sex.

Which of the following is an unstated assumption necessary to
the passage above?

(A) Rats normally have overactive sex lives, and it requires a
change in environment to affect their drive.

(B) Conclusions about human behavior can be derived from
studies observing rat behavior.

(C) It is neither immoral nor irresponsible to do experiments
that may potentially harm laboratory animals.

(D) Human beings typically are lethargic, and when they
overeat, they become significantly more so.

(E) All other species of rats will demonstrate the same
behaviors demonstrated by the laboratory rats.
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Questions 11-17

A county five miles long and five miles wide is divided into 25

equal one-mile-square regions. Each region is controlled by one of
five district leaders, Alicia, Barker, Capshaw, Descarte, or Escargo.
The regions are either wilderness or plains.

11

Home region, in the center, is controlled by Barker.

North Plain is to the immediate north of Home; East Plain is to
the immediate east of Home; and so forth.

Only the regions along the outer edge of the county are
wilderness, and are all controlled by Escargo, who controls no
plains.

No two plains regions with a commeon side are controlled by the
same leader.

Northeast Plain is controlled by Descarte; Southeast Plain is
controlled by Alicia; Northwest Plain is not controlled by
Capshaw; Southwest Plain is controlled by neither Barker nor
Capshaw.

. How many regions are controlled by Escargo?
(A) 20 (D) 17
(B) 19 (E) 16
(C) 18

12. If Alicia controls as few regions as possible, how many regions

13.

must Alicia control?

(A) 1 (D) 4
(B) 2 (E) 5
()3

Suppose Descarte controls only the Northeast Plain. Which of
the following CANNOT be true?

(A) South Plain is controlled by Capshaw.

(B) Northwest Plain is controlled by Alicia.

(C) Northwest Plain is controlled by Barker.

(D) West Plain is controlled by Capshaw.

(E) West Plain is controlled by Alicia.
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14, Which one of the following statements must be false?

15.

16.

17.

(A) West Plain is controlled by Descarte, and South Plain is
controlled by Descarte.

(B) West Plain is controlled by Descarte, and South Plain is
controlled by Capshaw.

(C) West Plain is controlled by Capshaw, and South Plain is
controlled by Descarte.

(D) West Plain is controlled by Alicia, and South Plain is
controlled by Descarte.

(E) West Plain is controlled by Alicia, and South Plain is
controlled by Capshaw.

Assume Southwest Plain is controlled by Descarte. If so, the
control of which of the following can be determined?

I. North Plain
II. West Plain
III. South Plain

(A) Tonly (D) 1and III only
(B) Il only (E) I and III only
(C) I only

Assume Capshaw controls as many regions as possible. How
many of the regions must be controlled by Capshaw?

A) 2 (D) 5
(B) 3 (E) 6
(C) 4

All of the following can be true EXCEPT
(A) South Plain is controlled by Descarte
(B) Northwest Plain is controlled by Alicia
(C) West Plain is controlled by Alicia

(D) South Plain is controlled by Alicia

(E) Northwest Plain is controlled by Barker
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Questions 18-22

Five blue pennants and four yellow pennants are flown on a mast

from top to bottom, numbered 1 through 9, respectively.

A solid yellow pennant flies in place 7.
Four of the pennants are solid in color; the others are striped.
Two pennants are triangular.

One triangular pennant flies in place 2, and the other flies next
toit.

No fewer than four of the blue pennants are always flying next
to each other.

18. Suppose blue pennants fly in the topmost and bottommost

19.

20.

places. Then it must be true that

(A) all the yellow pennants do not fly adjacent to each other
(B) ayellow pennant flies in place 8

(C) ayellow pennant flies in place 3

(D) ablue pennant flies in place 5

(E) there is a yellow triangular pennant

If a yellow pennant flies in place 2, it could be true that a yellow
pennant also flies in which place?

I. place 1
II. place 8
II1. place9
(A) Ionly (D) II and III only
(B) I only (E) LII,and I1I

(C) Iand II only

If a blue, striped pennant flies between and next to each of two
yellow pennants, in which of the following places it it possible
for this blue, striped pennant to fly?

(A) placel (D) place 6

(B) place 2 (E) place 7

(C) place 3
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22,
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Given all the yellow pennants flying next to one another, each of
the following is possible EXCEPT

(A) there is only one striped, blue, triangular pennant

(B) there are two striped, blue, triangular pennants

(C) there are three solid, yellow pennants

(D) there are three striped, yellow pennants

(E) there is one striped, triangular, yellow pennant

Suppose all the solid pennants fly next to each other. Which of
the following CANNOT be true?

(A) Two yellow pennants are triangular.

(B) Two blue pennants are solid.

(C) Two triangular pennants are blue.

(D) Two triangular pennants are yellow.

(E) Two triangular pennants are solid.

A young man with a spotless driving record drove his automo-
bile cautiously whenever he was within the city limits of
Dobbsville, but upon leaving Dobbsville, he threw all caution to
the wind and drove in a careless manner. When questioned by a
passenger in his automobile as to why his driving style changed
so radically, the young man declared, “The National Safety
Council reports that statistics over the past twenty years show
that 97% of all automobile accidents occur within ten miles of
home. Since I live exactly ten miles within the borders of
Dobbsville, I don’t have to worry whenever 1 drive outside of
town.”

The young man’s logic is faulty because

(A) he could easily be involved in an accident with a resident of
a neighboring town

(B) his actions may be related to percentages recently com-
puted, but not as far back as twenty years

(C) statistics of overall numbers of accidents may tell nothing
about any one individual’s chances of having an accident

(D) his driving record was spotless because, being so young, he
has been driving only a few years

(E) statistics from the National Safety Council are occasionally
disputed by reputable researchers
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24. A college catalogue states the following: Every student receiv-
ing a diploma at graduation after four years of undergraduate
study will have demonstrated a competency of at least one
particular skill. Some students will have learned skills of
research methodology in a particular field of endeavor. Others
will have shown excellence in teaching and/or imparting cogni-
tive information. Still others will have demonstrated their
ability to write original material, whether fiction or nonfiction.

If the above passage is true, which of the following statements
must also be true?

(A) All of the skills demonstrated by undergraduates will have
been learned at the university.

(B) Not all of the skills taught at the university will have been
learned by undergraduates.

(C) One of the skills demonstrated by undergraduates will be
the ability to write original material.

(D) Some of the skills learned by undergraduates will not be
research methodology, excellence in teaching, or ability to
write original material.

(E) Not all the skills demonstrated by undergraduates will be
learned at the end of four years.
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25. After auditioning for a role in a college play, a student-actor
was told the following by the faculty advisor: I'm sorry to have to
tell you that the play’s producers passed on you for the role for
which you auditioned. Because of the ethnic nature of all the
roles and their requirement that the performers have a flawless
Hungarian accent and be able to speak Russian, it was neces-
sary to deny parts to many capable actors.

Taken at face value, which of the following can be deduced
from the faculty advisor’s statement?

(A) Very few of the student-actors auditioning for the play
actually were given parts in the play.

(B) Except for the lack of Hungarian accent and inability to
speak Russian, the student-actor was otherwise capable
for the role.

(C) Only those students who were capable actors were given
roles in the play.

(D) Whether the auditioners were capable actors was only one
consideration in assigning roles for the play.

(E) None of the actors who were accepted for roles in the play
were capable actors.



SECTION VII: QUANTITATIVE ABILITY

Time: 30 Minutes
30 Questions

Quantitative Comparison

DIRECTIONS

In this section you will be given two quantities, one in column A
and one in column B. You are to determine a relationship between
the two quantities and mark

(A) if the quantity in column A is greater than the quantity in

column B
(B) if the quantity in column B is greater than the quantity in
column A

(C) if the quantities are equal

(D) if the comparison cannot be determined from the informa-

tion that is given

Common Information:
Information centered above both columns refers to one or both
columns.
All numbers used are real numbers.
Figures are intended to provide useful positional information,
but are not necessarily drawn to scale and should not be used to
estimate sizes by measurement,
Lines that appear straight can be assumed to be straight.

Column A Column B
1. Number of ones in 48 Number of tens in 68
2. ‘/@ 7
3. x+4 y-3
4. 40% of 60 60% of 40
5. 05 —.125 1

140
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Column A Column B

ax|Y

6. X+y+c at+z+b

141

Questions 7-8 refer to the diagram.

60°

~}
>4
-«

[N

-y

9. 5% —
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Column A Column B

Questions 10-12 refer to the diagram.

10. £LCED 1,BD
11. AB AE
12. £LBCD LCDE
13.  Number of diagonals in Number of sides of a
a hexagon hexagon
ABCD is a rhombus with
height 4 and area 20
14. Length of side AB Length of diagonal AC
T>x
y<m
x<y

15. X+y T+ m
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Math Ability

DIRECTIONS

Solve each problem in this section by using the information given
and your own mathematical calculations. Then select the one
correct answer of the five choices given. Use the available space on
the page for scratchwork. NOTE: Some problems may be accompa-
nied by figures or diagrams. These figures are drawn as accurately as
possible, except when it is stated in a specific problem that the figure
is not drawn to scale. The figure is meant to provide information
useful in solving the problem or problems. Unless otherwise stated
or indicated, all figures lie in a plane. All numbers used are real
numbers.

16. If x — 4 =y, what must (y — x)’ equal?

(A) —64 (D) 64
(B) —-12 (E) cannot be determined
(C) 12

17. Ifa/b = c/d and a, b, ¢, and d are positive integers, then which
of the following is true?
(A) a/b=d/c (D) d/b=c/a
(B) ac=bd (E) a/d=c/b
(C)a+d=b+c

18. There are 36 students in a certain geometry class. If two-thirds
of the students are boys and three-fourths of the boys are under
six feet tall, how many boys in the class are under six feet tall?

(A) 6 (D) 24
(© 15 ‘E“”

19. When a certain integer J is divided by 5, the remainder is 1.
When integer J is divided by 3, the remainder is 2. The value for
Jis
(A) 6 (D) 16
(B) 11 (E) 21
(C) 12



144 PRACTICE TEST 1

20. A bag contains 20 gumballs. If there are 8 red, 7 white, and 5
green, what is the minimum number of gumballs one must pick
from the bag to be assured of one of each color?

(A) 16 (D) 6
© s o

Questions 21--25 refer to the graphs.

Candidate
R

?f_)"lo

75%

o
m

50%

The above graph shows the distribution of votes among
three candidates in five different cities in a statewide
election.

The graph below shows the total votes cast for these
three candidates in these five cities.

Thousands
of Votes
S NWaOON
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Which city cast the most votes for candidate R?
(A) A (D) D

(B) B (E)E

(6 C

How many cities cast more votes for candidate S than for
candidate T?

(A) 0 (D) 3

(B) 1 (E) 4

(©) 2

Which cities cast the same number of votes for candidate R?
(A) Aand B (D) AandC

(B) BandC (E) all cities were different
(C) CandD

About how many votes did candidate T receive total in the five
cities?

(A) 20004000 (D) 8000-10,000

(B) 4000-6000 (E) 10,000-12,000

(C) 6000-8000

How many cities cast over two-thirds of their votes for one
candidate?

A0 (D) 3

(B) 1 (E) 4

(©) 2

If the ratio of x to y is 3% and the ratio of y to z is 1243, the ratio of
xtozis

(A) %3 (D) %s

(B) %3 (E) %3

(©) %
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27.

28.

29.

PRACTICE TEST 1

In the right triangle, ¢ = 2a and d > 2b; therefore, which of the
following must be true?

(A)c>b+d

(B) angle a is greater than angle b

(C) angle a equals angle b

(D) angle b is greater than angle a

(E) angle d equals twice angle a

In the figure, X and Y are the centers of the two circles. If the
area of the larger circle is 1444r, what is the area of the smaller
circle?

(A) 72w (D) 127
(B) 36 (E) 12
(©) 24:

How many pounds of tea worth 93¢ per pound must be mixed
with tea worth 75¢ per pound to produce 10 pounds worth 85¢

per pound?
(A) 2% (D) 5%
(B) 3% (E) 9%

(C) 4%
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A B

H G

30. In the cube above, AH and BG are diagonals and the surface
area of side ABFE is 16. What is the area of rectangle ABGH?

(A) 442 (D) 162
(B) 16 (E) 153
(C) 16 + 2

STOP. IF YOU FINISH BEFORE TIME IS CALLED, CHECK
YOUR WORK ON THIS SECTION ONLY. DO NOT WORK
ON ANY OTHER SECTION IN THE TEST.



SCORING PRACTICE TEST 1

ANSWER KEY
Section I Section II Section III Section IV
Verbal Quantitative Analytical Quantitative
Ability Ability Ability Abiltiy
1. C 31 A 1. A 1. E 1. A
2.C 32.D 2.D 2.E 2.D
3.C 33.B 3.B 3.E 3. C
4. E 34. A 4. D 4. B 4. A
5B 35 C 5.D 5.D 5 A
6. D 36. B 6. B 6. A 6. A
7.E 37.D 7. A 7. E 7. C
8.C 38.D 8. A 8. A 8. B
9. A 39 A 9. C 9. D 9. A
10. E 10. B 10. C 10. B
11. B 11. D 11. D 11. B
12. C 12. D 12. E 12. C
13. C 13. B 13. E 13. A
14. C 14. A 14. B 14. B
15. C 15. B 15. E 15. C
16. D 16. A 16. D 16. B
17. A 17. B 17. A 17. A
18. C 18. A 18. C 18. B
19. D 19. D 19. C 19. C
20. A 20. D 20. C 20. D
21. D 21. E 21. A 21. A
22. C 22. C 22. E 22. E
23. D 23. B 23. B 23. C
24. C 24. E 24. E 24. B
25. C 25. B 25. E 25. C
26. A 26. C 26. E
27. D 27. D 27. C
28. B 28. C 28. B
29. B 29. D 29. A
30. D 30. D 30. B
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ANSWER KEY

Section VII

Section VI

Section V

Quantitative

Analytical

Verbal

Ability

Ability

Ability
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SCORE RANGE APPROXIMATORS

The following charts are designed to give you only an approxi-
mate score range, not an exact score. When you take the GRE
General Test, you will have questions that are similar to those in
this book; however, some questions may be slightly easier or more
difficult. Needless to say, this may affect your scoring range.

Because one section of the GRE is experimental (it doesn’t count
toward your score), for the purposes of this approximation, do not
count Section VII. Remember, on the actual test the experimental
section could appear anywhere on your test.

Verbal Ability
To approximate your verbal score:

1. Total the number of questions you answered correctly in
sections I and V. No points are subtracted for incorrect
answers.

2. Use the following table to match the total number of correct
answers in those two sections and the corresponding approxi-
mate score range.

Number Right Approximate Score Range

65-75 710-800
55-64 590-700
45-54 490-580
35-44 400-480
25-34 320-390
15-24 220-310

0-14 200-220

Average score is approximately 480.
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Quantitative Ability
To approximate your quantitative score:

1. Total the number of questions you answered correctly in
Sections II and IV. No points are subtracted for incorrect
answers.

2. Use the following table to match the total number of correct
answers in those two sections and the corresponding approxi-
mate score range.

Number Right Approximate Score Range

50-60 700-800
40-49 570-690
30-39 450-560
20-29 330440
10-19 220-320

0-9 200-210

Average score is approximately 560.

Analytical Ability
To approximate your analytical score:

1. Total the number of questions you answered correctly in
Sections III and VI. No points are subtracted for incorrect
answers.

2. Use the following table to match the total number of correct
answers in those two sections and the corresponding approxi-
mate score range.

Number Right Approximate Score Range

40-50 700-800
30-39 560-690
20-29 410-~550
10-19 240400

0-9 200-230

Average score is approximately 540.

Remember, these are approximate score ranges.
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SCORING PRACTICE TEST 1

ANALYZING YOUR TEST RESULTS

The charts on the following pages should be used to carefully
analyze your results and spot your strengths and weaknesses. The
complete process of analyzing each subject area and each individual
problem should be completed for each practice test. These results
should then be reexamined for trends in types of errors (repeated
errors) or poor results in specific subject areas. THIS REEXAMINA-
TION AND ANALYSIS IS OF TREMENDOUS IMPORTANCE TO YOU IN

ASSURING MAXIMUM TEST PREPARATION BENEFIT.

VERBAL ABILITY ANALYSIS SHEET

SECTION |

Sentence Completion
Analogies
Reading Comprehension
Antonyms

SUBTOTALS

SECTION V

Sentence Completion
Analogies
Reading Comprehension
Antonyms

SUBTOTALS
OVERALL VERBAL ABILITY TOTALS

Possible Completed Right

8

9

1

11

39

Possible Completed Right

9

9

11

8

37

76
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QUANTITATIVE ABILITY ANALYSIS SHEET

SECTION 1l

Quantitative Comparison
Math Ability
SUBTOTALS

SECTION IV

Quantitative Comparison
Math Ability

SUBTOTALS
OVERALL QUANTITATIVE ABILITY
TOTALS

SECTION Vi

Possible Completed Right Wrong

15

15

30

Possible Completed Right Wrong

15

15

30

60

NoOTE: For this practice test, do not include Section VII in your
overall Quantitative Ability score.

Quantitative Comparison
Math Ability
TOTALS

Possible Completed Right Wrong

15

15

30

ANALYTICAL ABILITY ANALYSIS SHEET

Section IIT

Section VI

OVERALL ANALYTICAL ABILITY
TOTALS

Possible Completed Right Wrong

25

25

50
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ANALYSIS: TALLY SHEET FOR PROBLEMS MISSED

One of the most important parts of test preparation is analyzing
WHY! you missed a problem so that you can reduce the number of
mistakes. Now that you have taken the practice test and corrected
your answers, carefully tally your mistakes by marking them in the
proper column,

REASON FOR MISTAKE

Total Simple Misread Lackof
Missed Mistake Problem Knowledge

SECTION I: VERBAL ABILITY

L [ ]

SECTION V: VERBAL ABILITY

SUBTOTALS

SECTION iI: QUANTITATIVE ABILITY
l | | |

SECTION {V: QUANTITATIVE ABILITY

SUBTOTALS

SECTION lil: ANALYTICAL ABILITY
l | | |

SECTION Vi: ANALYTICAL ABILITY

SUBTOTALS
TOTAL VERBAL, QUANTITATIVE,
AND ANALYTICAL

Reviewing the above data should help you determine WHY you are
missing certain problems. Now that you have pinpointed the type of
error, take the next practice test focusing on avoiding your most
common type.
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Sentence Completion

1. (C) The answer here is restive . . . unperturbed. Although signals
a contrast between the boys’ behavior and the girls’. The correct
pair of words then must be opposite in meaning. Choices (A) and
(B) are synonymous pairs and can be eliminated on that basis.
Choices (D) and (E) are not contrasts—remorseful (sad) and
enchanted (charmed) and tactiturn (silent) and attracted (drawn to)
are not opposite in meaning. (C) is left as the only pair which
satisfies the context and the contrast indicated by the rest of the
sentence.

2. (C) The correct answer is incorporated. The conjunction and
indicates that the ideas from Greek philosophy are considered as
parallel to Greek language in the first half of the sentence. With
crucial derivative ideas one would not nullify, criticize, or alter them.

3. (C) The answer is criticized . . . curb. The idiomatic expression
in the second part of the sentence calls for a verb. Excesses are
curbed not implemented, promoted, or ostracized. Choice (B) is an
incorrect use of the word chagrined, leaving (C) as the best choice.

4. (E) The signal word here is reached; the only choice which one
can reach is pinnacle. If you had asked yourself, “What was
reached?” this answer should have occurred to you.

5. (B) The noun associated with the Queen must accord with her
silence, so (C) and (E) cannot be right. The President’s verb must
go with happily so (A) and (D) will not work.

6. (D) The best choice is consequently. The semicolon is needed
to connect the two clauses. The second part of the sentence
positively extends the quality of the novel stated in the first part.
The connecting word consequently provides the direction needed to
extend the meaning of the first part of the sentence.

7. (E) The required verb must follow logically the exploitation of
resources. Choice (C) is possible, but unchecked exploitation sug-
gests a stronger verb, such as decimated.

157
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8. (C) Aremark to explain not having written a substantial essay
would be an apology, and a remark about unfairness would tend to
be indignant.

Analogies

9. (A) Initiate (to begin) and end (to conclude) are verbs with
opposite meanings. Attend (pay attention to) is the opposite of
ignore.

10. (E) The recipe is the written set of directions from which the
chef produces a dish; the score is the written account of the piece
upon which a musician depends.

11. (B) Photosynthesis is a process, the product of which is
oxygen. Similarly, heat is the product of the process of combustion. A
camera is not a process.

12. (C) A scheme is a plan with sinister connotations. Of the
choices here, the closest is the statesman/politician.

13. (C) The loom is the frame upon which a rapestry is woven.
The easel is the support of the canvas upon which a painting is
made.

14. (C) To ossify is to turn to bone; to pulverize is to reduce to
dust.

15. (C) A tedious conversation or person will produce boredom
as that which is enigmatic will produce uncertainty.

16. (D) A person who grovels (fawns) may be described by the
adjective servile. A person who foresees is prescient (knowing before).

17. (A) Banter (playful language) is a synonym for persiflage as
similarity is a synonym for analogy.

Reading Comprehension

18. (C) Though the paragraph begins with the mention of
petrified trees, the central issue is how the Andes mountains were
formed.

19. (D) Both I and II are confirmed in the paragraph, but the
last sentence asserts that the Andes are the product of changes that
have occurred within a comparatively recent period.
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20. (A) Modern scientific discourse is likely to be less personal
and use fewer figures such as this. There are no religious references
in the passage (B), while reasoning from cause and effect (C),
comparing geological areas (D), and terms like volcanic or strata are
common in both nineteenth- and twentieth-century scientific writ-
ings.

21. (D) The adjectives and adverbs of the passage suggest the
awe or astonishment of the speaker as he or she contemplates the
evidence.

22. (C) The first paragraph supports answers (A), (B), (D), and
(E). One of the points of the experiments described is to show that
people will change their opinions without being given good reasons
to do so.

23. (D) The second paragraph (and the third) questions the
validity of the conclusions of the experiments described in the first
paragraph.

24. (C) Thorndike’s claims to have altered his subjects’ esthetic
preferences are instances of selling an idea and studies of change of
esthetic preference, but the passage does not assert that contempo-
rary research confirms these claims.

25. (C) The passage concludes that a change of judgment is
likely to be based on a change of knowledge or assumptions about
the topic.

26. (A) Though the passage refers to ideas in choices (B), (C),
and (D), only (A) is the main point of the whole passage.

27. (D) The passage gives us no information on the author’s
views of men as opposed to women. Answer (D), referring to both
men and women, is clearly implied by the last paragraph.

28. (B) The first paragraph (the claims of early social psycholo-
gists) presents ideas that are questioned in the second and third
paragraphs.
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Antonyms

29. (B) Something mitigated has become less severe or painful.
Something aggravated has become worse. Raised merely indicates a
direction of movement, but not whether the movement is for better
Or worse.

30. (D) A proselyte is one who has been convinced to adopt a
new religion, politcal party, or opinion. An apostate (apo = from; sta
= stand) is one who forsakes a former system of beliefs. A renegade
is a deserter from an army or tribe; since a renegade does not
necessarily desert beliefs, the word is not a near opposite of
proselyte.

31. (A) To cloy is to oversatisfy, or surfeit. Its opposite is deny.

32. (D) Resuscitate (re = again; cit = to put into motion) means
to revive, bring back to life. Its opposite is kill. To succumb may
mean to die, but could be an opposite only if resuscitate meant to
live.

33. (B) To rusticate is to spend time in the country (rus =
country); being urban means spending time in the city.

34. (A) Penury is abject poverty, the opposite of wealth.

35. (C) Laconic refers to a response which is very short. Its
opposite is verbose, which refers to using many words. Compendious
refers to saying much in a few words.

36. (B) Moribund means dying, passing out of existence (mori =
death). So the direct opposite is eternal, never- dying.

37. (D) Ineffable (in = not; fab = to speak) describes something
which is inexpressible or indescribable. Its opposite is definable,
which means capable of being described exactly. Cogent refers to
something which is convincingly to the point.

38. (D) The adjective ersatz means substitute, artificial, false. Its
opposite is genuine.

39. (A) Estheticism is a strong liking for art, beauty, and good
taste. Its opposite is tastelessness.
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Quantitative Comparison

1.

(A) By inspection both sides are exactly the same, except in
column A you are adding 4 X 10’ and in column B you are
subtracting 4 x 10°. Therefore, column A is greater. Solving for
values would give

F+4x10°-4 F-4x100-4
9+4x100-16 9-4x100-16
9 + 400 - 16 9-400 - 16
409 — 16 -391 - 16

393 > —407

. (D) Solving x* = 36 gives +6 and —6. Therefore, x can be equal

to 6 or less than 6, making no comparison possible.

(B) On the number line, if x, y, and z are integers, then by
inspection x = 1,y = —1, and z = 2. Substituting these values
into each column gives

2-1 and 1-(-1)

hence 1 < 2

Therefore the correct answer is (B).

. (D) Since x and y are not vertical angles and no other

information is given, no comparison can be made. The correct
answer is (D).

. (D) Trying some small values is required here, keeping in mind

that x must be greater than 0. Let x = 1 then

3(1)* 201y
3(1) 2(1)
3 > 2

In this case column A is greater. Now try another value for x.
Letx = 2 then

161
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3(2y° 202y’
34 2(8)
12 < 16

In this case column B is greater. Since there are different
comparisons depending on the values chosen, the correct
answer is (D)—cannot be determined.

6. (B) Solve the first problem as follows:

x is 30% of 60

Replacing “=""for “is” and “-” for “of ” (30% = 3/10)
then x = (3/10) - 60

thenx = 18

Solve the second problem as follows:
20% of y is 4
(20% = 1/5)
(1/5)-y=4
1/5)y=14

Multiplying by 5/1 gives (5/1) - (1/5)y = 4 - (5/1); theny = 20.

7. (A) If the top angle was 90°, then x would be 3\/5. This could be
calculated using the Pythagorean theorem.
a?+b=¢
3¥+3¥=x
9+9=x
18=x

Therefore \/ﬁ =X

which simplified is 3\/5. But since the angle was originally
larger than 90°, then the side across from 92° must be larger
than 3\/5. The correct answer is (A).

8. (A) Since there are 180° in a triangle and 92° in one angle, that
leaves 88° to be split equally between two angles. Thus angle y is
44°. (The degrees must be split equally because angles across
from equal sides are equal). And the triangle has two equal
sides (isosceles). The correct answer is (A).



10.

11.

12.

13.

14,
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. (C) The integer multiples of 8 greater than 8 but less than 50 are

16, 24, 32, 40, and 48. Column A is therefore 5. The integer
multiples of 6 greater than 6 but less than 40 are 12, 18, 24, 30,
36. Therefore, column B is also 5. The correct answer is (C).

(B) The easiest method is by inspection (and/or addition).
Column A is approaching 2, but will not get there. Mathemati-
cally getting a common denominator and adding gives

1+B+Vi+ Y+ Voo + Ve, O
1+ 3% + 1% + Vo1 + You + You
1+ 5%

and 1554, < 2

(D) Substituting 0 for x and 1 for y fits the condition 0 < x +
y <2(0 <0+ 1 < 2)and gives an answer of (B), column B is
greater. Now substituting 1 for x and 0 for y also fits the
condition0 < x +y < 2(0 < 1 + 0 < 2) but gives an answer of
(A), column A is greater. Therefore the correct answer is (D).
Since different values give different comparisons, no compari-
son can be made.

(D) Volume of cube with side 6 is 6 X 6 X 6 = 216. Volume of
rectangular prism with two dimensions less than 6 is not
determinable because the third dimension is needed. Therefore
no comparison can be made.

(B) Solve each equation as follows

X+2x+1=0 V-2y+1=0
Factoring gives (x+1)(x+1)=0 y-DF-1)=0
then x+1=0 y—-1=0
leaves x=-1 y=1
Therefore X < y

(A) To make this comparison it is necessary to factor column A.

g» — g
8% (8' — 8)
8% (8 — 1)

8%(7) > 8%
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15. (B) Substitute x = 9 and y = 4 (note these are square numbers
‘and they can make solving easier when dealing with square

roots).
&= &=y
Vo - Va o4
3-2 NG
then 1 < 223

Now try two other numbers. You will find that column B will
always be greater.

Math Ability
16. (A percent is number
- (A) 100 ~ of number
25 X C

10-1 (cross multiplying)

100x = 3.00

100x _ 3.00

100 ~ 100

x = .03, or 100

17. (B) Solving the first equation for x as follows:
2

X

I
e

NN SIS
I
»

1
Therefore 3= X

Now solving the second equation for y,



18.

19.

I
o

I N <M
I I
< o0

]

1
Therefore 1=

Substituting these values for x ~ y gives

1
Therefore,x —y = e and the correct answer is (B).

(A) b = Bob’s age
¢ = Jane’s age
d = Jim’s age

Since Bob is older than Jane, we have ¢ < b.
Since Bob is younger than Jim, we have b < d.

SECTION II: QUANTITATIVE ABILITY

Hence,c < bandb < d,orc < b < d.

165

(D) Breaking the figure into squares of side x by adding lines

gives

/
21314
516171819
o/ {1213 | 4|/5 |16
/7|/8 /7 20|V |22|23 |24
2|27 125 |29 30 |3/ |32
33)|3#|35|% |37
38 |37 |40
d

Remember each square has area x°. Then the total area is 41x°.
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20.

21.

22.

23.

24.

25.

26.

ANSWERS AND EXPLANATIONS FOR PRACTICE TEST 1

(D) Circumference = md N
16w = wd
d=16

diameter of circle = diagonal of square
area of square = ! (product of diago-

nals) N
=1hd, x d,
=15 (16) (16) = 128

(E) There were 4 days where the maximum temperature
exceeded the average, thus 4/7 is approximately 57%.

(C) The increase was 94 — 84 = 10. The percent increase is
found by dividing the increase by the original or from amount.
Thus 10/84 = 11.9%.

(B) The greatest difference between the maximum for 1979 and
the 50-year average was 5 degrees, which occurred on July 12.

(E) The chart gives only the maximum temperature readings for
these days in 1979. While one can determine an average
maximum temperature, or a 50-year average, there is not
enough information to determine an average temperature for
these days in 1979.

(B) The maximum temperatures for July 10 to 16, 1979, were
92, 90, 84, 86, 94, 92, and 88. These average to just under 90
degrees. The 50-year average is also just under 90 degrees.

(C)x + y = 180 (x plus y form a straight line, or straight angle)
since x = (%)y, and substituting gives (%4)y + y = 180.
Multiplying by 3 leaves 2y + 3y = 540, and solving

Sy = 540
y = 108



27.

28.

29.

30.

SECTION II: QUANTITATIVE ABILITY 167

(D) Perimeter of AMNP = 1 (perimeter of AXYZ)
=K (XY+YZ + XZ)
=110+ 15+17)
=1 (42)

Perimeter of AMNP = 21

(C) For (a® — b%)/(a — b) = a + b to be true, the denominator
a — b cannot equal zero, therefore a cannot equal b; a > b is
sufficient for this.

(D) Set up the equation as follows: Let ¢ be the length of time it
will take the plane to overtake the bus; then ¢ + 4 is the time
that the bus has traveled before the plane starts. The distance
that the bus has traveled by 1:00 p.M. is 50(¢ + 4), since distance
equals rate times time (d = rt). The distance the plane will
travel is 300¢. Now equating these two (they will have to travel
the same distance for one to overtake the other), gives
50(z + 4) = 300¢.

Solve the equation as follows:

50(¢ + 4) = 300t
50¢ + 200 = 300¢
200 = 250¢

Therefore 4% =t

4 of an hour (% X 60) is 48 minutes. Hence it will take 48
minutes for the plane to overtake the bus; and since the plane
is starting at 1:00 p.M., it will overtake the bus at 1:48 p.M.

(D) Let x = the missing number.
Since the average of x and z is y, we have

Bh(xtz)=y
2:-x+z)=2
X+z=2
Xt+z—-z=2y-z

X=2y—z
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Using the information in the conditions for questions 1-6, the
following charts could be drawn:

1975 1990
v -V
A A A
u_ z z _T
b ’ by
Q? V?Y Q? W S?U
| T |
S Y

| |

1. (E) In 1975 Zimino’s cavities outnumbered Tav’s; in 1990
Zimino’s cavities outnumbered Waud’s. Therefore, Zimino could
not have had the fewest number of cavities in either of those years.

2. (E) Since we have no information about Quincy, Quincy
could have been fourth lowest, or lowest, second lowest, third
lowest, fifth lowest, etc. That allows all but Vinton the possibility of
being fourth lowest in 1990. Vinton could have been only the
highest or second highest (if Quincy was the highest).

3. (E) If Ulmer had more cavities than Waud, then Ulmer must
also have more cavities than Yu.

4. (B) II only. The only definitive information in both years can
be drawn between Waud and Yu. Waud had more cavities than Yu
in both 1975 and 1990.

5. (D) Only Waud’s cavities definitely outnumbered Yu’s cavi-
ties in each of the years; therefore, Waud’s total must be greater
than Yu’s.

6. (A) Disregarding Quincy, if three patients had the same
number of fewest cavities in 1975, those three patients must have
been Vinton, Sonntag, and Tav, since those are the only three who
could be tied with the fewest number in that year. Disregarding
Quincy, if three patients had the same number of fewest cavities in
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1990, those patients must have been Yu, Sonntag, and Ulmer. Since
Sonntag is the only patient who had fewest in both years, Sonntag
must have had the fewest total cavities in both years.

7. (E) Choices (A), (B), and (C) have two women sitting in
adjacent seats. Choice (D) has Jack sitting next to Irving.

8. (A) Choices (B), (C), and (D) have two women sitting in
adjacent seats. (Note how the woman at the end of the list is next to
Laurie.) In addition, Choice (C) does not have Karla sitting
between George and Frank. Choice (E) has Jack listed a second
time with no empty seat.

9. (D) Choices (A), (B), and (C) do not have Karla sitting next
to both George and Frank. Choice (E) has two men sitting in
adjacent seats.

10. (C) III only. Three distinct and opposing theories are pre-
sented, but the author takes no position favoring any one of them.

11. (D) If workers are allowed to choose, those workers who
prefer the four-day schedule and work well on it will not be joined
by those who prefer the five-day schedule and work better in those
hours. If the randomly chosen sample is a true sample, the workers
will be more productive when they select the schedule.

12. (E) While the passage appears to support SA, the final
sentence repudiates the evidence by stating that weak results were
generated from a great number of trials which were not conducted
under reproducible conditions. Therefore, the author assumes that
one basis for scientific proof requires significant results from
reproducible conditions.
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From the information contained in the conditions for questions
13-17, the following diagram can be drawn:

Jackson? Jackson? Klein Landau? Landau? Morris
5 AM. 6 AM. 7 AM. 8 AM. 9 AM. 10 A.M.
then /—J\ then
Streamliner Coast Flyer Beamer
Zephyr before — Coast

13. (E) 1,11, and I11. Jackson’s train departs at either 5 A.M. or 6
AM.; Landau’s train departs at either 8 A.M. or 9 A.M. Therefore,
there may be two, three, or four hours between Jackson’s and
Landau’s trains.

14. (B) Choices (A) and (E) are not possible because the Coast
precedes the Zephyr. (D) is not possible because the Coast, an
express, must depart at an odd-numbered hour. Choice (C) is not
possible because if the Coast departs at 7 A.M., then the Stream-
liner, not the Flyer, must depart at 5 A.M.

15. (E) IfKlein rides the Streamliner (at 7 A.M.), then the Coast
must depart at 9 A.M. (in order for the Zephyr to depart before the
Coast does), and the Flyer must depart at 5 A.M.

16. (D) None of the express trains (Flyer, Streamliner, and
Coast) leave at an even-numbered hour, and we know the Beamer
departs at 10 A.M.
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17. (A) The chart now looks like this:

Jackson Klein Landau? Landau? Landau? Morris
5 AM. 7 AM. 9 AM. 11 Am. 1Pp.M. 3 p.M.
Beamer

It is not possible for Klein to ride the Coast, since this would make
the Streamliner depart at 5 A.M. and make the Zephyr, which leaves
before the Coast, also depart at 5 A.M.

18. (C) If Stuart wins the first and second rounds, and Riley wins
the sixth round, then Riley must also have won the third round. (If
Riley doesn’t win the third round, the match will be over.) So the
winners of the rounds are

o © & ® 6 6 o ® o
S S R R

We don’t know if Riley wins either the fourth or fifth round, but we
do know that since he wins the third round, he must win at least one
point in the fourth round.

19. (C) If Stuart loses the eighth round and the match is
therefore over, then Riley must have won the sixth, seventh, and
eighth rounds. Stuart therefore could have won the first, second,
fourth, and fifth rounds:

o @ ©® ®© 6 6 o ® o
S S R S S R R R

Stuart could have won all three points in the first and second
rounds, must have won one point in the third round and two points
in the fourth round (since Riley will have won one point in the
fourth round), could have won all three points in the fifth round,
and one point each in the sixth, seventh, and eighth rounds. Total:
15.



172 ANSWERS AND EXPLANATIONS FOR PRACTICE TEST 1

20. (C) Because Stuart loses in the fourth round and the match
is over, Riley must have won the second, third, and fourth rounds.
Therefore Stuart must have won the first round. The least number
of points Stuart must have in all the rounds fought are: at least two
from having won the first round and one for the second round—a
minimum of three points.

21. (A) If Stuart wins the first and third rounds, and Riley wins
the sixth and seventh rounds.. . .

® © ® ® 6 e o ®@ ©®
S S R R

Now we can deduce that Riley must have won the second round,
and Stuart must have won the fifth and eighth:

o © o o 6 e o ® ®
S R S S R R S

And therefore Riley must have won the fourth:

® © o6 ® 6 e o @ ®
S R S R S R R S

At this point we know that Riley won exactly two points for each of
the second, fourth, and sixth rounds, and exactly one point for each
of the third, fifth, and eighth rounds, for a subtotal of nine points.
Since Riley must have won at least two points for the seventh round,
Riley has a minimum of eleven points through eight rounds.

22. (E) If Stuart won exactly three rounds of a match that goes
the full ten rounds, then Stuart could have won:

o @ ®© ® 6 © o ®@ ®
R R S R R S R R S R

OR
®© © o ® 6 e 0 ®@ ©
R S R R S R R S R R
OR
©® © 66 ® 6 e 0o ® ®
R R S R S R R S R R
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OR
@ @ ® @ ® ® @ (O] ()
R R S R R S R S R R
Etc.

You can see that Stuart could have won the second, fifth, and
eighth, and the match would still have gone the full ten rounds.

23. (B) Choices (A), (C), (D), and (E) would be logical conclu-
sions. But entomologists who are skeptical about mimicry will not
be “astonished” by a finding that supports their ideas.

24. (E) Since the survey does not state that respondents regu-
larly purchased only American toothpaste, only National tooth-
paste, or only Brighten toothpaste, the most reasonable inference
that can be made is that some of the respondents questioned must
have regularly purchased at least two different brands of tooth-
paste; exactly which ones we do not know. This would explain why
the percentage totals more than 100%.

25. (E) While (A) is partially true, it is correct only up to a seven,
after which it is no longer correct. Only (E) accurately expresses the
point of the passage: that group pressure can alter a subject’s
judgment.
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Quantitative Comparison
1. (A) Changing column A to decimals

1 2 1

3578
gives 334 x 4 x .125 which by inspection is greater than
column B. Another method would be to change column B to all
fractions and then compare.

2. (D) Since two dimensions, length and width, are necessary to
find the area of a rectangle, and only one dimension is given in
each case, then no comparison is possible. The correct answer is

D)

3. (C) This comparison should be made without any actual
computation as follows:

35% of 50 50% of 35
35 x50 .50 x 35

Since 35 x 50 is on each side, and each column’s answer has two
decimal places, the quantities are equal.

Or 35/100 x 50 50/100 x 35
1/100 x 35 x 50 = 1/100 x 50 x 35

4. (A) Since a = 3b and b = -2, then a = 3(-2) = —6,
substituting into the numerator of each expression (since the
denominators are positive and alike, they can be eliminated)

a®+b a+b?
at 2t
(=6 + -2 -6+ (-2y
36+ -2 -6+4
Therefore 34 > =2

174



SECTION IV: QUANTITATIVE ABILITY 175

5. (A) To find the number of ways four books can be arranged on a
shelf, you multiply 4 X 3 x 2 x 1 and get 24, which is greater
than column B.

6. (A) The following diagrams show eight ways of going from A to
B, and there are more.

/m

)

s <
i
/

J

\

7. (C) Simplifying columns A and B leaves x'y* = x"y*. Note
that when you have a number with an exponent to a power, you
simply multiply the exponents together.

8. (B) Since d is above the x axis, it must be positive and c, being to
the left of the y axis, must be negative. Therefore ¢ < d, since all
negatives are less than all positives.

9. (A) Since point P is above the line containing points (-2, 2),
then d (actual distance) is greater than |c|; therefore ¢ + dis a
positive number. Point Q is on the line; therefore e and f are
additive inverses of each other, totaling 0. All positive numbers
are greater than0,soc +d > e + f.
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10. (B) Simplifying column A by using the distributing property,
leaves
x+DEx+2)and (x + 1)(x + 3)

Canceling x + 1 from each side, leavesx + 2 and x + 3.
(This can be done because x > 0).

Then canceling x from each side gives 2 and 3.
Therefore the correct answer is (B), 2 < 3.

Alternate method: Try some values.

11. (B) Number of seconds Number of hours
in two hours in fifty weeks
60™" x 60*° X 2 hrs 24" x 7% x 50 weeks
7200 < 8400

12. (C) Simplifying columns A and B gives
B (ary
27
(3-3-3y
3¢ = (33)3
The correct answer is (C).

13. (A) In the triangle £Z must be 60° and 2 X is given as 30°. Since
the side across from the larger angle in a triangle is the longer
side, then XY > YZ.

14. (B) The ratio of the sides of a 30-60-90 triangle is 1, 2, \/5, and
since the side across from 30° is 2, the side across from 60° is
2\/5 . Compare each column by squaring the number outside and
multiply by the numbers under the radical.

23 32
V34 V29
iz < I8
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15. (C) Cross multiplying the values in each column gives
V3 1
BB 3

Therefore 3 = 3

Math Ability
16. (B) Substituting:

Ifx=-2,0-x—x—1= (=2 - (=27 - (-2) - 1
—8-4+2-1
~12+2-1

~10-1

~11

|1 I A

HencexX’ —x* —x—1=-11

17. (A) Since the sum of the angles is 180° we have
m+n+ 72+ 25 =180

m+n+97 = 180
m+n = 180 — 97
m+n =83

Hence the sum of m + nis 83°.

177

18. (B) Since the square of a positive number is a positive number,

choice (B) is the correct answer.

19. (C) In this type of problem (weighted average) you must
multiply the number of students times their respective scores

and divide this total by the number of students as follows:

15 x 80 = 1200
10 x 90 = 900
total 25 2100

Now divide 25 into 2100. This leaves an average of 84%;

therefore the correct answer is (C).
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20.

21.

22,

23.

24.

25.

26.

ANSWERS AND EXPLANATIONS FOR PRACTICE TEST 1

(D) Since it takes the pipe t hours to drain the tank completely,
it will drain 1/t part of the tank each hour.

Hence in three hours, it will drain 3(1/t), or 3/t, part of the
tank.

(A) From the bottom graph we see that make B amounted to
about 60% of the total domestic sales in July. Thus, 60% of
1,220,000 is about 732,000.

(E) If you thought the answer was June, look again at the graph.
The bottom of the graph is cut off, so the domestic portion of
the column appears shorter than it really is.

(C) From the upper graph, we see that all the columns except
one are more than 1,000,000, and all the columns except two are
less than 1,200,000, Thus the average is between 1.0 and 1.2
million. Taking the time to add up all the months’ totals and
divide by 12 is not a good use of time.

(B) Percent increase is figured by dividing the difference of the
two months’ sales by the starting month’s sales. June is
approximately 1100 and December is approximately 1400,
hence

1400 - 1100 300

1100 1100 = 30%

(C) In September, domestic auto sales were approximately
1150, and imports were approximately 175: 1150/175, or about
61 to 1. None of the other choices is as high as this ratio.

(E) Let x equal the length of a side of the cube. The volume V =
x° and the surface area S = 6x°

SinceV =3

X = 6x°

Hencex =6
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27. (C) Let

x = length of equal sides in feet
x + 8 = length of base in feet

x+ 8

Since the perimeter is 89 feet, we have

Xx+x+(x+8) =89

3x + 8 =89
3x+8-8=89-8

3x=81

3x 81

373

x =27

Hence the length of the base is x + 8, or 35 feet.
28. (B) Check each possible pair of numbers for common divisions.
For example:

1. 3} Only common divisor 1;
1L

4| these are relatively prime.
I. 3| Only common divisor 1;
III. 7| these are relatively prime.
I. 3| Common divisors are 1 and 3;
IV. 12| these are not relatively prime.

2. (A (238G -D)=[(-2)@ - B (=1),(-2) (-1)]
= E(—SS)Z)— (=3).(2)]
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30.

ANSWERS AND EXPLANATIONS FOR PRACTICE TEST 1

(B) Since ABCD is a rhombus, all sides are equal; therefore
BC = CD = 6 and BC + CD = 12. AB = 6, minus AE = 4,
leaves 6 — 4 = 2, which is the approximate length of BE.
Adding 12 + 2 = 14, gives the distance around the rhombus that
will be traveled. Now using the formula for circumference of a
circle = 2mr, or wd, leaves 6w as the circumference of the
complete circle. Because the inscribed angle is 45°, arc DE is
90° (inscribed angle is half of the arc it intercepts). This 90° will
not be traveled, as it is in the interior of the figure; therefore
only 270° of the 360° in the complete circle will be traveled, or ¥%
of the circle. 3% % 6w = 97/2. This added to the original 14 gives
answer (B) 14 + 9mw/2.

F
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Sentence Completion

1. (C) The correct choice is aftermath . . . cause. The best clue in
this sentence comes from the second part of the sentence. The
logical activity of an arson squad after a fire would be to uncover a
cause. None of the other second word choices fit the context in this
case. From this second word, work back to the first.

2. (A) The correct answer is facile . . . awkward. There is a
definitional clue in this sentence in the word fundamental. The first
blank requires a word which is somewhat synonymous with this
word. The signal word although sets up a contrast construction so
that a word opposite in meaning to the first blank is required for the
second. The only pair with a word that fits the first blank’s definition
and has a contrasting second term is (A).

3. (A) The correct choice is dissonance. The clue words are tone
and decline. The appropriate choice must be a term which both is
negative and relates to tone.

4. (B) Backbone corresponds with belly, and backbone is to belly
in the same way as hard is to vulnerable. The correspondences
indicate (B).

5. (C) The but makes clear that the missing verb should oppose
demanding in the second half of the sentence. Either relinguished,
(A), or waived, (C), makes sense, but in the context (war), the noun
reparations is more suitable than expenses.

6. (B) The best choice is potential. The clue words in this
sentence are ratio and resistance. The word resistance has a negative
connotation. Ratio suggests that the answer will need to contrast
with resistance. The only positive words provided as choices are (B),
potential, and (C), excitement. Excitement does not provide the
sentence with proper contextual meaning.

7. (A) These two blanks contrast each other; the first tells what
there has been, the second what there has not been (what has been
lacking). The two choices which offer contrasts are (A) and (D), and

181
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(D) may be eliminated because its terms are not appropriate to a
description.

8. (D) The correct answer is trenchant. This sentence’s clue lies
in the comparison. The answer must be similar to a surgeon’s scalpel.
The sharpness and keenness connoted by trenchant satisfy the
context of the comparison.

9. (A) The key phrase here is land as the basic element of wealth;
land equals wealth in a feudal society. Thus (A) is indicated.

Analogies

10. (E) A scowl and a smile are expressions of opposite feelings.
The paired opposites here are despair and hope.

11. (B) The relation here is of one hundred to ten: a dollar (one
hundred cents) to a dime (ten cents) or a century (one hundred
years) to a decade (ten years).

12. (D) The verb here will correct the condition the noun
describes. To clarify may alleviate confusion; to mediate may correct
an altercation (a quarrel or dispute).

13. (B) A lecher is a person characterized by the vice of lust as a
glutton is a person characterized by greed for food.

14. (A) A moat surrounds a castle; a cummerbund is an article of
dress that goes around the waist.

15. (C) A finch (type of bird) is an object of study in ornithology
(the study of birds) as a potsherd (fragment of pottery) is likely to be
an object of study in archeology (study of ancient peoples).

16. (A) To spangle is to glitter, the antonym of darken. To hug (to
cling to or cherish) is the antonym of to abjure (to renounce). Both
verbs might be used with a belief as object.

17. (C) The nymph and faun are female and male creatures of
myth. The parallel here is duck and drake.

18. (E) A rune is a character in an ancient alphabet, a part of a
whole, as a star is a part of a constellation.
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Reading Comprehension

19. (B) The language spoken by Eskimos has more than 10,000
words, while the whites’ version has between 300 and 600 words.

20. (C) Since the similar jargon was invented to avoid learning
the difficult language of the Eskimos, it is logical to infer that the
pidgin used in Asia was developed because of the difficulty of
Chinese.

21. (B) The passage takes issue with the assumption that
“primitive” cultures have simple languages. The first and third
assertions are counter to what the passage suggests.

22. (E) The passage uses Eskimos to show how a “primitive”
language may be large and complex.

23. (D) Choices (A), (B), and (E) do not apply to science fiction
as opposed to other fiction genres. Choice (C) may or may not be
true. Since science fiction is concerned wih the relation between man
and his technology, it follows that as technology becomes more
important, the fiction of technology would become more popular.

24. (D) Paragraph two defines science fiction as postulating a
change from known to unknown conditions.

25. (D) The last sentence of the third paragraph explains why
science fiction is called a sub-genre of fiction.

26. (C) Though short stories are a possible source, it is more
probable that the longer novel is the source of science fiction films.
The passage alludes to the scarcity of science fiction works in poetry
or drama.

27. (A) The theme is the controlling idea or meaning of a work
of literature.

28. (E) The final sentence presents a general comparison be-
tween any other story or novel and science fiction, emphasizing their
similarities, and thus suggesting that the sub-genre of science fiction
should be read as one reads fiction in general.

29. (C) The first paragraph leads up to the central question—
What is science fiction? All of the passage is an attempt to answer
that question. Choices (A) and (D) are too specific; (B) is too
general; and (E) does not fit the tone of the passage.
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Antonyms

30. (C) Luxuriant (luxus = extravagance) means plentiful and is
usually used to describe something which is abundant in growth.
The opposite is small. Miserly is also opposite to plentiful, but since
it refers to hoarding money, it is more nearly opposite to the idea of
abundant wealth, not abundant growth.

31. (C) A wyro is a beginner at some particular profession,
occupation, or art. The best opposite is (C) because it descibes
someone who is advanced and accomplished at a particular profes-
sion.

32. (B) Something ubiquitous is something found, or existing,
everywhere (ubique = everywhere). (B) refers to one particular
place, and is therefore more nearly opposite than (A), since hiding
could refer to several locations.

33. (C) To be abstemious is to be moderate in the use of food or
drink. (ab = from; temetum = strong drink). Clearly, the opposite is
gluttonous.

34. (A) Something soporific induces sleep (sopor = sleep). The
best opposite is exciting, (A). Terrific, (B), is a fair choice, but not so
associated with stimulation and wakefulness as (A).

35. (C) A factotum is a handyman, jack-of-all-trades (facere =
do; totum = all). The most nearly opposite, then, is the term which
opposes the factotum’s broad talent with narrow talent: specialist.

36. (E) The verb eschew means to avoid, to get away from; the
antonym is court, to seek, to try to get.

37. (B) Mulct means to deprive of a possession unjustly. It is a
negative word, so its opposite is a positive one; the only clearly
positive choice is (B).
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From the conditions given for questions 1-7, we can deduce that
the dollar bill must be the bet in Deal 4, since the bill cannot be bet
prior to any coin.

1. (E) If the silver dollar is not bet in Deal 2, it must be bet in
Deal 1 in order to be bet before Deal 3. Since the silver dollar is bet
in Deal 1, Deal 2 must begin with a bet of two quarters. Only choice
(E) does not begin Deal 2 with a bet of two quarters and is therefore
the correct answer.

2. (B) If a quarter is the last bet before the silver dollar is bet,
then the silver dollar is bet in Deal 2 and must be followed in the
next deal (Deal 3) by two quarters. This is choice (B).

3. (D) Since the silver dollar is bet before Deal 3, it is bet in
either Deal 1 or Deal 2. Therefore, two quarters will be bet at the
beginning of Deal 2 or Deal 3:

Deal 1 Deal 2 Deal 3 Deal 4

$ QQ D
OR
Deal 1 Deal 2 Deal 3 Deal 4
$ QQ D

Since two quarters are initiating either Deal 2 or Deal 3, a quarter
cannot end each of two deals (and still have the bets in each deal
equal $1.00). Therefore, the two deals each ending with a bet of the
same denomination coin must end with half dollars:

Deal 1 Deal 2 Deal 3 Deal 4
$ QQH QQH D

OR
Deal 1 Deal 2 Deal 3 Deal 4
QQH $ QQH D
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4. (A) Only (A) is possible. In choices (B) and (D), quarters do
not immediately follow the silver-dollar bet. In (C) there are too
many half dollars and not enough quarters; in (E) there are too
many half dollars and quarters and no silver dollar.

5. (D) I and II only cannot be true. If the betting sequence in
Deal 2 and Deal 3 are the same, the silver dollar is bet in Deal 1.
That requires Deal 2 to begin with two quarters, and so the same is
true with Deal 3.

6. (A) II and IV only. The betting sequence of “quarter than
half dollar then quarter” cannot happen in Deal 4, which must be
the dollar bill. Also “q